PiEELre HANT
picei e

SO
o |
LY

\

Galvanized Wire
6 Strand, 20 Gauge

Sale Weork (1.5 ] T30
Worksheg - Carden + Mougs K Farm

Alambre Muttiien

Galvanizadn Calit-e 20 BH




- S S R RS R R mEm O e e e e
e o —Saes N S = = - Lt R

The Flexible, Convenient

FLEXIBLE

e Planogramming - Our “Plug-It-
In” plan-o-gram system provides the
framework for the perfect customized
display.

» Product Mix - Regular sales calls
by Hillman professionals ensure
proper stock levels and inventory
turns.

e Complete Product Lines - over

1,600 different consumer products to
choose from.

¢ Modular Displays - over 150 pre-
assorted, space saving display units.

Do=It=Yourself

Fastener Center

HomePak™

Reclosable multi-cavity
assortments, offer a
variety of sizes and
products in one.

XL-Pak™

Reclosable, large piece
count packaging for
high-volume, high
turnover fasteners.

CONVENIENT

Fas-Pak™

Reclosable, small piece
count blister packs
featuring a wide variety of
commonly used fasteners.

¢ Easy In Store Restocking
Our specialty designed cartons

make restocking simple.

¢ Reclosable Clamshell

Packaging
Durable, see through packages

for convenient home storage.

¢ Color Coded - by product group for easy
employee training and less need for customer

assistance.

¢ Bar Coding - makes for fast accurate inventory
management and easy check out at the register.

¢ Pre-printed Codes on Fas-Pak - save time
and help eliminate pricing confusion.

CONSUMER-FRIENDLY

¢ Precise Product Graphics - clear, accurate
illustrations for quick product identification

¢ UPC Coded - for quick check-out at the register

e Consumer Information - each Fas-Pak™ picture
wire card has valuable product information on back.



Terms & Conditions of Sale

GENERAL

The terms and conditions of this document shall constitute the entire
Agreement for the purchase and sale of the products to Purchaser.
Acceptance made expressly conditional upon Purchaser’s assent

to these terms, which may differ from, vary or be in addition to the
terms in Purchaser’s purchase order or request for quotation. Any
varying, differing or additional terms and conditions contained in

the Purchaser’s purchase order or request for quotation shall not be
binding upon Hillman.

DISCOUNT TERMS

A 1% cash discount is allowed for invoices paid within 10 days
of invoice date or net payment due within 30 days. Any new
orders or back-orders will be held without shipment if there are
unpaid invoices in excess of 45 days, or if authorized credit limit
is exceeded.

PRICES

Prices are subject to change without advance notice. All items will
be invoiced at the catalog price less the applicable discounts. Prices
apply for full box quantities only. Partial boxes will be invoiced at

full retail price. Only certain products will be available for partial box
sales.

QUOTATIONS
Written price quotations remain in effect for thirty days from time of
quotation unless otherwise stated in writing.

MINIMUM ORDER

Minimum order is $25, based on Hillman current Net Purchaser
Prices. Orders of less than $25 will be processed with a $25 Net
Invoice.

BACK ORDERS

All orders will be accepted on a ship and cancel basis, unless
otherwise requested. Displays, assortments and special items WILL
be back-ordered unless otherwise stated.

FREIGHT

The routing of ALL shipments shall be entirely within the discretion
of Hillman. Special shipping requests — airfreight — bus shipments —
special dispatch — drop shipments, etc. — will be sent freight collect
and will be F.O.B. shipping point. Long length rods, angles, flats,
etc. will be shipped F.O.B. shipping point on shipments of 300 Ibs.
or less. Orders less than $250.00 will be charged freight. Handling
charges will be as follows: Orders less than $250.00 are subject

to a $1.00 handling charge. Orders over $250.00 are subject to a
$2.00 handling charge. As economic circumstances dictate, a fuel
surcharge may be assessed in addition to freight and handling on all
orders. Freight terms are subject to change without prior notice.

SPECIAL ORDERS AND ORDERS

FOR NON-STOCKING PRODUCT

Special orders are non-cancelable, non-returnable and must be
ordered via a purchase order from the Purchaser. All special orders
will be shipped in accordance with quoted lead times and at industry
standard +10% of the order quantity. Purchaser is liable for the entire
order quantity.

CLAIMS AND DAMAGES

All damages and shortages must be reported to us within five
days after receipt of merchandise. If goods are damaged in transit
or shortages received, notification should be made directly with
carriers. Before reporting shortages, please check to make sure
packing slip indicates shorted items have been shown as being
shipped.

RETURNS
Materials returned for credit or exchange will be accepted only under
the following conditions:

1) Materials must be current, cataloged, and must have been
purchased within the 6 months immediately preceding the
return of such materials. Specials and discontinued products,
defined at the sole discretion of Hillman, cannot be returned.

2) Prior to returning any product to Hillman, approval and a return
authorization number must be obtained. Freight carrier and
routing must also be approved by Hillman.

3) Materials received by Hillman without prior approval and
authorization number will be returned, freight collect, to the
Purchaser. R.A. # must be printed on outer carton.

4) All returns should be shipped freight prepaid. If Hillman
determines the product to be defective, Purchaser’s account
will be credited, including the appropriate freight charges.

Returning materials for credit or exchange are subject to a
minimum restocking charge of 20%, plus any freight expenses
originally incurred by Hillman in the delivery of said materials.
The restock charge may be calculated at the sole discretion of
Hillman. All returns must be in saleable condition.

LIMITATIONS OF LIABILITY

All goods returned to and accepted by Hillman as defective or
incorrect shall be replaced or credited in full. No claim made
hereunder by the Purchaser, whether as to goods delivered or for
non-delivery, shall be greater than the purchase price of the goods
in respect of which such claim is made. PURCHASER WAIVES ANY
CLAIM AGAINST HILLMAN FOR DIRECT, INDIRECT, SPECIAL,
EXEMPLARY, PUNITIVE, COMPENSATORY, CONSEQUENTIAL,
OR INCIDENTAL DAMAGES, INCLUDING, WITHOUT LIMITATION,
LOST PROFITS AND BUSINESS INTERRUPTION, WHICH MAY
RESULT FROM YOUR PURCHASE AND/OR USE OF THE
PRODUCTS. HILLMAN MAKES NO WARRANTY OF FITNESS
FOR A PARTICULAR PURPOSE OR MERCHANTABILITY AND
NO OTHER WARRANTY, ORAL OR WRITTEN, EXPRESSED

OR IMPLIED, EXCEPT AS SPECIFICALLY SET FORTH HEREIN.
Purchaser agrees to indemnify and hold Hillman harmless from

all claims, demands, and costs, including reasonable attorneys’
fees, made by third parties against Hillman relating to Purchaser’s
use of the products, and to pay any costs and expenses incurred
by Hillman to enforce Purchaser’s obligations, including, without
limitation, the costs of collection for any unpaid amounts owed to
Hillman by Purchaser.

COSTS

Any and all costs resulting from, or incurred in connection with the
collection of any monies due from the Purchaser, including court
costs, appellate court costs, and Hillman’s reasonable attorney’s
fees will be the responsibility of the Purchaser.

ELECTRONIC DATA INTERCHANGE

If Hillman and Purchaser have mutually agreed to use an Electronic
Data Interchange (EDI) system to facilitate purchase and sale
transactions, Purchaser agrees: that it will not contest (i) any contract
of sale resulting from an EDI transaction under the provisions of any
law relating to whether agreements must be in writing or signed by
the party to be bound thereby; or (i) the admissibility of copies of

EDI records under the business records exception to the hearsay
rule, the best evidence rule or any other similar rule, on the basis

that such records were not originated or maintained in documentary
form. Hillman and Purchaser will negotiate and agree on technical
standards and methods to use in making EDI purchases, and will
use proper security procedures to protect EDI records from improper
access. The business records maintained by Hillman regarding EDI
purchases made by Purchaser shall be controlling.

TAXES

All applicable federal, state or local sales, use, occupational or
excise taxes are the responsibility of the Purchaser and shall be in
addition to the price or prices stated. Hillman shall have the right to
invoice separately any such tax as may be imposed at a later time.
Applicable tax exemption certificates must accompany any order to
which the same applies.

CONFIDENTIALITY

Purchaser will hold any information concerning Hillman’s business,
or any other information about Hillman, in absolute and strict
confidence.

APPLICABLE LAW

This Agreement shall be governed by and construed in accordance
with the laws of the State of Ohio, without regard to its choice of
law provisions, and the sole jurisdiction and venue for any litigation
arising with regard to this Agreement shall be an appropriate federal
or state court located in Hamilton County, Ohio.

SEVERABILITY

If any provision of this Agreement is held to be invalid, illegal, or
unenforceable in any respect, the validity, legality, or enforceability
of the remaining provisions contained herein shall not in any way be
affected or impaired thereby.

o

HILLMAN

-
m
k)
=
(7]
R0
(23
(=)
4
=4
=
(=)
=
(7]
o
m
4
>
-
m




PRODUCT INDEX

Product Index

Pack Type Page
Wood Screws
Flat Head, Phillips FP 5
Flat Head, Phillips XL 5
Flat Head, Square FP 5
Flat Head, Square XL 5
Round Head, Slotted FP 6
Oval Head, Slotted FP 6
Pocket Hole Screws XL 6
ProCrafter™ FP 6
ProCrafter™ XL 6
Sheet Metal Screws
Pan Head, Phillips FP 7
Pan Head, Phillips XL 7
Pan Head, Square FP 7
Pan Head, Square XL 7
Flat Head, Phillips FP 8
Flat Head, Phillips XL 8
Flat Head, Square FP 8
Flat Head, Square XL 8
Hex Washer Head, Slotted FP 9
Hex Washer Head, Slotted XL 9
Machine Screws
Round Head, Combo FP 9
Round Head, Combo XL 9
Flat Head, Phillips FP 10
Flat Head, Phillips XL 10
Pan Head, Phillips XL 10
Round Head, Combo w/Nut FP 10
Flat Head, Slotted w/Nut FP 11
Pan Head, Phillips w/Nut FP 11
Breakaway Screws FP 11
Truss Head, Slotted FP 11
Thumb Screws FP 11
Switch Plate Screws FP 11
Nuts
Hex Nuts FP 12
Hex Nuts XL 12
Nylon Insert Lock Nuts FP 12
Nylon Insert Lock Nuts XL 12
Wing Nuts FP 12
Wing Nuts XL 12
Acorn (Cap) Nuts FP 12
Tee Nuts — Pronged FP 12
Axle Cap Nuts FP 12
Washers
Flat Washers — USS FP 12
Flat Washers — USS XL 12
Flat Washers — SAE FP 12
Flat Washers — SAE XL 12
Split Lock Washers FP 13
Split Lock Washers XL 13
Countersunk Finish Washers FP 13
Countersunk Finish Washers XL 13
Fender Washers FP 13
Fender Washers XL 13
Brass Products
Wood Screws, Flat Slotted FP 13
Wood Screws, Round Slotted FP 13
Wood Screws, Flat Phillips FP 14
Wood Screws, Flat Phillips XL 14
Machine Screws, Round Slotted FP 14

HILLMAN

Pack Type Page
Machine Screws, Flat Slotted FP 14
Hex Nuts FP 14
Flat Washers FP 15
Finish Washers FP 15
Stainless Steel Fasteners
Sheet Metal Screws, Pan Head Phillips FP 15
Sheet Metal Screws, Pan Head Phillips XL 15
Sheet Metal Screws, Pan Head Square FP 15
Sheet Metal Screws, Flat Head Phillips FP 15
Sheet Metal Screws, Flat Head Phillips XL 15
Sheet Metal Screws, Flat Head Square FP 16
Sheet Metal Screws, Oval Head Phillips FP 16
Sheet Metal Screws, HWH Slotted FP 16
Sheet Metal Screws, HWH Slotted XL 16
Sheet Metal Screws, Modified Truss Square XL 16
Self Drilling Screws, Pan Head Phillips XL 16
Self Drilling Screws, HWH Slotted XL 17
Machine Screws, Pan Head Phillips FP 17
Machine Screws, Pan Head Phillips XL 17
Machine Screws, Flat Head Phillips FP 17
Machine Screws, Flat Head Phillips XL 17
Machine Screws, Oval Head Phillips FP 18
Hex Cap Screws FP 18
Hex Nuts FP 18
Hex Nuts XL 18
Nylon Insert Lock Nuts FP 18
Nylon Insert Lock Nuts XL 18
Wing Nuts FP 18
Wing Nuts XL 18
Acorn (Cap) Nuts FP 18
Flat Washers FP 18
Flat Washers XL 18
Fender Washers XL 19
Lock Washers FP 19
Lock Washers XL 19
Finish Washers FP 19
Finish Washers XL 19
Metric Products
Hex Nuts FP 19
Nylon Insert Lock Nuts FP 19
Flat Washers FP 19
Split Lock Washers FP 19
Machine Screws, Pan Phillips FP 19
Hex Cap Screws FP 20
Miscellaneous
Plaster Washers FP 20
Plaster Washers XL 20
License Plate Screws FP 20
Hanger Bolts FP 20
Dowel Screws FP 20
Cotter Pins FP 20
Cotter Pins XL 20
Deck-Tiedown™ XL 20
Universal Knobs XL 20
SwitchLock® FLAGGED 20
Vertigo™ - Wood Vertical FP 21
Vertigo™ — Wood Vertical XL 21
Vertigo™ - Wood Side FP 21
Vertigo™ - Wood Side XL 21
Vertigo™ — Concrete Vertical XL 21
Vertigo™ — Concrete Vertical XXL 21
Strip-Out™ CARDED 21
Shelf Pins XL 21
Acoustical Lag Driver FP 21



Pack Type Page
Project Center - Wood
Trim Screws, #1 Phillips Drive, Sharp Point XL 21
Trim Screws, #1 Square Drive, Sharp Point XL 21
Trim Screws, #1 Square Drive, Self Drilling XL 21
Trim Screws, Star Drive, Power Pro™ XL 21
Trim Screws, Painted Head, Square Drive, Type 17 XL 21
Cabinet, Flat Head, Phillips XL 22
Cabinet Mounting, Pan Head, Phillips XL 22
Cabinet Mounting, Truss Head, Phillips XL 22
All Purpose Interior Wood, Bugle Head, Phillips XL 22
All Purpose Interior Wood, Flat Head, Dual Torq XL 22
Galvanized Deck, Bugle Head, Phillips XL 22
Galvanized Deck, Bugle Head, Square XL 22
Galvanized Deck, Flat Head, Dual Torq XL 22
DeckPlus,™ Flat Head, Dual Torg XL 22
TimberTite™ CARDED 21
Composite Wood, Square Drive XL 21
Stainless Steel Deck, Flat Head, Square XL 21
Stainless Steel Trim, #1 Square Drive XL 23
Stainless Steel Trim, T15 Star Drive, Power Pro™ XL 23
Stainless Steel Outdoor, Star Drive, Power Pro™ XL 23
All Purpose Interior Wood, Star Drive, Power Pro™ XL 23
Outdoor Wood, Star Drive, Power Pro™ XL 23
Project Center - Metal
Self Drilling, Pan Head, Phillips FP 23
Self Drilling, Pan Head, Phillips XL 23
Lath Screws, Truss Head, Phillips, Needle Point XL 23
Self Drilling, Lath Screws, Truss Head, Phillips XL 23
Self Drilling, Pan Head, Square FP 23
Self Drilling, Hex Washer Head FP 24
Self Drilling, Hex Washer Head XL 24
Self Drilling, Hex Washer Head ) XL 24
w/Steel Backed Neoprene Washer, Zinc Plated
Self Drilling, Hex Washer Head ) XL 24
w/Steel Backed Neoprene Washer, Painted Heads
Self Piercing Sheeters, Hex Washer Head w/Washer XL 24
Gutter Assembly, Hex Washer Head, Slotted FP 24
Self Drilling, Wafer Head, Phillips XL 24
Self Drilling, Flat Head w/Wings XL 24
GutterTite™ CARDED 24
Project Center - Drywall
Particle Board, Flat Head, Phillips XL 25
Drywall, Bugle Head, Phillips, Self Drilling XL 25
Drywall, Fine Thread, Bugle Head, Phillips FP 25
Drywall, Fine Thread, Bugle Head, Phillips XL 25
Drywall, Fine Thread, Bugle Head, Square XL 25
Drywall, Coarse Thread, Bugle Head, Phillips FP 25
Drywall, Coarse Thread, Bugle Head, Phillips XL 25
Drywall, Coarse Thread, Bugle Head, Square XL 25
Cement Board, Wafer Head, Phillips, Hi-Lo Thread XL 25
Cement Board, Wafer Head, Phillips, Self Drilling XL 25
Project Center - Drivers & Bits
Phillips Insert Bits FP 25
Square Drive Insert Bits FP 25
Star Drive Insert Bits CARDED 25
Dual-Torq™ Insert Bits CARDED 25
Magnetic Bit Holder FP 26
Magnetic Hex Head Driver FP 26
Phillips Drywall Driver FP 26
Anchors - Hollow Wall
Walldog,™ Pan Head, Phillips FP 26
Walldog,™ Pan Head, Phillips XL 26
Walldog,™ Pan Head, Phillips XXL 26
Walldog,™ Pan Head, Phillips KIT 26
Walldog,™ Oval Head, Phillips FP 26
Walldog,™ Oval Head, Phillips XL 26
Plastic, Blue Conical FP 26

Pack Type Page
Plastic, Blue Conical XL 26
Plastic, Blue Conical KIT 26
Plastic, Ribbed, w/Screws FP 26
Plastic, Ribbed, w/Screws XL 26
Plastic, Ribbed, w/Screws KIT 26
Wallboard FP 27
Wallboard XL 27
Wallboard KIT 27
Wallhooks FP 27
Hollow Wall FP 27
Hollow Wall XL 27
Drive Wall FP 27
Drive Wall XL 27
Plastic Toggle, w/Screws FP 27
Plastic Toggle, w/Screws XL 27
Plastic Toggle only XL 27
Drill Toggle w/Screws FP 27
Drill Toggle w/Screws XL 27
Strap-Toggle™ XL 27
Toggle Bolts FP 27
Toggle Bolts XL 27
Anchors - Solid Wall
Nylon FP 28
Nylon XL 28
Hammer Drive FP 28
Hammer Drive XL 28
Split Drive FP 28
Lead Wood Screw FP 28
Lag Shields FP 28
Machine Screw FP 28
Tapper®+ Installation Kit XL 28
Tapper®+ Drill Bits HANG PAK 28
Tapper®+ Concrete Screw, Flat Head, Phillips FP 28
Tapper® Concrete Screw, Flat Head, Phillips XL 28
Tapper®+ Concrete Screw, Hex Washer Head FP 29
Tapper®+ Concrete Screw, Hex Washer Head XL 29
Anchors - Kits
Walldog,™ Pan Head, Phillips KIT 30
Plastic, Blue Conical KIT 30
Plastic, Ribbed, w/Screws KIT 31
Hurricane Fasteners
Hurricane Kits KIT 32
Machine Screws, Truss Head, Combo, Stainless Steel XL 32
Key Hole Washers, Aluminum XL 32
Combo Sidewalk Bolts, Stainless Steel XL 32
Hurricane Track Bolts, Stainless Steel XL 32
Hanger Bolts, Stainless Steel XL 32
Washer Wing Nuts XL 32
Lead Machine Screw XL 32
Wood Inserts, Slotted, Brass XL 32
Drivers & Installation Tools FP 32
Finishing Caps, Rubber XL 32
Combo Sidewalk Bolt & MS Anchor Combo Pack XL 32
Stainless Steel Combo Sidewalk Bolt & XL 30
Slotted Brass Wood Inserts Combo Pack
Stainless Steel Combo Sidewalk Bolt & Washered Wing XL 30
Nut Combo Pack
Fender Washers, Stainless Steel XL 32
Tapper Bits CARDED 32
Nails, Tacks, & Brads
Carpet Tacks FP 33
Wire Brads FP 33
Double Point Tacks FP 33
Insulated Staples FP 33
Glazier Points FP 33
Wire Nails FP 33

HILLMAN

X3ANI 1onaoyud




Pack Type Page Pack Type Page

Finish Nails FP 34
Box Nails FP 34 Assortment Kits - HomePak'"'- Stainless Steel
Assorted Nails, Tacks, & Brads FP 34 Sheet Metal Screws, Pan Head, Phillips KIT 40
Metal Trim Nails FP 34 Sheet Metal Screws, Oval Head, Phillips KIT 40
Specialty Nails FP 34 Machine Screws, Pan Head, Phillips KIT 40
Escutcheon Pins — Brass Plated FP 34 Oval Head Phillips Machine Screws KIT 40
Escutcheon Pins — Solid Brass FP 34 Nuts & Washers KIT 4
Boat Nails, w/Annular Thread, Bronze FP 34
Furniture Nails FP 34 Fastener Kits - Small
Thumb Tacks FP 34 Wood Screws KIT 41
Push Pins FP 34 Metal Screws & Anchors KIT 4
Joint Fasteners FP 34 Machine Screws & Nuts KIT 4
Wood Joiners FP 35 Flat & Lock Washers KIT 4
Paneling Nails FP 35 Heavy Duty Picture Hanging KIT 42
Paneling Nails XL 35 Hook & Wire Goods KIT 42
Paneling Nails XXL 35 Home KIT 42
Cotter Pins KIT 42
Picture Hanging Products Wire & Brad Nails KIT 42
Standard Hangers w/Nails CARDED 35 Panel Nails KIT 42
Picture Wire CARDED 35 Screw Eyes KIT 42
Picture Hanging Accessories CARDED 35 Screw Hooks KIT 43
Adhesive Hangers, Hoods, & Pads CARDED 36 D-Ring Hangers KIT 43
Wire Dispenser Packs CARDED 36 Finish Nails KIT 43
Plate Hangers w/Classic Hanger CARDED 36 Box Nails KIT 43
Quick Hangers CARDED 36 Self-Drilling Screws, Pan Head KIT 43
Pro-Hangers CARDED 36 Self-Drilling Screws, Hex Washer Head KIT 43
Mirror Hangers CARDED 36 Drywall Screws KIT 43
Wallbiter™ Picture Hooks CARDED 36 Lath Screws KIT 43
Walldriller™ Picture Hooks CARDED 36
Classic Hangers, Brass Plated w/Nails CARDED 37 Fastener Kits - Small - Stainless Steel
ProQuick™ Magnetic Hook Hangers, Brass Plated CARDED 37 Sheet Metal Screws, Oval Head, Phillips KIT 44
5 Heavy-Duty Hangers CARDED 37 Tapping Screws, Pan Head, Phillips KIT 44
w Hangman™ Hanger Systems CARDED 37 Machine Screws, Pan Head, Phillips KIT 44
g Walldog™ Self Drilling Picture Hangers w/Hook CARDED 37 Machine Screws, Oval Head, Phillips KIT 44
- Elite Safety Hangers, Brass Plated w/Safety Clip CARDED 37 Nuts & Washers KIT 44
|6 Brick & Block Hangers, Brass Plated w/Safety Clip CARDED 37 Home KIT 44
=) MegaHook™ Hanger Kits CARDED 37
g Q Hangers™ . CARDED 37 Fastener Kits - Medium
-4 Push Pin Hangers, Decorative CARDED s7 Wood Screws & Drill Bits KIT 44
o Screw Rings, Decorative, Brass Plated CARDED 37 Metal Screws & Drill Bits KIT 45
Hooks CARDED 38 Screws w/Screwdriver KIT 45
VersaHook™ GARDED 38 Picture Hanging KIT 45
DrillerHook™ Hangers CARDED 38 Household KIT 45
CeilingDriller™ CARDED 38
Wrapper Packs CARDED 38 -
Garden Twist Wire CARDED 38 Fastener Kits - Large
Stove Pipe Wire FLAGGED 38 Wood Screws KIT 45
Connected Coils FLAGGED 38 Machme Scrgws KIT 46
Picture Hanging KIT 46
Assortment Kits - HomePak™ VHVESSZSZ%W Eg :Z
Wood Screws, Flat Head, Square KIT 39
Wood Screws, Flat Head, Phillips KIT 39 -
Sheet Metal Screws, Pan Head Square KIT 39 VAV:Ez;Msz:tH::;tih;|ipA:Chors KIT 30
Sheet Metal Screws, Pan Head Phillips KIT 39 Plastic I,?,Iue Conical ’ KIT 30
Sheet Metal Screws, Hex Washer Head KIT 39 o
Machine Screws, Round Head, Square KIT 39 Plastic, Ribbed, w/Screws KIT &
Machine Screws, Round Head, Slotted KIT 39
Nuts & Washers KIT 39
Anchors, Plastic w/Screws KIT 39
Nails, Tacks, Brads & Screws KIT 39
Nails & Brads KIT 39
Picture Hanging KIT 40
Picture Hanging w/Knife KIT 40
Classic Hangers KIT 40
Elite Hangers KIT 40
Push Pins KIT 40
Cotter Pins KIT 40

4 HILLMAN



Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack
40856 |12x2" 25 | 008236046410 | 5
40858 |12 x2-1/2" 25 | 008236046427 | 5
W D REW:
00D SC S 40860 [12x3" 25 | 008236046434 | 5
42248 |14 x1-1/2" 25 | 038902015334 | 3
Flat Head Phillips 42249 |14x2" 25 | 038902015341 | 3
Wood Screws @ mmw 42250 |14 x2-1/2" 20 | 038902015358 | 3
ZINC 42251 [14x3" 15 | 038902015365 | 3
Fas-Pak
5760 |4x1/2" 30 | 008236034271 | 10 Flat Head Square Drive
5763 |4 x3/4" 25 | 008236034288 | 10 Wood Screws @ D:mm
5766 | 6x1/2" 30 | 008236034295 | 10 ZING
5767 |6x5/8" 30 | 008236034301 | 10 Fas-Pak
5769  |6x3/4" 30 | 008236034318 | 10 9260  [4x1/2" 15 | 008236402254 | 10
5772 |6x1" 22 | 008236034325 | 10 9261 |4 x3/4" 15 | 008236402278 | 10
5775 6x1-1/4" 15 008236034332 10 9262 6x1/2" 15 008236402292 10
5778 6x1-1/2" 12 008236034349 10 9263 6 x 3/4" 15 008236402612 10
5779 |6x2" 10 | 008236034356 | 10 9264  [6x1" 15 | 008236402643 | 10
5781  |8x3/4" 20 | 008236034363 | 10 9265  [6x1-1/4" 10 | 008236402674 | 10
5784  |8x1" 20 | 008236034370 | 10 9266 |6x1-1/2" 10 | 008236402711 [ 10
5787 |8x1-1/4" 15 | 008236034387 | 10 9267  [8x1/2" 15 | 008236402742 | 10
5790 8x1-1/2" 10 008236034394 10 9268 8 x 3/4" 15 008236402766 10
5791 8 x 1-3/4" 8 | 008236034400 | 10 9269 |8x1" 12 | 008236402780 | 10
5796  |8x2" 8 | 008236034417 | 10 9270 [8x1-1/4" 10 | 008236402803 | 10
5799  |8x2-1/2" 8 | 008236034424 | 10 9271 [8x1-1/2" 10 | 008236402827 | 10
5802 |8x3" 5 |008236034431 | 10 9272 [8x1-3/4" 10 [ 008236402841 | 10
5805 10 x 3/4" 15 008236034448 10 9273 8x2" 8 008236402865 10
5808 10x 1" 15 008236034455 10 9274 8x3" 6 008236402889 10
5811 10 x 1-1/4" 10 008236034462 10 9275 10 x 3/4" 12 008236402902 10
5814 10x 1-1/2" 8 008236034479 10 9276 10x1" 8 008236402926 10
5817 | 10x1-3/4" 6 | 008236034486 | 10 9277 [10x1-1/4" 8 | 008236402940 | 10
5820 |10x2 6 | 008236034493 | 10 9286 [10x1-1/2" 8 | 008236413038 | 10
5823 10 x 2-1/2" 6 008236034509 10 9278 10 x 2" 5 008236402964 10 E
5825  |10x3" 4 | 008236034516 | 10 9279  [10x2-1/2" 5 | 008236402988 | 10 g
5828  [12x1" 10 | 008236034523 | 10 9280 [10x3" 4 | 008236403008 | 10 o
5831 12x1-1/4" 8 008236034530 | 10 9281 12 x1" 8 008236403022 | 10 (7))
5834 |12 x1-1/2" 6 | 008236034547 | 10 9282 [12x1-1/4" 5 | 008236403046 | 10 g
5837 [12x2" 4 | 008236034554 | 10 9283 [12x1-1/2" 5 | 008236403060 | 10 m
5840 12x2-1/2" 4 008236034561 10 9284 12 x 2" 4 008236403084 | 10 ﬁ
5843  |12x3" 3 | 008236034578 | 10 9285 |12 x2-1/2" 4 | 008236403107 | 10
5849 |14 x1-1/2" 4 | 008236034585 | 10 XL Pak
5852 [14x2" 3 | 008236034592 | 10 41678 [6x1/2" 50 [ 008236411874 [ 10
XL Pak 41679 |6 x 3/4" 50 | 008236411898 | 10
40808 |4 x1/2" 100 | 008236046175 | 10 21680 |6 x1" 50 | 008236411911 | 10
40810 |4x3/4" 100 | 008236046182 | 5 41681 |6 x 1-1/4" 25 | 008236411935 | 10
40812 [6x1/2" 100 | 008236046199 | 10 11860 |6x1-1/2" 25 | 008236621884 | 10
42242  |6x5/8" 100 | 038902015273 | 3 41861 |6 x 1-3/4" 25 | 008236621891 | 10
40814 6 x 3/4" 100 008236046205 5 41684 8x1/2" 50 008236411959 10
40816 |6x1" 100 | 008236046212 | S 41685 |8 x 3/4" 50 | 008236411973 | 10
40818 6x1-1/4" 100 008236046229 5 41686 8x1" 50 008236411997 5
40820 6x1-1/2" 100 008236046236 5 41687 8 x 1-1/4" 50 008236412017 5
42243 |6x2" 50 | 038902015280 | 3 41688 |8 x1-1/2" 50 | 008236412031 | 5
42244 8 x5/8" 100 038902015297 3 41862 8 x 1-3/4" 25 008236621907 5
40824 |8 x3/4" 100 | 008236046243 | 5 21690 |8 x2" 25 | 008236412055 | 5
40826 |8x1" 100 | 008236046250 | 5 41863 |8 x2-1/2" 25 | 008236621914 | 5
40828 8x1-1/4" 100 008236046267 5 41692 8x3" 5 008236412079 5
40830 |8x1-1/2" 75 | 008236046274 | 5 21864 |10 x1/2" 50 | 008236621921 | 5
42245 8 x 1-3/4" 50 038902015303 3 41694 10 x 3/4" 50 008236412093 5
40832 |8x2" S0 | 008236046281 | S 41695 |10x1" 50 | 008236412116 | 5
40833 |8 x2-1/2" 50 | 008236046298 | 5 21696 |10 x 1-1/4" 25 | 008236412130 | 5
40834 |8x3" 25 | 008236046304 | 5 41697 [10x1-1/2" 25 | 008236413014 | 5
40836 10 x 3/4" 100 008236046311 5 41865 10 x 1-3/4" 25 008236621938 5
40838 [10x1" 100 | 008236046328 | 5 21699 |10 x2" 25 | 008236412154 | 5
40840 10x 1-1/4" 75 008236046335 5 41700 10 x 2-1/2" o5 008236412178 5
40842 10x 1-1/2" 50 008236046342 5 41701 10 x 3" 25 008236412192 5
42246 10 x 1-3/4" 50 038902015310 3 41866 12 x 3/4" 50 008236621945 5
40844 10x2" 50 008236046359 5 41705 12x1" 50 008236412215 5
40846 | 10x2-1/2" 25 | 008236046366 | 5 41706 |12 x1-1/4" 25 | 008236412239 | 5
40848 |10x3" 25 | 008236046373 | 5 41707 [12x1-1/2" 25 | 008236412253 | 5
42247 |10x3-1/2" 25 | 038902015327 | 3 41867 |12 x1-3/4" 25 | 008236621952 | 5
40850 |12x1" 75 | 008236046380 | S 41708 [12x2" 25 | 008236412277 | 5
40852 12 x 1-1/4" 50 008236046397 5 41709 12 x 2-1/2" o5 008236412291 5
40854 12 x 1-1/2" 50 008236046403 5 41868 12 x 3" o5 008236621969 5

HILLMAN 5



6

WOOD SCREWS

Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack
Round Head Slotted Pocket Hole Screws
Wood Screws @ {m * Round Washer Head
ZINC ® #2 Square Dnvq
e Type 17 Cut Point
Fas-Pak e Coarse Thread for Soft Woods & Composites
5960 |4 x1/2" 30 | 008236034721 | 10 : E{‘; ilpfsgligtgifsd Woods
5062 |4 x3/4" 25 | 008236034738 | 10
5066 |6x 172" 30 | 008236034745 | 10 XORaK
5967 |6x5/8" > Toos236034752 | 10 42165 |7 x 1-1/4" Fine Thread 100 | 008236950847 | 4
5969 |6x3/a" 25 T oos236034769 | 10 42166 |7 x 1-1/2" Fine Thread 100 | 008236950854 | 4
co72  Tox1" 20 Toos236034776 | 10 42167 |8x1" Coarse Thread 100 | 008236950861 | 4
5975 |6 x1-1/d" 16 Toos236032783 | 10 42168 |8 x 1-1/4" Coarse Thread 100 | 008236950878 | 4
5978 |6x11/2" 2 To08236032790 | 70 42169 |8 x1-1/2" Coarse Thread 100 | 008236950885 | 4
cos2  |8x1/2" 20 T 008236034806 | 10 42170 |8 x2" Coarse Thread 50 | 008236950892 | 4
5984 8 x3/4" 20 008236034813 10 42171 8x2-1/2" Coarse Thread 50 008236950908 4
5987  |8x1" 15 | 008236034820 | 10
5990 | 8x1-1/4" 14 | 008236034837 | 10 ProCrafter™
5993 8x1-1/2" 10 008236034844 10 ® Premium Interior Woodworking Screw
509  |8x2' 8 | 008236034851 | 10 . %ps,‘ﬁ' e
6002 |10 x 3/4" 16 | 008236034868 | 10 « Zinc & Yellow Dichromate Coated
6005 |10x1" 15 | 008236034875 | 10 Fas-Pak
6008 10 x 1-1/4" 12 008236034882 10 5930 6x5/8" 100 008236994957 6
6011 10x 1-1/2" 8 008236034899 10 5931 6x3/4" 100 008236994971 6
6014 |10x2" 6 | 008236034905 | 10 5932 |6x1® 100 | 008236994995 | 6
6017 10x21/2" 6 008236034912 10 5933 6x1-1/4" 50 008236995015 6
966736 |10 x 3" 4 | 008236516456 | 10 5935 | 6x1-1/2" 50 | 008236995091 | 6
6023 |12x1" 12 | 008236034929 | 10 5937 | 8x1® 50 | 008236995176 | 6
6026 |12 x 1-1/4" 9 | 008236034936 | 10 5939 | 8x1-1/4" 50 | 008236995251 | 6
6029 |12 x1-1/2" 8 | 008236034943 | 10 5941 | 8x1-1/2" 50 | 008236995336 | 6
6032 [12x2" 6 | 008236034950 | 10 5942 | 8x1-3/4" 50 | 008236995374 | 6
5943 | 8x2" 25 | 008236995411 | 6
Oval Head Slotted 5944 8x2-1/2" 25 | 008236996210 | 6
Wood Screws @ mw 5945 | 8x3" 25 | 008236996234 | 6
ZING 5946 | 10x2-1/2" 20 | 008236996258 | 6
Fas-Pak 5947 | 10x3" 20 | 008236996272 | 6
6090 |4 x1/2" 30 | 008236034967 | 10 XOEak
6093 |4 x3/a" 20 | 008236032974 | 10 5934 | 6x1-1/4" 100 | 008236995053 | 4
6102 |6x3/4" 20 | 008236034981 | 10 5936 | 6x1-1/2" 100 | 008236995138 | 4
6105 |6x1" 22 | 008236034998 | 10 5938 | &x1” 100 | 008236995213 | 4
6108 | 6x1-1/4" 16 | 008236035001 | 10 5040 | 8x1-1/4" 100 | 008236995299 | 4
o1 Texiaz 2 Toos236035018 | 10 42177 | 8x1-1/2" 100 | 008236995039 | 4
o117 laxaar 20 008236035025 | 10 42178 | 8x1-3/4" 100 | 008236995077 | 4
6120 |8x1" 20 | 008236035032 | 10 42179 | 8x2” 50 | 008236995114 | 4
6123 |8x1-1/4" 12 | 008236035049 | 10 42180 | 8x2-1/2" 50 | 008236995152 | 4
6126 |8x1-1/2" 10 | 008236035056 | 10 42181 | 8x3" 50 | 008236995190 | 4
6129 |8x2" 8 | 008236035063 | 10 42182 | 10x2-1/2" 40 | 008236995237 | 4
966747 |10 x 3/4" 16 | 008236516470 | 10 42183 | 10x8" 40 | 008236996531 | 4
6135  |10x1" 12 | 008236035070 | 10
6138 |10 x 1-1/4" 12 | 008236035087 | 10
6141 |10 x1-1/2" 8 | 008236035094 | 10
6144 |10x2" 6 | 008236035100 | 10
HILLMAN




Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack
41086 |12 x1" 50 | 008236047295 | 5
41606 |12 x 1-1/2" 50 | 008236395341 | 5
41090 |12x2" 25 | 008236047301 | 5
Pan Head Phillips 41607 |12 x2-1/2" 25 | 008236395365 | 5
Sheet Metal Screws @ [mmmw 41094 |14 x3/4" 25 | 008236047318 | 5
ZINC 41096 |14 x1" 25 | 008236047325 | 5
Fas-Pak 42191 |14 x1-1/4" 25 | 038902014764 | 3
5397 4 x 3/8" 25 008236033199 10 41098 14 x 1-1/2" 25 008236047332 5
5400 [4x1/2" 25 | 008236033205 | 10 41608 |14 x2" 25 | 008236395389 | 5
5403 |4x3/4" 20 | 008236033212 | 10 41609 |14 x 2-1/2" 25 | 008236395402 | 5
966818 |6 x 1/4" 30 | 008236517255 | 10 41610 | 14x3" 25 | 008236395426 | S
5412 |6x3/8" 25 | 008236033229 | 10
5415 |6x1/2" 25 | 008236033236 | 10 Pan Head Square Drive
5418 | 6x5/8" 20 | 008236033243 | 10 Sheet Metal Screws
5421  |6x3/4" 20 | 008236033250 | 10 ZING
5424 |6x1" 15 | 008236033267 | 10 FasPak
5427 |6x1-1/4" 15 | 008236033274 | 10 9287 |6x1/2" 5 Toos23ea0a787 | 10
5430 |6 x1-1/2" 12 | 008236033281 | 10 9288 |6xa/a" 15 T 008236403800 | 70
5442 |8x3/8" 20 | 008236033298 | 10 9289 Tox1" 12 Toos23640382a | 10
5445  |8x1/2" 20 | 008236033304 | 10 9290 |6 x1-1/a" 10 T oos236a03848 | 10
5448 |8 x5/8" 16 | 008236033311 | 10 9291 T6x11/2" & Toosaseaossez | 10
5451 |8 x3/4" 16 | 008236033328 | 10 9292 |8xa/8" 15 Toos236403886 | 10
5454 |8x1" 16 | 008236033335 | 10 293 |8xi/o" 5 008236203909 | 10
5457  |8x1-1/4" 12 | 008236033342 | 10 9294 |8xa/a" 2 T 008236403923 | 70
5460 |8 x1-1/2" 8 | 008236033359 | 10 9295 18x1" & Toosaseaossar | 10
5463 |8x2" 6 | 008236033366 | 10 9296 |8 x 1-1/4" 10 | 008236403961 | 10
5465 |8 x2-1/2" 4 | 008236083373 | 10 9297 |8x11/2" 10 Toos236403985 | 70
5467 |8x3" 3 | 008236033380 | 10 9298 |8x2" & Toosa3ea0a005 | 10
5469 |10x1/2" 12 | 008236033397 | 10 a1 oxiz 12 00236202029 | 10
5475 |10x3/4" 12 | 008236033403 | 10 %02 T1oxa/a" 10 Toos236402043 | 70
5478  |10x1" 10 | 008236033410 | 10 9303 T1ox1" 10 Toos236402067 | 70
5481 |10 x 1-1/4" 8 | 008236033427 | 10 0304 [1ox 1172 10 T oos236a02081 | 10
5484 | 10x1-1/2" 6 | 008236033434 | 10 9505 T10x14/2" & Toosazeaoaios | 10
5487 |10x2" 4 | 008236033441 | 10 936 T1ox2" & Toosaseaoaizs | 10
5490 |10 x 2-1/2" 4 | 008236033458 | 10 g0 |zx1/2 10 Toosa3eaoataa | 1o
5493  |10x3" 3 | 008236033465 | 10 9310 |12x3/4" 10| 008236404166 | 10
5496 |12x1/2" 10 | 008236033472 | 10 w11 Ti2x1" = Toosaseaoaizo | 10
5499 |12 x 3/4" 10 | 008236033489 | 10 w12 exiaa = T oos236404203 | 70
5502 |12x1" 10 | 008236033496 | 10 %13 T12x14/2" s Toosazeaosozr | 10
5505 |12 x 1-1/4" 6 | 008236033502 | 10 %15 T12x2" = Toosazeaoiaai | 10
5508 |12 x 1-1/2" 4 | 008236033519 | 10 XL Pak
5611 |1ex2t 4 | 008236033526 | 10 4713 [6x1/2" 50 [ 008236412314 | 10
5514 |12 x2-1/2" 4 | 008236033533 | 10 1714 loxaa 50 T oos236412338 | 10
5523 |14 x 3/4" 8 | 008236033540 | 10 2715 o1 =0 Toos236412352 | 10
5525 |14 x1” 6 | 008236033557 | 10 41716 |6x1-1/4" 50 | 008236412376 | 5
966819 | 14 x 1-1/4" 6 | 008236517279 | 10 1717 Texii2" 50 T oos236412390 |5
5531 |14 x1-1/2" 4 | 008236033564 | 10 1718 laxas" 50 Toosaseaizaia | 10
5533 |14 x2” 3 | 008236033571 | 10 4719 [8x1/2" 50 | 008236412437 | 10
XL Pak 41721 |8x3/4" 50 | 008236412451 | 10
41048 |6 x3/8" 100 | 008236047066 | 10 272 a1 50 Toosaseaioars | 5
41050 |6x1/2" 100 | 008236047073 | 10 11723 |8 x11/a" 50 | oos2aeaizase |5
41051 |6x5/8" 100 | 008236047080 | 5 11724 8 x11/2" 25 Toos2a6a12512 |5
41052 |6x3/4" 100 | 008236047097 | 5 1175 lax2" 25 T oos236412536 | 5
41054 |6x 1" 100 | 008236047103 | 5 41726 |8x2-1/2" 25 | 008236412550 | 5
41055 |6 x 1-1/4" 100 | 008236047110 | 5 1727 |8x3 25 Toos2aea12574 |5
41057 |8x3/8" 100 | 008236047127 | 10 11728 1oxi2 50 Toosaseaizses | 5
41058 |8x 1/2" 100 | 008236047134 | 5 71729 Tox3/a 50 T oos2aeaizers |5
41059 |8x5/8" 100 | 008236047141 | 5 1730 T10x1" 50 T oos236412635 |5
41060 | 8 x 3/4" 100 | 008236047158 | 5 41731 |10x1-1/4" 50 | 008236412659 | 5
41062 |8x 1" 100 | 008236047165 | 5 41732 |10 x 1-1/2" 25 | 008236412673 | 5
41064 |8x1-1/4" 100 | 008236047172 | 5 11735 T10x2" 2 T oos236a12697 |5
41066 |8 x 1-1/2" 75 | 008236047189 | 5 41734 [10x 272" 2 T oos236a11867 |5
41068 |8x2" 50 | 008236047196 | 5 75 10x3" > Toosaseaiario | 5
41070 |[10x1/2" 100 | 008236047202 | 5 1736 [12x1/2 50 T oos2sea1zraa |5
41071 |10x5/8" 100 | 008236047219 | 5 1737 12x3a 50 T oos2aea1arss |5
41072 |10x 3/4" 75 | 008236047226 | 5 738 1o x1" 50 Tooszseaiora | 5
41074 | 10x1" 75 | 008236047233 | 5 41739 [12x1-1/4" 25 | 008236412796 | 5
41076 |10 x 1-1/4" 50 | 008236047240 | 5 720 125132 2 T oos236412819 |5
41078 | 10x 1-1/2" 50 | 008236047257 | 5 72 T1ox2" > Toos236412833 |5
41080 | 10x 2" 50 | 008236047264 | 5 41858 |12x2-1/2" 25 | 008236621860 | 5
41082 |10x 2-1/2" 25 | 008236047271 | 5 11859 T12x3" 2 T oos236621877 |5
41084 |12 x3/4" 75 | 008236047288 | 5
HILLMAN

7



Qty Master Qty Master

Item # Description Each UPC Pack Item # Description Each UPC Pack
Flat Head Phillips Flat Head Square Drive
Sheet Metal Screws @ Sheet Metal Screws @ WW
ZINC ZINC
Fas-Pak Fas-Pak
5536 4x3/8" 25 | 008236033588 | 10 9318 6x1/2" 15 | 008236403466 | 10
5537 4x1/2" 25 | 008236033595 | 10 9319 6 x 3/4" 15 | 008236403121 | 10
5539 6x1/2" 25 008236033601 10 9320 6x1" 12 008236403145 10
5540 6x5/8" 20 | 008236033618 | 10 9321 6x 1-1/4" 10 | 008236403169 | 10
5541 6x3/4" 20 | 008236033625 | 10 9322 6x1-1/2" 8 008236403183 | 10
5542 6x1" 15 | 008236033632 | 10 9323 8x1/2" 15 | 008236403442 | 10
5543 6 x1-1/4" 15 008236033649 10 9324 8 x 3/4" 12 008236403206 10
5544 6x1-1/2" 15 008236033656 10 9325 8x1" 12 008236403220 10
5546 8x1/2" 20 | 008236033663 | 10 9326 8x1-1/4" 10 | 008236403244 | 10
5548 8x3/4" 20 | 008236033670 | 10 9327 8x1-1/2" 10 | 008236403480 | 10
5549 8x1" 15 008236033687 10 9328 8x2" 8 008236403503 10
5550 8x1-1/4" 10 | 008236033694 | 10 9331 10x1/2" 12 | 008236403527 | 10
5551 8x1-1/2" 10 | 008236033700 | 10 9332 10 x 3/4" 12 | 008236403541 | 10
5553 8x2" 6 008236033717 | 10 9333 10x1" 10 | 008236403565 | 10
5554 8x2-1/2" 5 008236033724 | 10 9334 10 x 1-1/4" 10 | 008236403589 | 10
5557 10x1/2" 12 | 008236033731 | 10 9335 10 x 1-1/2" 8 008236403602 | 10
5559 10 x 3/4" 12 008236033748 10 9337 10x 2" 5 008236403640 10
5560 10x1" 10 | 008236033755 | 10 9340 12 x1/2" 10 | 008236403664 | 10
5561 10 x 1-1/4" 8 008236033762 10 9341 12 x 3/4" 8 008236403688 10
5562 10x 1-1/2 6 008236033779 10 9342 12x1" 5 008236403701 10
5564 10x2" 6 008236033786 | 10 9343 12 x 1-1/4" 5 008236403725 | 10
5565 10x 2-1/2" 4 008236033793 10 9344 12 x 1-1/2" 5 008236403749 10
5566 10x3" 3 008236033809 | 10 9346 12x2" 5 008236403763 | 10
5569 12x1" 10 | 008236033816 | 10 XL Pak
5570 12x1-1/4" 8 008236033823 | 10 41745 [6x1/2" 50 | 008236411393 [ 10
5571 12x1-1/2" 8 008236033830 | 10 41746 |6 x3/4" 50 | 008236411416 | 10
5573 12x2" 5 008236033847 | 10 41747 |[6x1" 50 | 008236411430 | 10
5574 12x2-1/2" 4 008236033854 | 10 41748 |6 x 1-1/4" 50 | 008236411553 | 5
5575 12x3" 3 008236033861 | 10 41749 [6x1-1/2" 50 | 008236411577 | 5
5577 14x1" 6 008236033878 | 10 41750 [8x1/2" 50 | 008236411454 | 10
5578 14 x 1-1/4" 6 008236033885 10 41751 8 x 3/4" 50 008236411478 10
5579 14 x1-1/2" 5 008236033892 10 41752 8x1" 50 008236411492 5
5580 14x2" 4 008236033908 | 10 41753  [8x 1-1/4" 25 | 008236411515 | 5
XL Pak 41754 [8x 1-1/2" 25 | 008236411539 | 5
41611 4x1/2" 100 008236395440 5 41755 8x2" 25 008236411591 5
41612 6 x 3/8" 100 008236395464 5 41758 10 x 1/2" 50 008236411614 5
41613  [6x1/2" 100 | 008236395488 | 5 41759 |10 x 3/4" 50 | 008236411638 | 5
41614 6 x 3/4" 100 008236395501 5 41760 10x1" 50 008236411652 5
41615 [6x1" 100 | 008236395525 | 5 41761 [10x 1-1/4" 25 | 008236411676 | 5
41616  [6x1-1/4" 100 | 008236395549 | 5 41762  [10x1-1/2" 25 | 008236411690 | 5
41617 8x1/2" 100 008236395563 5 41764 10x 2" 25 008236411713 5
41618 [8x3/4" 100 | 008236395587 | 5 41767 [12x1/2" 50 | 008236411737 | 5
41619 [8x1" 100 | 008236395600 | 5 41768 |12 x 3/4" 50 | 008236411751 5
41620 8x1-1/4" 100 008236395624 5 41769 12x1" 25 008236411775 5
41621 |8x1-1/2" 75 | 008236395648 | 5 41770 [12x1-1/4" 25 | 008236411799 | 5
41622 |8x2" 50 | 008236395662 | 5 41771 [12x1-1/2" 25 | 008236411812 | 5
41623 8x2-1/2" 50 008236395686 5 41772 12 x 2" 25 008236411836 5
41624 (10 x 3/4" 75 | 008236395709 | 5
41625 [10x1" 75 | 008236395723 | 5
41626 [ 10x1-1/4" 50 | 008236395747 | 5
41627 [10x1-1/2" 50 | 008236395761 5
41628 [10x2" 50 | 008236395785 | 5
41629 [10x2-1/2" 25 | 008236395808 | 5
41630 |12 x3/4" 75 | 008236395822 | 5
41631 [12x1" 50 | 008236395846 | 5
42201 [12x1-1/4" 50 | 038902014863 | 3
41632 [12x1-1/2" 50 | 008236395860 | 5
41633 [12x2" 25 | 008236395884 | 5
41634 |12 x2-1/2" 25 | 008236395907 | 5
42202 [12x3" 25 | 038902014870 | 3
41635 |14 x 3/4" 25 | 008236395921 5
41636 [ 14x1" 25 | 008236395945 | 5
42203 |14 x1-1/4" 25 | 038902014887 | 3
41637 |14 x1-1/2" 25 | 008236395969 | 5
41638 |14 x2" 25 | 008236395983 | 5
41639 |14 x2-1/2" 25 | 008236396003 | 5
41640 |[14x3" 25 | 008236396065 | 5

8 HILLMAN



Qty Master Qty Master

Item # Description Each UPC Pack Item # Description Each UPC Pack
6767 |6-32 x 1-1/4" 12 | 008236035728 | 10
Hex Washer Head Slotted 6770 |6-32x 1-1/2" 10 | 008236035735 | 10
Sheet Metal Screws @ 5W 6773 |6-32x2" 8 | 008236035742 [ 10
ZING 6776 |8-32x1/2" 15 | 008236035759 | 10
s 6779 |8-32 x 3/4" 15 | 008236035766 | 10
0 [6x35 0 Tooazacoszoms 10 6782 |8-32x1" 12 | 008236035773 | 10
oos ox 12" 5 T ooazasoazeas | 1o 6785  |8-32 x 1-1/4" 10 | 008236035780 | 10
oo oraa 5 T ooasssoszeas T 1o 6788 |8-32x 1-1/2" 8 | 008236035797 | 10
e > T ooasseosssme | 10 6791 |8-32x2" 6 | 008236035803 | 10
T R LT EEYT s T oosoas0az0ss | 1o 6792 |8-32x2-1/2" 6 | 008236035810 | 10
5305 |8x 172" 15 | 008236032970 | 10 6793  |8-32x3" 4 | 008236035827 | 10
a8 T8x3/2" > Tooasseossesr | 10 6797 1024 x 172" 10| 008236035834 | 10
TR TTET 1o T ooazas0azsea T 10 6800 | 10-24 x 3/4" 10 | 008236035841 | 10
YRR FFEEYT s T ooszasosaoss | 1o 6803 |1024x1" 8 | 008236035858 | 10
T R FFEETT T oossaeosaota | 1o 6806|1024 x 1-1/4" 8 | 008236035865 | 10
220 a2 =T ooszasoaaoet | 1o 6800 | 10-24x 1-172" 8 | 008236035872 | 10
TR ELPETT o Tooasasossoas | 1o 6812 |1024x2" 6 | 008236035889 | 10
T EEE TV s T oossacosaode | 1o 6815|1024 x 2-172" 6 | 008236035896 | 10
T EERETIET s T ooszasoaaoss | 1o 6818|1024 x3" 4 | 008236035902 | 10
TR ETFEEYT & T ooszasoasoss | 1o 6821|1032 x 172" 10 | 008236035919 | 10
YRR ETFEETT & Toossacosaore | 1o 6824 |10-32 x 3/4" 10 | 008236035926 | 10
a5 Tiox2 + T ooszasoaaoss | 1o 6827 |1082x1" 8 | 008236035933 | 10
TR ETFEVT T ooszasoaaoso | 1o 6830 |10-32 x 1-1/4" 8 | 008236035940 | 10
a0 iz e =T oossacosaios | 1o 6833|1032 x 1-172" 8 | 008236035957 | 10
YRR ETTET =T ooszasozaiia | 1o 6835  |10:32x2" 6 | 008236734522 | 10
VY TSRy + T ooszasosaizo | 1o 6839 |1/4-20 x 1/2" 8 | 008236035964 | 10
YR WYY + T oossaeosaiar | 1o 6842 | 1/4-20 x 3/4" 6 | 008236035971 | 10
o7 Tiox2 s T ooszasozaiaa | 1o 6845 | 1/420x 1" 6 | 008236035988 | 10
Y RN EV YT + T ooszasosaisi | 1o 6848 | 1/4-20 x 1-1/4" 5 | 008236035995 | 10
TR EVIET + T oossacosaies | 1o 6851 |1/420x 1-1/2" 4 | 008236036008 | 10
R EVPEETT s T ooszasozairs | 1o 6854 | 1/4-20x 2" 4 | 008236036015 | 10
T R EYFEETT T ooszasosaiss | 1o 6857 | 1/4-20 x 2-1/2" 3 | 008236036022 | 10
XL PaK 6860 | 1/4-20 x 3" 3 | 008236036039 | 10
40998 |6 x3/8" 100 | 008236046854 | 10 2 LELS
21000 T6x 12" 100 Tooszasoasssr | 1o 41126 [6-32 x 1/2" 100 | 008236047349 | 10
21000 Toxaar 100 Toososeoacers | 5 41128 |6-32 x 3/4" 100 | 008236047356 | 5
21000 Teat 100 T oosaseoscaas T2 41130 |6-32x1" 100 | 008236047363 | 5
21006 T8 12" 100 Toosose0aeaos | = 41975 |6-32 x 1-1/4" 75 | 008236734669 | 5
11006 132" = Toosase0see0s | = 41653 |6-32 x 1-1/2" 75 | 008236396041 | 5
21010 Toa 1 e 41654 |6-32x2" 50 | 008236396089 | 5
T ITER EFEETT 50 Toosascoscezs | = 41138 [8-32x 1/2" 100 | 008236047370 | 5
TR EFEETTD oo T oosase0scess | = 41140 |8-32 x 3/4" 700 | 008236047387 | 5
ri01a Too 2o Toos260300a6 T2 41142 [8-32x1" 100 | 008236047394 | 5
1016 012" 100 Toosase0eos | = 41976 |8-32 x 1-1/4" 75 | 008236734683 | 5
w1016 03 = Toosaseosceco | = 41144 [8-32x1-1/2" 75 | 008236047400 | 5
T T RRETIED o Toos23030977 T2 41146 |8-32x2" 50 | 008236047417 | 5
w1002 x5 2o Toosasc0sceas | = 41977 |8-32x2-1/2" 30 | 008236734706 | 5
w100s ox 132" 2o Toosase0see0r | = 41150 [1024x 172" 100 | 008236047424 | 5
w1006 T0x 2 o Tooszs0a700a T2 41152 [1024 x 3/4" 100 | 008236047431 | 5
1050 12y " T oosasoarori T = 41154 [1024x1" 100 | 008236047448 | 5
T RRETIED o Toosascoaroms | = 41978 [1024x1-1/4" 50 | 008236734720 | 5
B R PEETT o Tooszse0ar0 T = 41156 1024 x1-1/2" 50 | 008236047455 | 5
41603 |12x1-1/2" 50 | 008236394924 | 5 41158 | 10-24x 2" 50 | 008236047462 | 5
wi60s Tizr 2 o Toosaseassoss | = 41979 [1024x2-172" 30 | 008236734744 | 5
41038 |14 x 3/4" 50 | 008236047042 | 5 41980 | 10-24x 3" 25 | 008236734768 | 5
1010 Tiar R Ty 41166 | 1/4-20 x 172" 75 | 008236047479 | 5
YT TR EVREEVT = Tossoooraaas | 3 41168 | 1/420 x 3/4" 50 | 008236047486 | 5
w00 sz = Tosss0a01a556 T3 41170 [1/420x1" 50 | 008236047493 | 5
41981 | 1/4-20 x 1-1/4" 25 | 008236734782 | 5
172 [1/420x 172" 25 | 008236047509 | 5
41174 [1/420x2" 25 | 008236047516 | 5
41983 | 1/420x 3" 15 | 008236734829 | 5

Round Head Combo
Machine Screws @ @lll\ll\lml‘

ZINC
Fas-Pak
6755 6-32 x 3/8" 20 008236035681 10
6758 6-32 x 1/2" 18 008236035698 10
6761 6-32 x 3/4" 15 008236035704 10
6764 6-32x1" 12 008236035711 10

HILLMAN 9



10

Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack
Flat Head Phillips Pan Head Phillips I
Machine Screws Machine Screws LY
ZINC ZINC
Fas-Pak XL Pak
6936 [6-32x3/8" 20| 008236036046 | 10 42387 [6-32x1/2" 100 [ 038902016751 | 3
6939 |6-32x 172" 18| 008236036053 | 10 42388 |6-32 x 3/4" 75| 038902016768 | 3
6942 |6-32x3/4" 15| 008236036060 | 10 42389 _|6-32x1" 65 | 038902016775 | 3
6945 |6-32x1" 12| 008236036077 | 10 42390 |6-32 x 1-1/4" 60 | 038902016782 | 3
6948 |6-32x1-1/4" 12| 008236036084 | 10 42391 [6-02x1-1/2" 50 | 038902016799 | 3
6951 |6-32x1-12" 10| 008236036091 | 10 42392 |6-32x2" 40| 038902016805 | 3
6954 |6-32x2" 8 | 008236036107 | 10 42393 |8-32x1/2" 80| 038902016812 | 3
6957 |8-32x1/2" 15| 008236036114 | 10 42394 [8-02x 3/4" 70| 038902016829 | 3
6960 |8-32 x 3/4" 15| 008236036121 | 10 42395 |8-32x1" 40| 038902016836 | 3
6963 |8-32x1" 12| 008236036138 | 10 42396 |8-32 x 1-1/4" 55 | 038902016843 | 3
6964 |8-32x 1-1/4" 10| 008236734546 | 10 42397 _|8-32 x1-172" 50 | 038902016850 | 3
6969 |8-32 x 1-12" 8 | 008236036145 | 10 42398 |8-32x2" 45| 038902016867 | 3
6972 |8-32x2" 6 | 008236036152 | 10 42399 [10-32 x 172" 40| 038902016874 | 3
6975 |10-24x 172" 10| 008236036169 | 10 42457 [10-32 x 3/4" 50| 038902017376 | 3
6978 | 10-24 x 3/4" 10| 008236036176 | 10 42401 [10-82x 1" 50| 038902016881 | 3
6981 [10-24x1" 8 | 008236036183 | 10 42400 [10-32 x 1-1/4" 50 | 038902016898 | 3
6984 |10-24x1-1/4" 8 | 008236036190 | 10 42458 [10-82 x 1-172" 40| 038902017383 | 3
6987 |10-24x1-1/2" 8 | 008236036206 | 10 42404 [10-82x2" 35_ | 038902016904 | 3
6990 | 10-24x2" 6 | 008236036213 | 10 42405 |10-32 x2-172" 25 | 038902016911 | 3
6993 |10-24x2-1/2" 6 | 008236036220 | 10 42406 [10-32 x 3" 20 | 038902016928 | 3
6996 |10-24x3" 4| 008236734560 | 10 42407 _|10-24 % 172" 40| 038902016935 | 3
7017 |[1/4-20x 172" 8 | 008236036237 | 10 42408 | 10-24 x /4" 50 | 038902016942 | 3
7020 |1/4-20x3/4" 6 | 008236036244 | 10 42460 [ 1024 % 1" 50 | 038902017390 | 3
7023 |1/4-20x1" 6 | 008236036251 | 10 42410 | 1024 x 1-1/4" 50 | 038902016959 | 3
7026 |1/4-20 x 1-1/4" 5 | 008236036268 | 10 42411 [1024x1-1/2" 40| 038902016966 | 3
7020 |1/4-20x1-1/2" 4| 008236036275 | 10 424121024 %2" 35_ | 038902016973 | 3
7032 |1/4-20x2 4| 008236036282 | 10 42413 [10-24x2-1/2" 25| 038902016980 | 3
7035 |1/4-20x2-1/2" 3| 008236036299 | 10 42414 [1024%3" 20 | 038902016997 | 3
7038 |1/4-20x3" 3 | 008236036305 | 10 42461 [1/4-20 x 172" 50 | 038902017406 | 3
XL Pak 42416 | 1/4-20 x /4" 50 | 038902017000 | 3
41655 [6-32x3/8" 100 | 008236396409 | 10 42417 | 1/420x 1" 40| 038902017017 | 3
41656 |6-32x 172" 100 | 008236396423 | 10 22418 |1/4-20x 1-1/4" 35 | 038902017024 | 3
41657 _|6-32x3/4" 100 | 008236396447 | 5 22419 |1/4-20x1-1/2" 30| 038902017031 | 3
41658 |6-32x1" 100 | 008236396461 | 5 42420 [ 1/4-20x2" 25| 038902017048 | 3
42207 |6-32 x 1-1/4" 85 | 008902014924 | 3 42462 |1/4-20x2-1/2" 20 | 038902017413 | 3
41659 |6-32x 1-1/2" 75 | 008236396485 | 5 22422 |1/4-20x3" 15| 038902017055 | 3
41660 |6-32x2" 50 | 008236396508 | 5
41661 |8-32x1/2" 100 | 008236396522 | 5 Round Head Combo
41662 |8-32 x 3/4" 100 | 008236396546 | 5 Machine Screws w/Nut @ @l‘m@
41663 |8-32x1" 100_| 008236396560 | 5 ZING
42208 |8-32 x 1-1/4" 85 | 038902014931 | 3
41664 2 x1-172" 7 2 4 Fas-Pak
664 18-82x1-1/ 5 | 008236396584 | S 966752 [6-32x 1/4" 12 [ 008236516555 | 10
41665 |832x2" S0 | 008236396607 | 5 966753 |6-32x3/8" 12| 008236516579 | 10
:166‘73 10'22 X 1; = 100 0082363966‘211 > 7650 602 1/2" 10| 008236037555 | 10
- 2:8 18'24 X ? 133 gggzzgzggge: S 7653 |6-02x 3/4" 10| 008236037562 | 10
24X 5 7656 |6-32x1" 10| 008236037579 | 10
21 6‘739 10'22 X 11; - 0 008236396383 > 7659 |6-02x 1-1/2" 8 | 008236037586 | 10
670 110-24x1- S0 | 008236396706 | S 7662 |6-02x2" 5 | 008236037593 | 10
41671 |10-24x2 — S0 | 008236396720 | 5 7665 |8-32x1/2" 10| 008236037609 | 10
ﬂ 9;; 10'22 x2-1/2 20 008§36;3358‘7" 5 7668 |8-02x 3/4" 10| 008236037616 | 10
9 024x3" _ S | 008236734607 | S 7671 [8-32x1" 10| 008236037623 | 10
41672 [ 17420 x 172 75| 008236396744 | 5 7R Py o Toosasc057630 T 10
i: G;i 1; 2'20 X ?’ 4 0 008236396;62 5 7677 |8-32x1-1/2" 8 | 008236037647 | 10
412 1/4'28 - 20 83222222283 5 8009 [8-02x1-3/4" 20 | 008236000320 | 10
75 ; X VT o 5l ° 7680  [8-32x2" 5 | 008236037654 | 10
:1 6_7,‘73 1/3'20 X ;;1 ;5 0082363968i9 5 8010 [8-02x3" 20 | 037504024676 | 10
6 20x2" S | 008236396843 | 5 7683 [10-24x1/2" 10| 008236037661 | 10
41973 17‘_20 21/ 20 | 008236734621 | 5 e e o Toosssc0s678 10
41974 | 1/4-20x3 15| 008236734645 | 5 —essTToma T s ooasaaoarece |10
7692 |10-24 x 1-1/4" 8 | 008236037692 | 10
7695 |10-24x1-1/2" 8 | 008236037708 | 10
7698 |10-24x2" 5 | 008236037715 | 10
966755 | 10-24 x 3" 6 | 008236516616 | 10
7701 [10-82x 12" 10| 008236037722 | 10
7704 |10-32 x /4" 10| 008236087739 | 10
7707 |10-32x1" 8 | 008236037746 | 10

HILLMAN




Qty Master Qty Master

Item # Description Each UPC Pack Item # Description Each UPC Pack

7710 |10-32 x 1-1/4" 8 | 008236037753 | 10

7713 |10-32 x 1-1/2" 8 | 008236037760 | 10 Breakaway Screws fj - S

7716 |1032x2" 5 | 008236037777 | 10 ZING ' -

7719 |1/4-20 x 1/2" 8 | 008236037784 | 10 SRR

7722 | 1/4-20 x 3/4" 6 | 008236037791 | 10 9008 832 x2" 5 T oosz2scosceis | 5

7725 |1/4-20x 17 6 | 008236037807 | 10 9009 |M4-70x50 6 | 008236946826 | 5

7728 | 1/4-20 x 1-1/4" 5 | 008236037814 | 10

7731 |1/4-20 x 1-1/2" 5 | 008236037821 | 10

7734 |1/420x 2" 5 | 008236037838 | 10 Truss H_ead Slotted d

966756 | 1/4-20 x 2-1/2" 3 | 008236516630 | 10 Machine Screws |

7737 |1/420x 3" 3 | 008236037845 | 10 ZING

Fas-Pak
9010  |8-32x 1/2" 6 | 008236388794 | 10

Flat He?d Slotted 9011 |832x1" 6 | 008236388800 | 10
Machine Screws w/Nut 9012 |8-32x1-1/8" 6 | 008236388817 | 10
ZINC 9013 |8-32x 1-1/4" 6 | 008236388824 | 10

Fas-Pak 9014 |8-32x 1-1/2" 6 | 008236388831 | 10

7755  |6-82x1/2" 10 | 008236037852 | 10 9015 | 8-32 x 1-5/8" 4 | 008236388848 | 10

7758 | 6-32 x 3/4" 10 | 008236037869 | 10 5016 leaaxiaa 7 T oos236388855 | 10

7761 |6-32x1" 10 | 008236037876 | 10 017 Te32x2" + Toosassasssez | 10

7764 |6-32 x 1-1/2" 8 | 008236037883 | 10

7767 |6-32x2" 5 | 008236037890 | 10

7770 |8-32x 1/2" 10 | 008236037906 | 10

7773 |8-32 x 3/4" 10 | 008236037913 | 10 Thumb Screws

7776 |8-32x1" 10 | 008236037920 | 10 ZINC

7779|832 x 1-1/4" 10 | 008236037937 | 10 GasiRakc

7782 1832 X112 s Toos2ac037944 | 70 9018 |10-24x 1/2" 3 | 008236389258 | 10

785 T8.32x2" = Tooszac037951 | 70 9019 |10-24x1" 3 | 008236389265 | 10

R BTy 10 Toos236037968 | 7o 9020 | 1/4-20 x 1/2" 2 | 008236389272 | 10

7791|1024 x 3/4" 10 | 008236037975 | 10 9021 [1/4-20x 1" 2 | 008236389289 | 10

7700 THo24x1" s Tooszac037982 | 10 9022 |1/4-20 x 1-1/2" 2 | 008236389296 | 10

w707 THo2ax 1378 5 008236037999 | 10 9023 |5/16-18x1" 1 | 008236389302 | 10

7800 | 10-24 x 1-1/2" 8 | 008236038002 | 10

7803 |10-24x2" 5 | 008236038019 | 10 Oval Slotted

7806 |10-32x 1/2" 10 | 008236038026 | 10 Switch Plate Screws

7809 | 10-32 x 3/4" 10 | 008236038033 | 10 W/COLORED HEADS

7812 |10-32x1" 8 | 008236038040 | 10 Fas-Pak

7815 |10-32 x 1-1/4" 8 | 008236038057 | 10 9024  |6-32x1/2"  White 4 | 008236394719 | 10

7818|1032 x 1-1/2" 8 | 008236038064 | 10 9025 |6-32x1/2"  Ivory 4 | 008236394733 | 10

7821  |10-32x2" 5 | 008236038071 | 10 9026 |632x1/2"  Black 4 | 008236394757 | 10

7824 | 1/4-20 x 1/2" 8 | 008236038088 | 10 9027  |6-32x1/2" _ Brass 4 | 008236394771 | 10

7827 | 1/4-20 x 3/4" 6 | 008236038095 | 10 9028  |6-32x1/2" _ Chrome 4 | 008236394795 | 10

7830 | 1/420x1" 6 | 008236038101 | 10 9029 |632x1/2"  Bronze 4 | 008236394818 | 10

7833 | 1/4-20 x 1-1/4" 5 | 008236038118 | 10 9030  |8-32x1/4"  HWH Green 4 | 008236394696 | 10

7836 | 1/4-20 x 1-1/2" 5 | 008236038125 | 10 966786 |6-32x3/4" _ Zinc 8 | 008236516692 | 10

7839 |1/420x 2" 5 | 008236038132 | 10 966787 |6-32x 1" Zinc 8 | 008236516715 | 10

966757 | 1/4-20 x 2-1/2" 3 | 008236516654 | 10 966788 |6-32x1/2" _ Brown 8 | 008236516739 | 10

7842 |1/420x 3" 3 | 008236038149 | 10

Pan Head Phillips
Machine Screws w/Nut

ZINC

Fas-Pak

966789 |[6-32 x 1/4" 12 008236516753 10
966790 |6-32 x 3/8" 12 008236516777 10
966791 [6-32x1/2" 12 008236516791 10
966792 |6-32 x 3/4" 12 008236516814 10
966793 |6-32x1" 10 008236516838 10
966794 |6-32 x 1-1/2" 8 008236516852 10
966795 |[8-32x1/2" 12 008236516876 10
966796 |8-32 x 3/4" 12 008236516890 10
966797 [8-32x1" 10 008236516913 10
966798 |[8-32 x1-1/2" 8 008236516937 10
966799 |8-32x2" 6 008236516951 10
966800 |10-24 x 1/2" 10 008236516975 10
966801 |10-24 x 3/4" 10 008236516999 10
966802 [10-24 x 1" 8 008236517019 10
966803 |10-24 x 1-1/2" 8 008236517033 10
966804 |10-24 x 2" 6 008236517057 10
966805 | 1/4-20 x 3/4" 8 008236517071 10
966806 |1/4-20 x 1" 6 008236517095 10
966807 |1/4-20 x 1-1/2" 6 008236517118 10
966808 |1/4-20 x 2" 4 008236517132 10

HILLMAN

11



Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack
L nuts [
ZINC
Fas-Pak
Hex Nuts 6233 | 6-32 5 | 008236035209 | 10
ZINC 6236 | 8-32 5 | 008236035216 | 10
Fas-Pak 6239 10-24 4 | 008236035223 | 10
6200  |6-32 24 | 008236035117 | 10 6242 10-32 4 | 008236035230 | 10
6203  |8-32 24 | 008236035124 | 10 6245 1/4-20 4 | 008236035247 | 10
6206 | 10-24 20 | 008236035131 | 10 6248 5/16-18 3 | 008236035254 | 6
6209 10-32 20 008236035148 | 10 8996 3/8-16 2 008236389234 6
6212 1/4-20 12 008236035155 10 8997 1/2-13 2 008236389241 12
6215 |5/16-18 9 | 008236035162 | 10
6218 |3/8-16 8 | 008236035179 | 10
6221 7/16-14 5 | 008236035186 | 10 Tee Nuts @
6224 1/2-13 4 008236035193 10 PRONGED
20 Fas-Pak
41577  |6-32 100 | 008236394962 | 10 8990 6.3 3 | 008236389173 | 10
41208 |8-32 100 | 008236047523 | 10 6260 | 8-32x 9/32 4 | 008236035261 | 10
41210 |10-24 100 | 008236047530 | 10 3991 10-32 3 | oos2as3aois0 | 10
41578 [10-32 100 | 008236394986 | 10 6263 1024 2 | 008235035278 | 10
41214 [1/4-20 100 | 008236047547 | 5 5266 /420 4 008236035285 | 10
42238 |5/16-18 50 | 038902015235 | 3 8994 | 1/4-20 LONG 2 | 008236389210 | 6
42239 | 3/8-16 35 | 038902015242 | 3 3992 5/16-18 2 | 008236389197 | 6
42240 |1/2-13 20 | 088902015259 | 3 8995 | 5/16-18 LONG 2 | 008236389227 | 6
8993 3/8-16 2 | 008236389203 | 6
[\
Nylon Insert Lock Nuts ' "
ZINC @
Fas-Pak Axle Cap Nuts
6280 |6-32 5 | 008236035292 | 10 Fas-Pak
6283 |8-32 5 | 008236035308 | 10 8985 3/16" 3 | 008236388879 | 10
6286 10-24 5 008236035315 10 8986 1/4" 3 008236388886 10
6287 10-32 4 008236035322 10 8987 5/16" 2 008236388893 10
6289 1/4-20 4 008236035339 10 8988 3/8" 2 008236388909 10
6292 5/16-18 3 008236035346 10 8989 1/2" 2 008236388916 10
6295 |3/8-16 3 | 008236035353 | 10
6298 | 7/16-14 2 | 008236035360 | 10
6301 1/2-13 2 | 008236035377 | 6
42268 |6-32 75 | 038902015532 | 3
42269 |8-32 60 | 038902015549 | 3 uss
42270 [10-24 50 | 038902015556 | 3 Flat Washers ——m @
42271 [ 1/4-20 40 | 038902015563 | 3 ZING
42272 |5/16-18 30 | 038902015570 | 3 Fas-Pak
42273 | 3/8-16 25 | 038902015587 | 3 6420 316" 30 | 008236035445 | 10
42274 [1/2-13 15 | 038902015594 | 3 6423 174" 20 008236035452 | 10
6426 5/16" 12 | 008236035469 | 10
il Ny 6429 3/8" 8 | 008236035476 | 10
- 966810 | 7/16" 7 | 008236517156 | 10
Wing Nuts % 6435 1/2" 5 | 008236035483 | 10
ZINC XL Pak
Fas-Pak 41270 | 3/16" 100 | 008236047615 | 10
6350 6-32 8 008236035384 | 10 41274 1/4" 100 | 008236047622 5
6353 8-32 8 | 008236035391 | 10
6356 10-24 8 | 008236035407 | 10 SAE
6359 1/4-20 6 | 008236035414 | 10 Flat Washers @
6362 5/16-18 3 | 008236035421 | 6 ZING
6365 3/8-16 3 | 008236035438 | 6
XL Pak Ie:sjz:tpak SAE #6 30 | 008236035490 | 10
42265 | 1024 25 | 038902015501 | 8 6447 | SAE#8 30 | 008236035506 | 10
42266 | 1/4-20 25 | 038902015518 | 3 XL Pak
42267 | 5/16-18 20 1038902015525 | 3 41266 | SAE #6 100 | 008236047592 | 10
41268 | SAE #8 100 | 008236047608 | 10
41582 | SAE #10 100 | 008236395006 | 10
41583 | SAE 1/4" 100 | 008236395020 | 5
41584 | SAE 5/16" 50 | 008236395044 | 5
41585 | SAE 3/8" 50 | 008236395068 | 5
41586 | SAE 7/16" 25 | 008236395082 | 5
42241 | SAE1/2" 25 | 038902015266 | 3

12 HILLMAN




Item #

Description

Qty

Each UPC

Master
Pack

Item # Description

Qty Master
Each UPC Pack

Split Lock Washers

@

BRASS PRODUCTS

ZINC
I:sasz;Pak #6 30 | 008236035513 | 10 Flat Head Slotted
6600 | #8 30 | 008236035520 | 10 ‘B‘g:\,sgd Screws @ B:“m
6603 | #10 30 | 008236035537 | 10
6606 | 1/4" 20 | 008236035544 | 10 EaszBak
6609 | 5/16" 12 | 008236035551 | 10 7090 |2x3/8" 12 | 008236036312 | 10
YRR YT s T oosas0005568 | 10 7097 |4 x3/8" 12 | 008236036329 | 10
966812 | 7/16" 7 | 008236517170 | 10 7099 |4xd/" 12 | 008236036336 | 10
T TTRRETT = Toossaecass s | 1o 7102 |4x5/8" 10 | 008236036343 | 10
XL Pak 7105 |4 x3/4" 10 | 008236036350 | 10
41236 |#6 100 | 008236047554 | 10 7106 |4x1t 8 | 008236036367 | 10
TRRET ~00 Toossseoareer T 10 7108 |6x1/2" 12| 008236036374 | 10
41240 | #10 100 | 008236047578 | 10 7t |6x 5/ 10 | 008236036381 | 10
T YYRR YT “00 Toosaseoaress T 10 7114 |6 x3/4" 10 | 008236036398 | 10
41579 | 5/16" 50 | 008236395105 | 5 717 |6x1 8 | 008236036404 | 10
RS o Toosaseaoeioe | = 7120 [6x1-1/4" 6 | 008236036411 | 10
41581 | 7/16" 25 | 008236395167 | 5 723 |6x1-1/2" 5 1008236036428 | 10
42200 | 172" 25 | 038902014948 | 3 725 |8xi/2 8 | 008236036435 | 10
7126 |8 x3/4" 8 | 008236036442 | 10
7129 |8x1" 6 | 008236036459 | 10
Countersunk 7132 [8x1-1/4" 4 | 008236036466 | 10
Finish Washers o @ 7135  |8x1-1/2" 4 | 008236036473 | 10
NICKEL PLATED 7138 |8x2’ 3 | 008236036480 | 10
Fas-Pak 7140 |10x3/4" 3 | 008236036497 | 10
6670 | #6 70 | 008236035582 | 10 7141 [10x1" 3 | 008236036503 | 10
6673 | #8 10 | 008236035599 | 10 7144 [10x1-1/4" 3 | 008236036510 | 10
6676 | #10 10 | 008236035605 | 10 7147 [10x1-1/2" 3 | 008236036527 | 10
6679 | #12 6 | 008236035612 | 10 7150 |[10x2" 2 | 008236036534 | 10
XL Pak 7153 [12x1" 2 | 008236036541 | 10
42384 | #6 100 | 038902016720 | 3 7156 |12 x 1-1/4" 2 | 008236036558 | 10
42385 | #8 90 | 038902016737 | 3 7159 [12x1-1/2" 2 | 008236036565 | 10
42386 | #10 80 | 038902016744 | 3 7162 |[12x2" 2 | 008236036572 | 10

Fender Washers

— =

Round Head Slotted

& S

ZINC Wood Screws

Fas-Pak BRASS

6690 1/8 x 3/4" 6 008236035629 10 Fas-Pak

6693 5/32 x 7/8" 6 008236035636 10 7197 2x1/4" 12 008236036589 10
6696 3/16 x 1" 4 008236035643 10 7200 2 x3/8" 12 008236036596 10
6699 1/4x1" 4 008236035650 10 7201 2x1/2" 10 008236036602 10
966813 |[1/4 x 1-1/4" 6 008236517194 10 7202 4% 3/8" 12 008236036619 10
8011 1/4 x 1-1/2" 4 037504024683 6 7203 4x1/2" 12 008236036626 10
6702 5/16 x 1-1/4" 4 008236035667 10 7204 4 x5/8" 10 008236036633 10
966814 |[5/16 x 1-1/2" 4 008236517217 6 7205 4 x 3/4" 10 008236036640 10
6705 3/8 x 1-1/2" 2 008236035674 6 7206 6x1/2" 12 008236036657 10
XL Pak 7207 6 x 5/8" 10 008236036664 10
42252 1/8 x 3/4" 25 038902015372 3 7209 6 x 3/4" 10 008236036671 10
42253 5/32 x7/8" 25 038902015389 3 7212 6x1" 8 008236036688 10
42254 3/16 x 1" 25 038902015396 3 7214 6x1-1/4" 4 008236036695 10
42255 3/16 x 1-1/4" 20 038902015402 3 7216 6x1-1/2" 4 008236036701 10
42256 1/4 x 1" 25 038902015419 3 7218 8 x3/4" 8 008236036718 10
42257 1/4 x 1-1/4" 25 038902015426 3 7221 8x1" 5 008236036725 10
42258 1/4 x 1-1/2" 20 038902015433 3 7224 8x1-1/4" 3 008236036732 10
42259 5/16 x 1-1/4" 25 038902015440 3 7227 8x1-1/2" 3 008236036749 10
42260 5/16 x 1-1/2" 25 038902015457 3 7230 8x2" 2 008236036756 10
42261 5/16 x 1-5/8" 20 038902015464 3 7233 10x 1" 3 008236036763 10
42262 3/8 x 1-1/4" 25 038902015471 3 7236 10x 1-1/4" 2 008236036770 10
42263 3/8 x 1-1/2" 20 038902015488 3 7239 10x 1-1/2" 2 008236036787 10
42264 12 x2" 15 038902015495 3 7242 10x2" 2 008236036794 10

HILLMAN

o
ke
>
n
(7]
v
3
o
1~
c
(1)
-
(']

13



Qty Master Qty Master

Item # Description Each UPC Pack Item # Description Each UPC Pack
Flat Head Phillips Round Head Slotted
Wood Screws @ Machine Screws
BRASS BRASS
Fas-Pak Fas-Pak
7250 |4x1/2" 10 | 008236036800 | 10 7387 |6-32 x 3/8" 8 | 008236037036 | 10
966749 |4 x 5/8" 12| 008236516494 | 10 7300 |6-32x1/2" 8 | 008236037043 | 10
7252 |4 x3/4" 10 | 008236036817 | 10 7393 |6-32 x 3/4" 6 | 008236037050 | 10
966750 |4 x 1" 8 | 008236516517 | 10 7396 |6-32x1" 5 | 008236037067 | 10
7256 |6x1/2" 10 | 008236036824 | 10 7309 |8-32x3/8" 6 | 008236037074 | 10
966751 |6 x 5/8" 10 | 008236516531 | 10 7402 |8-32x1/2" 6 | 008236037081 | 10
7258 |6 x3/4" 8 | 008236036831 | 10 7405 |8-32 x 3/4" 5 | 008236037098 | 10
7260 |6x1" 4 | 008236036848 | 10 7408 |8-32x1" 4 | 008236037104 | 10
7262 |6 x1-1/4" 4 | 008236036855 | 10 7414|832 x 1-1/2" 3 | 008236037111 | 10
7264 |6x1-1/2" 4 | 008236036862 | 10 7417 |8-32x2" 3 | 008236037128 | 10
7268 |8x1/2" 8 | 008236036879 | 10 7420|1024 x 172" 5 | 008236037135 | 10
7270 |8 x /4" 6 | 008236036886 | 10 7423|1024 x 3/4" 4 | 008236037142 | 10
7272 [8x1" 4 | 008236036893 | 10 7426 |1024x1" 3 | 008236037159 | 10
7274 [8x1-1/4" 3 | 008236036909 | 10 7432|1024 x 1-1/2" 2 | 008236037166 | 10
7276 |8x1-172" 2 | 008236036916 | 10 7435 |1024x2" 2 | 008236037173 | 10
7278 |8x2" 2 | 008236036923 | 10 7444 1032 x 172" 5 | 008236037180 | 10
7282 |10x3/4" 3 | 008236036930 | 10 7447|1032 x 3/4" 4 | 008236037197 | 10
7284 [10x1" 3 | 008236036947 | 10 7450 |1032x1" 3 | 008236037203 | 10
7286 |[10x 1-1/4" 3 | 008236036954 | 10 7471 |1/420 x 172" 2 | 008236037210 | 10
7288 |10x1-1/2" 2 | 008236036961 | 10 7474 |1/4-20 x 3/4" 2 | 008236037227 | 10
7200 |[10x2" 2 | 008236036978 | 10 7477 |[1/420 x1" 2 | 008236037234 | 10
7202 [10x2-1/2" 2 | 008236036985 | 10 7480 |1/420 x 1-1/2" 1 | 008236037241 | 10
7206 [12x1" 2 | 008236036992 | 10 7486 |1/420x 2" 1 | 008236037258 | 10
7208 |12 x 1-1/4" 2 | 008236037005 | 10 7492 |1/420x 3" 2 | 008236037265 | 10
7300 [12x1-1/2" 2 | 008236037012 | 10
@ 7302 [12x2' 2 | 008236037029 | 10 Flat Head Slotted
o XL Pak Machine Screws
2 41827 |4 x1/2" 100 | 008236582819 | 10 BRASS
o 41828 |4 x3/4" 100 | 008236582826 | 5 ™
< 41829 |6 x1/2" 100 | 008236582833 | 10 0 Tem 5 Toossasos azs 10
» 42210 |6 x5/8 100 | 038902014985 | 3 7553 |6-32 x 3/4" 6 | 008236037333 | 10
2 j::g:’ 2 z ?/ 4 138 ggzzgzgg;zgg 2 7556 |6-32x1" 6 | 008236037340 | 10
P4 7559 |8-32 x 1/2" 6 | 008236037357 | 10
o 41832 |6 x1-1/4" 700 | 008236582864 | 5 R T PEYT = T oossaeoaraes | 1o
41833 _[6x 112 700 | 008236582871 | 5 e FETeT T Toosasoarari 10
41834 [8x172 100 | 008236582888 | 5 TRV =T oossasos ass | 1o
41835 |8x3/4" 100 | 008236582895 | 5 7571|1024 x 3/4" 4 | 008236037395 | 10
41836 |8x1" 100 | 008236582901 | 5 7574|1024 x1" 3 | 008236037401 | 10
41837 |8 x1-1/4" 100 | 008236582918 | 5 77 Ti00a > T oossasos ais | 1o
41838 |8 x1-1/2" 75 | 008236582925 | 5 7580 |1/4-20 x 172" 2 | 008236037425 | 10
41839 |8x2" 50 | 008236562932 | S 7583 | 1/4-20 x 3/4" 2 | 008236037432 | 10
42211 |8x2-1/2" 35 | 038902014962 | 3 7586 | 1/4-20x 1" 2 | 008236037449 | 10
42212 |8x 3" 25 | 038902014979 | 3 7589 |1/4x1-1/2" 2 | 008236037456 | 10
41840 |9 x3/4" 100 | 008236582949 | 5 7502 |1/420 x 2" 2 | 008236037463 | 10
21841 |9x1" 100 | 008236582956 | 5
41842 |9 x 1-1/4" 75 | 008236582963 | 5
41843 |9x2" 50 | 008236582970 | 5
41844 |[10xa/4" 100 | 008236582987 | 5 ;ﬁ;‘s Nuts |
41845 [10x1" 100 | 008236582994 | 5
41846 |10 x 1-1/4" 75 | 008236583007 | 5 EasiBak
41847 |10x1-1/2" 50 | 008236583014 | 5 7500 |6-82 8 | 008236087272 | 10
41848 |10x 2" 50 | 008236583021 | 5 7508  |8-32 7 | 008236037289 | 10
41849 | 10x 2-1/2" 25 | 008236583038 | 5 7506 |10-24 6 | 008236037296 | 10
42213 |10x3" 15 | 038902014986 | 3 7509 |10-32 6 | 008236037302 | 10
T RRETE =T oosoaesaa0ss | 5 7512 [1/420 3 | 008236037319 | 10
41851 |[12x1-1/4" 50 | 008236583052 | 5
1852 |[12x1-1/2" 50 | 008236583069 | 5 @
41853 |12x2" 25 | 008236583076 | 5 Flat Washers
2214 [12x2-1/2" 15 | 038902014993 | 3 BRASS
42215 |12x3" 15 | 038902015006 | 3
Fas-Pak
7600 | #6S 10 | 008236037470 | 10
7603 | #8S 10 | 008236037487 | 10
7606 | #10S 10 | 008236037494 | 10
7600 | #14S 5 | 008236037500 | 10
14 HILLMAN



Qty Master Qty Master

Item # Description Each UPC Pack Item # Description Each UPC Pack
42235 [14x1-1/2" 15 | 038902015204 | 3
. 42236 |14 x2" 10 | 038902015211 | 3
Finish Washers [ @ 42237 |14 x3" 10 | 038902015228 | 3
BRASS
';:;Pak o s e . Pan Head Square Drive @
618 T#8 5 37504 1 Sheet Metal Screws MW
7621 | #10 6 37531 10 STAINLESS STEEL
7624 | #12 5 37548 10 Fas-Pak
9355  |6x1/2" 008236404265 | 10

9356 6 x 3/4"

9357 6x1"
STAINLESS STEEL PRODUCTS 0358 |6x1-1/4"

9359 6x1-1/2"

008236404289 | 10
008236404302 | 10
008236404326 | 10
008236404340 | 10

5
5
5
5
5
Pan Head Phillips 9360 8x1/2" 3 008236404364 | 10
Sheet Metal Screws @ EWWW 9361 | 8x3/4" 3 | 008236404388 | 10
STAINLESS STEEL 9362 8x1" 3 008236404401 | 10
9363 8x1-1/4" 3 008236404425 | 10
Z::;Pak 6% 3/8" 5 008236038309 |10 9364 8x1-1/2" 3 008236404449 | 10
8056 6x1/2" 5 008236038316 | 10 9365 8x2 3 008236404463 | 10
5059 o x3/0" - 008236038323 | 10 9366 10x1/2" 3 008236404487 | 10
- 9367 10 x 3/4" 2 008236404500 | 10
8062 6x1 - & 008236038330 | 10 9368 10x1" 2 008236404524 | 10
8068 8x 1/2,, S 008236038347 | 10 9369 10 x 1-1/4" 2 008236404548 | 10
8071 8x 3{ S 008236038354 | 10 9372 10x2" 2 008236404586 | 10
:g;‘; S i 1 T 2 88:22282:23; 13 9373 12 x 3/4" 2 008236404609 | 10
8080 8x1-1/2" 3 008236038385 | 10 9374 12x1 2 008236404623 | 10
5086 10X /2" 3 008236038392 |10 9375 12 x 1-1/4" 2 008236404647 | 10
5089 10X 3/a 3 008236038208 | 10 9376 12 x 1-1/2" 2 008236404661 | 10 »
9377 12 x 2" 2 008236404685 | 10 =
8092 10x1" 2 008236038415 | 10 >
8095 10 x 1-1/4" 2 008236038422 | 10 . 2
8098 [10x1-1/2" 2 | 008236038439 | 10 Flat Head Phillips m
8101 |10x2" 2 | 008236038446 | 10 Sheet Metal Screws @
8110  |12x3/4" 2 | 008236038453 | 10 STAINLESS STEEL o
8113 12x1" 2 008236038460 | 10 Fas-Pak a|
8116 12 x 1-1/2" 2 008236038477 | 10 966958 |4 x 1/2" 14 | 008236517477 | 10 m
966954 |12 x 2" 2 008236517439 | 10 8140 6x3/8" 5 008236038484 | 10 L
966955 |14 x1" 3 008236517446 | 10 8143 6x1/2" 5 008236038491 | 10 ;
966956 |14 x 1-1/2" 3 008236517453 | 10 8146 6x3/4" 5 008236038507 | 10 o
966957 |14 x2" 2 008236517460 | 10 8149 6x1" 5 008236038514 | 10 g
XL Pak 8152 8 x 3/4" 5 008236038521 | 10 0
42121 [6x1/2" 60 008236942835 6 8155 8x1" 3 008236038538 | 10 ",,'
42122 [6x5/8" 60 | 008236942842 | 6 8158 8x1-1/4" 3 008236038545 | 10
42123 |6 x3/4" 60 008236942859 6 8161 8x1-1/2" 3 008236038552 | 10
42124 [6x1" 50 | 008236942866 | 3 8164 8x2" 2 008236038569 | 10
42226 6 x 1-1/4" 50 | 038902015112 | 3 8167 10 x 3/4" 2 008236038576 | 10
42227 [6x1-1/2" 50 | 038902015129 | 3 8170 10x1" 2 008236038583 | 10
42125 [8x1/2" 50 | 008236942873 | 6 8173 10 x 1-1/4" 2 008236038590 | 10
42228 [8x5/8" 60 | 038902015136 | 3 8176 10x1-1/2" 2 008236038606 | 10
42126 |8 x3/4" 60 008236942880 6 8179 10x2" 2 008236038613 | 10
42127 [8x1" 55 | 008236942897 | 3 8185 12x1" 2 008236038620 | 10
42128 [8x1-1/4" 45 | 008236942903 | 3 8188 12x1-1/2" 2 008236038637 | 10
42129 [8x1-1/2" 40 | 008236942910 | 3 8191 12x2" 2 008236038644 | 10
42130 [8x2" 30 | 008236942927 | 3 8194 12 x 2-1/2" 2 008236038651 | 10
42229 [8x2-1/2" 25 038902015143 3 XL Pak
42230 [8x3" 20 | 038902015150 | 3 42143 [6x1/2" 60 | 008236943054 | 6
42131 [10x1/2" 55 | 008236942934 | 6 42144  [6x5/8" 60 | 008236943061 6
42132 [10x3/4" 45 | 008236942941 6 42145  [6x3/4" 60 | 008236943078 | 6
42133 [10x1" 35 | 008236942958 3 42146 [6x1" 55 008236943085 3
42134 [10x1-1/4" 40 | 008236942965 | 3 42216 [6x1-1/4" 50 | 038902015013 | 3
42135 [10x1-1/2" 35 | 008236942972 | 3 42217 [6x1-1/2" 50 | 038902015020 | 3
42136 [10x2" 25 | 008236942089 | 3 42147 [8x1/2" 50 | 008236943092 | 6
42137 [10x2-1/2" 25 | 008236942996 | 3 42218 [8x5/8" 70 | 038902015037 | 3
42138 [10x 3" 20 | 008236943009 3 42148 [8x3/4" 65 008236943108 6
42139 [ 12x 3/4" 35 | 008236943016 | 6 42149 [8x1" 60 | 008236943115 | 3
42140 [12x1" 30 | 008236943023 | 3 42150 |8 x1-1/4" 50 | 008236943122 | 3
42231 [12x1-1/4" 30 | 038902015167 3 42151 [8x1-1/2" 35 008236943139 3
42141 [12x1-1/2" 30 | 008236943030 3 42152 [8x2" 30 | 008236943146 3
42142 [12x2" 25 | 008236943047 | 3 42219 [8x2-1/2" 25 | 038902015044 | 3
42232 [12x2-1/2" 20 | 038902015174 3 42220 [8x3" 20 | 038902015051 3
42233 [12x3" 15 | 038902015181 3 42153 (10 x 3/4" 50 | 008236943153 | 6
42234 [14x1" 20 | 038902015198 | 3 42154 [10x1" 40 | 008236943160 | 3
continued

HILLMAN 15



Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack
Flat Head Phillips Hex Washer Head Slotted
Sheet Metal Screws @ m Sheet Metal Screws @ W
STAINLESS STEEL STAINLESS STEEL
XL Pak, continued Fas-Pak
42155 |10 x 1-1/4" 35 | 008236943177 | 3 8294  [6x1/2" 5 | 008236038842 | 10
42156 |10 x 1-1/2" 35 | 008236943184 | 3 8297  |6x3/4" 5 | 008236038859 | 10
42157 [10x2" 30 | 008236943191 | 3 966959 |6 x 1" 5 | 008236517484 | 10
42158 | 10x2-1/2" 20 | 008236943207 | 3 8300 |[8x1/2" 5 | 008236038866 | 10
42159 [10x 3" 20 | 008236943214 | 3 8303 |8x3/4" 5 | 008236038873 | 10
42160 [12x1" 30 | 008236943221 | 3 8306 [8x1" 3 | 008236038880 | 10
42221 |12 x1-1/4" 25 | 038902015068 | 3 8309 [8x1-1/4" 3 | 008236038897 | 10
42161 |12 x1-1/2" 20 | 008236943238 | 3 966960 |8 x 1-1/2" 2 008236517491 | 10
42162 [12x2" 20 | 008236943245 | 3 966961 |10 x 1/2" 5 | 008236517507 | 10
42163 |12 x2-1/2" 20 | 008236943252 | 3 8315  [10x3/4" 2 008236038903 | 10
42164 |[12x3" 15 | 008236943269 | 3 8318 |[10x1 2 008236038910 | 10
42222 |14 x1-1/2" 20 | 038902015075 | 3 966962 |10 x 1-1/4" 2 008236517514 | 10
42223 [14x2" 15 | 038902015082 | 3 966963 |10 x 1-1/2" 2 008236517521 | 10
42224 [14x2-1/2" 10 | 038902015099 | 3 8321 12x1" 2 008236038927 | 10
42225 [14x3" 10 | 038902015105 | 3 XL Pak
42366 |6x1/2" 75 | 038902016546 | 3
Flat Head Square Drive 42367 6 x 3/4" 50 038902016553 3
Sheet Metal Screws @ m 42368 |6x1" 10 | 038902016560 | 3
STAINLESS STEEL 42369 |6x1-1/2" 35 | 038902016577 | 3
42370 [8x1/2" 50 | 038902016584 | 3
Fas-Pak -
9380 lox1/2" s Toos2aea04708 | 10 42371 |8 x3/ 50 | 038902016591 | 3
9381 oxa/a" = Toos23ea04722 | 70 42372 [8x1" " 40 | 038902016607 | 3
o e o om0 | [ e T
o 9383 |6 x1-1/4" 5 | 008236404760 | 10
5 9364 Tex11/2" = Toos236a04784 | 70 42375 |10x1/2" 40 | 038902016638 | 3
g 985 lax12" s Toosazeaoasor | 10 42376 |10 x 3/4" 35 | 038902016645 | 3
o« 9386 laxaa s T oos2aea04821 | 10 42377 [10x1" 30 | 038902016652 | 3
: 9388  |8x1-1/4" 3 | 008236404869 | 10 :ig;g 18 i ;;1/ ' 22 ggzzgzglggsz 2
w 9389  |8x1-1/2" 3 | 008236404883 | 10 -
lu_: 9391 ox /2" 3 T oos236404920 | 70 42380 [12x 3{ 20 | 038902016683 | 3
@ 9392  [10x3/4" 3 | 008236404944 | 10 42381 |12x1 . 15 | 038902016690 | 3
s [ om0 | [ e 5 Lol
l._lll 9394  [10x1-1/4" 2 008236404982 | 10
> 9395  [10x1-1/2" 2 008236405002 | 10 o )
= 9397 |10x2" 5 | 008236405026 | 10 Modified Truss Head Square Drive @
r 9398 [12x3/4" 2 | 008236405040 | 10 Sheet Metal Screws
9399 12x1" 2 008236405064 | 10 STAINLESS STEEL
9402 [12x2" 2 008236405248 | 10 XL Pak
48013 [10x1" 50 | 008236940237 | 5

Oval Head Phillips
Sheet Metal Screws

Pan Head Phillips

@ =

STAINLESS STEEL Self Drilling Screws
Fas-Pak STAINLESS STEEL
8215 |4x1/2" 5 | 008236038668 | 10 XL Pak
8221 |6x3/8" 5 | 008236038675 | 10 42451 |8-18x 1/2" 50 | 038902017307 | 3
8224 |6x1/2" 5 | 008236038682 | 10 42452 |8-18x 3/4" 40 | 038902017314 | 3
8227 |6x3/4" 5 | 008236038699 | 10 42453 |8-18x1" 30 | 038902017369 | 3
8230  |6x1" 3 | 008236038705 | 10 42454 |10-16 x 3/4" 20 | 038902017321 | 3
8236 |8x3/4" 5 | 008236038712 | 10 42455 |10-16 x1" 20 | 038902017338 | 3
8239 |8x1" 3 | 008236088729 | 10 42456 |10-16 x 1-1/2" 10 | 088902017345 | 3
8242 |8x1-1/4" 3 | 008236038736 | 10
8245 | 8X1-1/2" 3 | 008236038743 | 10
8248 |8x2" 2 | 008236038750 | 10
8252 |10x3/4" 2 | 008236038767 | 10
8255 [10x1" 2 | 008236038774 | 10
8258 | 10x 1-1/4" 2 |oo0s236038781 | 10
8261 [10x1-1/2" 2 | 008236038798 | 10
8264 |10x2" 2 | 008236038804 | 10
8270 |12x1" 2 | 008236038811 | 10
8273 |12 x1-1/2" 2 | 008236038828 | 10
8276 |12x2" 2 | 008236038835 | 10

16 HILLMAN




Item # Description

Qty Master
Each UPC Pack

Item # Description

Master
UPC Pack

Hex Washer Head Slotted Flat Head Phillips
Self Drilling Screws @ W Machine Screws
STAINLESS STEEL STAINLESS STEEL
XL Pak Fas-Pak
42438 |8-18x 172" 50 ] 038902017185 | 3 8439 | 6-32x 172" 4 | 008236039115 | 10
42439 | 818 x 3/4" 40 | 038902017192 | 3 8442 | 6-32x 3/4" 4 | 008236039122 | 10
42440 |8-18x1" 30 | 038902017208 | 3 8445 | 6-32x1" 4 | 008236039139 | 10
42441 |10-16x 172" 30 | 038902017215 | 3 8451 | 8-32x1/2" 4 | 008236039146 | 10
42442 |10-16 x /4" 20 | 038902017222 | 3 8454 | 8-32 X 3/4" 4 | 008236039153 | 10
42443 |10-16x1" 20 | 038902017239 | 3 8457 | 832x1" 4 | 008236039160 | 10
42444 |10-16x3" 20 | 038902017246 | 3 8460 | 8-32x1-172" 4 | 008236039177 | 10
12445 | 1214 x 374" 10| 038902017253 | 3 8466 | 1024 x 3/4" 3 | 008236039184 | 10
42446 |12-14x1" 10 | 038902017260 | 3 8469 | 1024 x1" 3 | 008236039191 | 10
2447|1214 x1-172" 10| 038902017277 | 3 8472 | 1024 x 1-1/2" 2 | 008236039207 | 10
2448 |1214x2" 10 | 038902017284 | 3 8475 | 1024x2" 2 | 008236039214 | 10
42449 | 1/414 x 374" 10 | 038902017291 | 3 8478 | 1024 x 2-1/2" 2 | 008236039221 | 10
42450 | 1/414x1" 10 | 038902017352 | 3 8499 | 1/4-20 x 3/4" 2 | 008236039238 | 10
8502 | 1/420 x 1" 2 | 008236039245 | 10
Pan Head Phillips 8505 | 1/4-20 x 1-1/2" 2 | 008236039252 | 10
Machine Screws 8508 | 1/420 x 2" 2 | 008236039269 | 10
STAINLESS STEEL 8511 | 1/420 x 2-1/2" 2 | 008236039276 | 10
Par 8514 | 1/420x 3" 2 | 008236039283 | 10
8360 | 6-32x 172" 4 | 008236038934 | 10 2 EL
soes Tooaa T oosa30008941 | 10 42303 | 6-32 x 3/4" 75 | 038902015884 | 3
soee oo + T oosa36008958 10 42304 | 6:32x1" 75 | 038902015891 | 3
seeosr Tomr =T oosssee 538 10 42305 | 6-32x1-172" 50 | 038202015907 | 3
8372 |8-32x1/2" 4 | 008236038965 | 10 42306 | 6-32x2" 40 | 088902015914 | 3
T FeerT +Toosa3e00a97a 10 42307 | 8-32x 172" 75 | 038902015921 | 3
e oo +Toosa30058980 10 42308 | 8-32 x /4" 60 | 038202015938 | 3
8381 |8-32x1-1/2" 4 | 008236038996 | 10 42309 | 8-32x 1" 50 | 038902015945 ] 3
sacoss Too2.2" +Toosasermas 1o 42310 | 8-32 x 1-1/4" 40 | 038902015952 | 3
i Erey Ry s Toosa3039009 |10 2311 | 8-32x1-172" 40 | 038902015969 | 3
8390 | 10-24x 3/4" 3 | 008236039016 | 10 42312 | 8-32x2" 30 | 038902015976 | 3
TR ETEIPEC s Toosa36089023 10 42313 | 8-32x2-172" 25 | 038902015983 | 3
8396 | 10-24x 1-1/2" 2 | 008236032030 | 10 42314 | 8-32x3" 15 | 038902015990 | 3
R EPEEr > T ooasasoacoar |10 42315 | 1024 x 1/2" 60 | 038902016003 | 3
si1s s sonan T ooasaaossoss 1o 12316 | 1024 x 3/4" 50 | 038902016010 | 3
TR EP T > Toosa36039061 10 42317 | 1024 x1" 50 | 038202016027 | 3
a2 [1/420x1-1/2" 2 | 008236039078 | 10 42318 | 10-24 x 1-1/4" 50 | 038902016034 | 3
e E T T ooasaaosoae | 1o 12319 | 1024 x 1-1/2" 40 | 038902016058 | 3
8430 | 1/4-20 x 2-1/2" 2 | 008236032022 | 10 42320 | 1024 x2" 30 | 038902016065 | 3
i35 a20:5 > T ooasaaoatos |0 12321 | 1024 x2-1/2" 25 | 038902016072 | 3
XL Pk 2322 | 1024x3" 15 | 038902016089 | 3
oore Toamram T osssosoiseoo T 3 42323 | 1/420x 1/2" 40 | 038902016096 | 3
e e T oaasosoieer T 3 42324 | 1/420 x 3/4" 30 | 038902016102 | 3
2277|632 x11/2" 50 | 038902015624 | 3 42825 | 1/4-20x 1" 25 |088902016119 ] 3
o578 Tom2.2" 20 Tosssosoizest 3 42326 | 1/4-20 x 1-1/4" 25 | 038902016126 | 3
o575 800 < 17 T oaasos01eeas T3 2327 | 1/420 x 112" 20 | 038902016133 | 3
o080 o023/ R e B 12328 | 1/420x2" 15 | 038902016140 | 3
TR TR 20 T osasosoizees ™ 3 42329 | 1/420 x 2-1/2" 15 | 038902016157 | 3
42082 | 8-32x 1-1/4" 40 | 038902015679 | 3 42330 | 1/4-20x3" 10 | 038902016164 | 3
12283 | 832 x 1-1/2" 40 | 038902015686 | 3
42084 |8-32x2" 30 | 038202015693 | 3
12285 | 832 x 2-1/2" 25 | 038902015709 | 3
42286 |832x3" 15 | 038902015716 | 3
42087 | 10-24x 172" 60 | 038902015723 | 3
42288 | 10-24 x /4" 50 | 038902015730 | 3
12289 |10-24x1" 50 | 038902015747 | 3
42290 | 10-24 x 1-1/4" 50 | 038902015754 | 3
12201 |10-24 x 1-172" 40 | 038002015761 | 3
12202 |10-24x2" 30 | 038902015778 | 3
42293 | 10-24 x 2-172" 25 | 038902015785 | 3
42294 |10-24x 3" 15 | 038902015792 | 3
42295 | 1/4-20 x 172" 40 | 038902015808 | 3
42296 | 1/4-20 x 374" 30 | 038902015815 | 3
42207 | 1/4-20x1" 25 | 038902015822 | 3
12298 | 1/4-20 x 1-174" 25 | 038902015839 | 3
42299 | 1/4-20 x 1-172" 20 | 038902015846 | 3
42300 | 1/4-20x2" 15 | 038902015853 | 3
12301 | 1/4-20 x 2-172" 15 | 038902015860 | 3
42302 | 1/4-20x 3" 10 | 038902015877 | 3
HILLMAN

4
2
=
r
m
[
(7]
(/]
-
m
m
-
v
3
(=)
[~}
c
(1)
-]
®»

17



Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack
Oval Head Phillips
Machine Screws Nylon Insert Lock Nuts
STAINLESS STEEL STAINLESS STEEL
Fas-Pak Fas-Pak
8520 |6-32x 1/2" 4 | 008236039290 | 10 8730|632 > T008236039535 | 10
8523 | 6-32 x 3/4" 4 | 008236039306 | 10 a3 |32 > 008236039522 | 10
8506  |6-32x 1" 4 | 008236039313 | 10 5736 1022 > 008236039559 | 10
8532  |8-32x 1/2" 4 | 008236039320 | 10 a722  |1/a20 > To0s236039566 | 10
8535 |8-32x 3/4" 4 | 008236039337 | 10 8745 |5/16-18 2 | 008236039573 | 10
8538  |8-32x1" 4 | 008236039344 | 10 8748 | 3/8-16 2 | 008236039580 | 10
8541  |8-32x 1-1/2" 4 | 008236039351 | 10 SN
8547 | 10-24x 1/2" 3 | 008236039368 | 10 12423 632 20 Tossooz017062 | 3
8550 | 10-24 x 3/4" 3 | 008236039375 | 10 10165 |32 20 Tosssoz017220 | 3
8553  |10-24x1" 3 | 008236039382 | 10 10125 |10-32 20 | o3ss02017079 | 3
8556 | 10-24 x 1-1/2" 2 | 008236039399 | 10 12126 1022 20 Tosso02017086 | 3
8559  |10-24x2" 2 | 008236039405 | 10 42427 | 1/4-20 15 | 038902017093 | 3
8580 | 1/4x3/4" 2 | 008236039412 | 10 42428 | 5/16-18 15 | 038902017109 | 3
8583 | 1/4x1" 2 | 008236039429 | 10 42429 | 3/8-16 15 | 038902017116 | 3
8586 | 1/4x 1-1/2" 2 | 008236039436 | 10  TYTYRREVER 10 Tosssoz0i7237 | 3
8580 | 1/4x2" 2 | 008236039443 | 10
8592 |1/4x2-1/2" 2 | 008236039450 | 10
8595 | 1/4x3" 2 | 008236039467 | 10 ) )
Wing Nuts
Hex Cap Screws @ S::SIN;:: S STEEL
STAINLESS STEEL
8754 | 8-32 2 | 008236039597 | 10
® ';;:;Pak YETFENT 8757 | 1024 2 | 008236089603 | 10
[T} 20 x 1/ 2 | 008236039832 | 10 8763 | 1/4-20 1 | 008236039670 | 10
5 8906 | 1/4-20 x 3/4" 2 | 008236039849 | 10 XL Pak
g 8909 [1/4-20x1" 2 | 008236039856 | 10 i o 0 Tosseooiiza | 3
: i me R o
= 8918 | 1/4-20 x 2-1/2" 1 | 008236039887 | 10 42433 11032 10 | 038902017147} 3
w - 42434 | 10-24 10 | 038902017154 | 3
u 8921 [1/4-20x3" _ 1 | 008236039894 | 10 20155 T1/a20 s Tossaoaoirier | 3
s 8927 [5/16-18x3/ 1 | 008236039900 | 10 20466 [5/16.18 T ossooa0t7aaa |3
@ 8930 [5/6-18x1" 1 | 008236039917 | 10 a5 316 & Tossooa0iris | 3
@ 8933 | 5/16-18 x 1-1/ 1 | 008236039924 | 10
= 8936  |5/16-18x 2" 1 | 008236039931 | 10
z 8939 |5/16-18 x 2-1/2" 1 | 008236039948 | 10
ﬁ 8942  |5/16-18x3" 1 008236039955 | 10 Acorn (Cap) Nuts
* 8948 | 3/8-16x1" 1 008236039962 | 10 STAINLESS STEEL
8951  |3/8-16x 1-1/2" 1 | 008236039979 | 10 Fas-Pak
8954  |3/8-16x 2" 1 | 008236039986 | 10 8772 | 8-32 1 | 008236039627 | 10
8957 | 3/8-16x 2-1/2" 1 | 008236039993 | 10 8775 | 10-24 1 | 008236039634 | 10
8960  |3/8-16x 3" 1 | 008236040005 | 10 8781 1/4-20 1 | 008236039641 | 10
Flat Washers e @
Hex Nuts STAINLESS STEEL
STAINLESS STEEL Fas-Pak
Fas-Pak 8803 | #6 8 | 008236039658 | 10
8703  |6-32 5 | 008236039474 | 10 8806 | #8 8 | 008236039665 | 10
8706 |8-32 5 | 008236039481 | 10 8809 | #10 8 | 008236039672 | 10
8700 | 10-24 5 | 008236039498 | 10 8812 | 1/4" 8 | 008236039689 | 10
8715 | 1/4-20 3 | 008236039504 | 10 8815 | 5/16" 5 | 008236039696 | 10
8718 | 41774 3 | 008236039511 | 10 8818 | 3/8" 3 | 008236039702 | 10
8721 | 40975 2 | 008236039528 | 10 8821 1/2" 2 | 008236039719 | 10
XL Pak XL Pak
42354 |6-32 100 | 038902016416 | 3 42331 | #6 100 | 038902016171 | 3
42355 |8-32 100 | 038902016430 | 3 42332 | #8 100 | 038902016188 | 3
42356 | 10-24 100 | 038902016447 | 3 42333 | #10 100 | 038902016195 | 3
42357 | 1/4-20 50 | 038902016454 | 3 42334 | 1/4" 75 | 038902016201 | 3
42358 | 5/16-18 40 | 038902016461 | 3 42335 | 5/16" 50 | 038902016218 | 3
42359 |3/8-16 25 | 038902016478 | 3 42336 | 3/8" 50 | 038902016225 | 3
42360 | 1/2-13 20 | 038902016485 | 3 42337 | 1/2" 25 | 038902016249 | 3

18 HILLMAN




Qty Master Qty Master

Item # Description Each UPC Pack Item # Description Each UPC Pack
Fender Washers e METRIC PRODUCTS
STAINLESS STEEL
XL Pak
42345 |[5/32 x 7/8" 25 | 038902016324 | 3
42346 [10x 1" 25 | 038902016331 | 3 Hex Nuts
42347 [10x 1-1/4" 20 | 038902016348 | 3 e
42348 [1/4x1" 20 | 038902016355 | 3 6250 |va-70 20 | 008236962918 | 5
42349 | 1/4x1-1/4" 15 | 038902016362 | 3 a5 M5-80 15 T 0oso3606295 | 5
42350 | 1/4x1-1/2" 15 | 038902016379 | 3 5152 | M6-1.00 12 T oos236962932 | 5
42351 | 5/16 x 1-1/2" 10 | 038902016386 | 3 o155 | M8125 9 008236962049 | 5
42352 |3/8x1-1/2" 10 | 038902016393 | 3 o152 |M10-150 6 008236962956 | &5
42353 |1/2x2" 7| 038902016409 | 3 6455  |M12-1.75 3 | 008236962963 | 5
Lock Washers @
STAINLESS STEEL
Eas:halg Nylon Insert Lock Nuts
8827 | #6 8 | 008236039726 | 10
8830 | #8 8 | 008236039733 | 10 Fas-Pak
ss33 T#10 s Toos2a6039720 | 70 6456 | M4-.70 10 | 008236962970 | 5
s 1a s Toos236039757 T 10 6457 | M5-.80 10 | 008236962987 | 5
s530 15716 =T oos236039764 10 6458 | M6-1.00 5 | 008236962994 | 5
TR s Tooszac039771 | 70 6459 | M8-1.25 4 | 008236963007 | 5
sis 12 > T oos236039788 10 6460 |M10-15 3 | 008236963014 | 5
6461 M12-1.75 2 | 008236963021 | 5
XL Pak
42338 | #6 100 | 038902016256 | 3
42339 |#8 100 | 038902016263 | 3 o @
42340 | #10 100 | 038902016270 | 3 Flat Washers
42341 | 1/4 75 | 038902016287 | 3 Fas-Pak
42342 |5/16 50 | 038902016294 | 3 6462 |M4 30 | 008236963038 | 5 2
42343 |3/8 50 | 038902016300 | 3 6463 |M5 25 | 008236963045 | 5 m
42344 |12 25 | 038902016317 | 3 6464 |M6 20 | 008236963052 | 5 x
6465 |M8 12 | 008236963069 | 5 7]
oL 6466 | M10 8 | 008236963076 | 5 v
Finish Washers [ @ 6467 | M12 5 | 008236963083 | 5 g
STAINLESS STEEL o
Fas-Pak g
8851 | #6 8 | 008236039795 | 10 . @ =
8854 | #8 8 | 008236039801 | 10 Split Lock Washers o
8857 #10 8 008236039818 | 10 Fas-Pak
8860 | #12 6 | 008236039825 | 10 6468 | M4 30 | 008236963090 | 5
966967 |#14 4 008236517569 | 10 6469 M5 25 | 008236963106 | S
XL Pak 6470 |M6 20 | 008236963113 | 5
42361 |#6 50 | 038902016492 | 3 6471 M8 12 | 008236963120 | 5
42362 | #8 50 | 038902016508 | 3 6472 M10 8 008236963137 | 5
42363 | #10 50 | 038902016515 | 3 6473 M12 5 008236963144 | 5
42364 | #12 50 | 038902016522 | 3
42365 | #14 50 | 038902016539 | 3
Pan Philips @ (o
Machine Screws
Fas-Pak
6474 |M4-70x 12 15 | 008236963151 | 5
6475 |M4-70x20 15 | 008236963168 | 5
6476 |M4-70x25 12 | 008236963175 | 5
6477 |M4-70x 30 12 | 008236963182 | 5
6478 |M4-70x 40 10 | 008236963199 | 5
6479 | M4-70x 50 8 | 008236963205 | 5
6480 | M5-.80x 10 15 | 008236963212 | 5
6481 M5-.80 x 16 12 | 008236963229 | 5
6482 | M5-.80x 20 10 | 008236963236 | 5
6483 | M5-.80x 25 8 | 008236963243 | 5
6484 | M5-.80x 30 8 | 008236963250 | 5
6485 | M5-.80x 40 6 | 008236963267 | 5
6486 | M6-1.00 x 12 10 | 008236963274 | 5
6487 |M6-1.00x 16 10 | 008236963281 | 5
6488 | M6-1.00 x 20 8 | 008236963298 | 5
6489 | M6-1.00 x 25 6 | 008236963304 | 5
6490 | M6-1.00x 30 6 | 008236963311 | 5
6491 M6-1.00 x 40 4 | 008236963328 | 5

HILLMAN 19



Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack
Hex Cap Screws Cotter Pins z
Fas-Pak Fas-Pak
6492 | M6-1.00 x 10 8 | 008236963335 | 5 9083 1/16x1" 20 | 008236388923 | 10
6493 | M6-1.00x 16 8 | 008236963342 | 5 9084 3/32 x 1" 20 | 008236388930 | 10
6494 | M6-1.00 x 20 6 | 008236963359 | 5 9085 3/32 x 1-1/2" 20 | 008236388947 | 10
6495 | M6-1.00 x 25 4 | 008236963366 | 5 9086 3/32 x 2" 10 | 008236388954 | 10
6496 | M6-1.00 x 30 4 | 008236963373 | 5 9087 1/8x1" 10 | 008236388961 | 10
6497 | M6-1.00 x 45 2 | 008236963380 | 5 9088 1/8 x 1-1/2" 10 | 008236388978 | 10
6498 | M8-1.25x 16 4 | 008236963397 | 5 9089 1/8x 2" 10 | 008236388985 | 10
6499 | MB8-1.25x 20 4 | 008236963403 | 5 9090 5/32x1" 10 | 008236388992 | 10
6500 |MB8-1.25x25 3 | 008236963410 | 5 9091 5/32 x 2" 5 | 008236389005 | 10
6501 M8-1.25 x 30 3 | 008236963427 | 5 9092 3/16 x 1" 5 | 008236389012 | 10
6502 | MB8-1.25x 50 2 | 008236963434 | 5 9093 3/16 x 2" 5 | 008236389029 | 10
6503 | M8-1.25 x 60 2 | 008236963441 | 5 XL Pak
6504 | M10-1.50x 20 3 | 008236963458 | 3 41931 [1/16x 1" 100 | 008236643671 | 10
6505 | M10-1.50 x 25 3 | 008236963465 | 3 41932 |1/8x1-1/2" 60 | 008236643688 | 5
6506 | M10-1.50 x 30 3 | 008236963472 | 3 41933 |5/32 x 1-1/2" 50 | 008236644951 | 5
6507 | M10-1.50 x 40 2 | 008236963489 | 3 41934 |3/16x2" 40 | 008236643695 | 5
6508 | M10-1.50 x 50 2 | 008236963496 | 3 41935 |5/16 x 3" 7 | 008236643701 | 5
6509 | M10-1.50 x 60 2 | 008236963502 | 3
|
Deck-Tiedown™ '
XL Pak
Plaster Washers 42088 | Deck Tiedown Clips | 4 [oos236868319 [ 5
Fas-Pak
9745 | Plaster Washers 10 | 008236764574 | 10
XL Pak

41994 | Plaster Washers

25 | 008236764581 | 10

License Plate Screws

('
=
(2}
=
=]
o
©
o
e
©
=
w
=

0

® Use existing fasteners to create your own custom knob

XL Pak

Fas-Pak

9031 | License Bolt Sets

N

[ 008236387018 | 10

Hanger Bolts

Fas-Pak

9069 8-32x1"

008236389036 | 10

9070 10-24 x 1-1/2"

008236389043 | 10

9071 10-24 x2"

008236389050 10

9072 1/4 x 2"

008236389067 | 10

9073 1/4 x 2-1/2"

008236389074 | 10

9074 1/4 x 3"

008236389081 10

9075 5/16 x 2"

008236389098 10

9076 5/16 x 3"

008236389104 | 10

9077 3/8 x 3"

NDINININDININB A

008236389111 10

Dowel Screws

ARRRRR Y

Fas-Pak

9078 1/4 x1-1/2"

008236389128 10

9079 1/4 x 2"

008236389135 | 10

9080 5/16 x 2"

008236389142 | 10

9081 5/16 x 2-1/2"

008236389159 10

9082 5/16 x 3"

NN NN N

008236389166 | 10

20 HILLMAN

42089 Star 1-3/4" accepts 1/4" 2 008236928266 4
42090 |[Star 1-3/4" accepts 5/16" 2 008236928273 4
42091 |[Star 1-3/4" accepts 3/8" 2 008236928280 4
42092 Star 2-1/4" accepts 1/4" 2 008236928297 4
42093 | Star 2-1/4" accepts 5/16" 2 008236928303 4
42094 |[Star 2-1/4" accepts 3/8" 2 008236928310 4
42095 Star 2-1/4" accepts M6 2 008236928327 4
42096 | Star 2-1/4" accepts M8 2 008236928334 4
42097 | Star 2-1/4" accepts M10 2 008236928341 4
42098 3-Prong 1-3/4" accepts 1/4" 2 008236928358 4
42099 | Royal 3-Prong 2" accepts 5/16" 2 008236928365 4
42100 [T-Knob 2" accepts 1/4" 2 008236928372 4
Ball
42101 1-3/8" accepts 1/4", 5/16", M6, M8 2 008236928488 4
Ball
42102 1-1/2" accepts 5/16" 3/8" M8, M10 2 008236928389 4
Ball
42103 | {7g5/gn accepts 3/8", 1/2" M10, M12 2 008236928396 4
&
'c'\\ i
SwitchLock® e
Flagged
42184 | SwitchLock 2 008236141856 24

Note: Switchlock Display item #991193




Qty Master Qty Master

Item # Description Each UPC Pack Item # Description Each UPC Pack
e
f = O30
Jo—

GJ_ ‘:;

i U Reop o PROJECT CENTER - WOOD
Vertigo™

Threaded Rod Hanging System

Phillips Sharp Point

Wood Vertical Trim screws @
Fas-Pak #1 PHILLIPS DRIVE E
48291 [1/4'x 3" Rod size: 3/8" 4 | 008236992922 | 6 XL Pak
XL Pak . 41595 |6 x 1-5/8" 25 | 008236395280 | 5
48288 [ 1/4"x 2" Rod size: 1/4" 4 | 008236992892 | 3 11596 Toxoa/a > T 008236395303 |5
48289 |[1/4"x 1" Rod size: 3/8" 4 | 008236992908 | 3
48290 |[1/4"x 2" Rod size: 3/8" 4 | 008236992915 | 3 . .
48202 [ 1/4'x 4" Rod size: 3/8" 4 | 008236992939 | 2 Square Drive Sharp Point
48293 |5/16"x 2-1/2"  Rod size: 1/2" 4 | 008236992946 | 3 Trim Screws @ D:mmmxm%
Wood Side #1 SQUARE DRIVE
Fas-Pak XL Pak
48297 [3/8"'x2-1/2"  Rod size: 3/8" 4 008236992885 | 6 41904 |6x1" 100 | 008236627619 | 5
XL Pak 41905 |6 x 1-5/8" 75 | 008236627626 | 5
48294 [1/4"x 1" Rod size: 1/4" 4 008236992953 [ 3 41906 |6 x2-1/4" 50 | 008236627633 | 5
48295 [1/4"'x 1" Rod size: 3/8" 4 008236992960 3 41907 [8x3" 50 | 008236627640 5
48296 | 1/4"x 2" Rod size: 3/8" 4 | 008236992878 | 3
Concrete Vertical Square Drive Self Drilling Point
XL Pak Trim Screws @ [ e e = v
48298 |[1/4"'x1-1/4"  Rod size: 1/4" 4 | 008236992977 | 3 ZINC PLATED (#1 SQUARE DRIVE) g
48299 [1/4'x1-1/2"  Rod size: 3/8" 4 | 008236992984 | 3 XL Pak <
XXL Pak 41908 |6 x 1-5/8" 75 | 008236631715 | 5 3
48300 |3/8"'x2-3/4"  Rod size: 1/2" | 4 ]oos23s992091 | 2 41909 |6 x2-1/a" 50 | 008236627657 | 5 -1
i~ POWER PRO 5
. =
. ™ Star Drive )
Strip-Out Trim Screws <
Eardsd BRONZE CERAMIC COATED o
707044 | Strip-Out 1/4 oz Tube | 1 Joos236796865 | 5 INCLUDES FREE BIT IN EACH PACK 8
XL Pak
41959 [8x1-5/8" 75 | 008236731132 | 5
41960 |8 x 2-1/2" 50 | 008236731149 | 5
% 41961 |8x3" 50 | 008236731156 | 5
48095 |9x5" 25 | 008236941739 | 3
Shelf Pins
Fas-Pak Square Drive Type 17 Cut Point
882368 | 5mm Metal Spoon — Brass Plated 8 | 008236792805 [ 7 Painted Head @ mmmw
882369 | 5mm Metal Square — Brass Plated 8 008236792812 7 Trim screws ;._g:#;
882370 | 5mm Plastic Square Euro — Brown 8 008236725933 7 1000 HOUR SILVER CERAMIC COAT LUMBER.
882371 | 1/4" Metal Flat Spoon — Brass Plated 8 008236725940 7 XL Pak
882372 | 5mm Plastic Square Euro — White 8 008236725957 7 706658 |7 x 1-5/8" White 50 008236940022 5
882373 | 5mm Plastic Square Euro - Clear 8 008236725964 7 47993 7 % 2-1/4" White 35 008236940039 5
882374 | 1/4" Metal Square — Brass Plated 8 008236725971 7 47994 7x3" White 25 008236940046 5
B e Square Euro - 47995 |7 x1-5/8" Brown 50 | 008236940053 | 5
882375 | Clear; 5mm Plastic Square Euro - White; 20 008236725988 7 47996 7 x 2-1/4" Brown 35 008236940060 5
1/4" Plastic Square - Brown; 1/4" Metal -
Square - Brass Plated 47997 |[7x3 Brown 25 | 008236940077 | 5
47998 |7 x 1-5/8" Gray 50 | 008236940084 | 5
‘ 47999 |7 x 2-1/4" Gray 35 | 008236940091 | 5
Acoustical Lag Driver @:@:‘ 48000 |7 x3" Gray 25 | 008236940107 | 5
48001 |7 x1-5/8" Tan 50 | 008236940114 | 5
Eas:Rak 48002 |7 x 2-1/4" Tan 35 | 008236940121 | 5
48166 | Acoustical Driver [ 1 Joos23s984712 | 5 28005 17x3° Tan 25 Toos236940138 | 5

HILLMAN 21



=]
(=}
o
E

1
-4
w
=
=
w
(3
=
(2]
]
=
o
©
o

22

Qty Master
Item # Description Each UPC Pack

Qty Master
Item # Description Each UPC Pack

Flat Head Phillips
Cabinet Screws

@ P=vrrrere

Flat Head Dual Torq Coarse Thread
Deck Screws

@ P

ZINC & YELLOW DICHROMATE GALVANIZED B
XL Pak CONFORMS TO ASTM B695 LUMBER,
41910 |8 x1-1/4" 50 | 008236627664 | 5 XL Pak
41911 |8 x1-1/2" 50 | 008236627671 | 5 41919 [8x1" 100 | 008236627756 | 5
41920 [8x1-1/4" 75 | 008236627763 | 5
Pan Head Phillips 41921 [8x1-3/4" 75 | 008236627770 | 5
Cabinet Mounting Screws () (J——swwwp-  [s22 [oxr 50| ooseasearrer |
FINE THREAD 41923 |8x2-1/2 50 | 008236627794 | 5
41924 [8x3" 50 | 008236627800 | 5
XL Pak 41925 |10 x3-1/2" 25 | 008236627817 | 5
41936 |8 x2-3/8" | 35 [008236649260 | 5 uka
Truss Head Phillips 8 ey at Head Dual Torg ®
Cabinet Mounting Screws \ DR DeckPlus™ Screws gas
COARSE THREAD 1000 HOUR GREEN CERAMIC COATED LUMBER,
XL Pak )::-gzgk 6 x 1-5/8" 75 | 008236627824 | 5
41937 [10x2-1/2" | 25 [o08236649277 [ 5 X
41927 |7x2" 50 | 008236627831 | 5
. 41928 [8x2-1/2" 50 | 008236627848 | 5
Bugle Head Phillips 41929 |8 x3" 50 | 008236627879 | 5
All Purpose Interior 41930 |10 x3-1/2" 25 | 008236627886 | 5
Wood Screws ) [Frerrerrrene
ZINC & YELLOW DICHROMATE
XL Pak CTIMBERT/TE s
40884 [6x1" 100 | 00823646502 | 5 - e
40886 |6 x 1-1/4" 100 | 00823646519 | 5 TimberTite H
40888 |6 x1-5/8" 75 | 00823646526 | 5 The All in One Wood Fastener.
. * Replaces spikes and rebar. TREATED
o 2 fommes |51 sy s
Xe 500 HOUR CERAMIC COAT, REMOVABLE AND REUSABLE
40894 |8x3" 50 | 00823646557 | 5
Carded
47986 [1/4x2-1/2" 10 | 008236923513 | 3
Flat Head Dual Torq 47804 |1/4x 4" 10 | 008236696110 | 3
All Purpose Interior @ 47805 [1/4x6" 10 008236696127 3
&ZMWWW 47806 [1/4x8" 10 008236696134 3
Wood Screws 47807 _|1/4x10" 10| 008236696141 | 3

ZINC & YELLOW DICHROMATE

Note: Each blister card includes 10 screws and one 5/16 hex driver.

XL Pak
41912 |8 x1" 100 | 008236627688 | 5 .
41913 | 8x1-1/4" 75 | 008236627695 | 5 Square Drive
41914 | 8x1-3/4" 75 | 008236627701 | 5 Composite Wood Screws
41915 [8x2" 50 | 008236627718 | 5 1990 HOUR CERANIC COATED ]
41916 | 8x2-1/2" 50 | 008236627725 | 5
41917 |8x3" 50 | 008236627732 | 5 XL Pak
21918 110 x3172" 25 Toosasee2r7a9 | & 41996 |10x2-1/2"  Gray 25 | 008236774733 | 5
42000 |10x3" Gray 20 | 008236774818 | 5
- 41997 |10x21/2"  Tan 25 | 008236774757 | 5
Bugle Head Phillips Coarse Thread 22000 110 x3" o 20 Toosass 7483z | =
Deck Screws @® Wﬂmm“ 41998 [10x2-1/2" __ Redwood 25 | 008236774771 | 5
GALVANIZED ;:ﬁf*" 42002 [10x3" Redwood 20 | 008236774856 | 5
CONFORMS TO ASTM B695 LUMBER: 41999 |10x2-1/2"  Stainless Steel 25 | 008236774795 | 5
XL Pak 42003 |10x3" Stainless Steel 20 | 008236774870 | 5
40922 |6x1 100 | 008236046649 | 5
40924 |6x1-1/4 100 | 008236046656 | 5
40926 |6 x1-5/8 75 | 008236046663 | 5 Flat Head Square Drive @
40928 [6x2 50 | 008236046670 | 5 Deck Screws e
40932 |8x2-1/2 50 | 008236046687 | 5 STAINLESS STEEL LUMBER,
40934 |8x3 50 | 008236046694 | 5 XL Pak
41597 |8 x 1-1/4" 25 | 008236395143 | 5
Bugle Head Square Drive Coarse Thread 41598  |8x1-5/8" 25 | 008236395181 | 5
Deck Screws @ [tﬁmmmm 41599 |8x2" 25 | 008236395204 | 5
GALVANIZED Erm— 41600 [10x2-1/2" 25 008236395228 5
CONFORMS TO ASTM B695 ThRaTED 41601 |10x3" 25 | 008236395242 | 5
XL Pak 41602 |10 x3-1/2" 25 | 008236395266 | 5
41788 |6 x1-1/4" 50 | 008236413595 | 5
41789 | 6x1-5/8" 50 | 008236413618 | 5
41790 |6x2" 50 | 008236413632 | 5
41791 |8x2-1/2" 50 | 008236413656 | 5
41792 |8x3" 50 | 008236413670 | 5
HILLMAN



Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack

PROJECT CENTER - METAL

Square Drive Self Drilling Point
Trim Screws

STAILESS STEEL Pan Head Phillips
XL Pak Self Drilling Screws
41938 |7 x1-5/8" 50 | 008236689730 | 5 ZINC PLATED
41939 |7 x2-1/4" 35 | 008236689747 | 5 Fas-Pak
41940 [7x3" 25 | 008236689754 | 5 7860 |6x1/2" 4 | 008236038156 | 10
7863 |8 x1/2" 4 | 008236038163 | 10
7866 |8 x 3/4" 4 | 008236038170 | 10
4="POWER PRO >~ 7869 |8x1" 4 | 008236038187 | 10
, 966833 |10 x 1/2" 7 | 008236517422 | 10
Star Drive 7872 |10x3/4" 4 | 008236038194 | 10
Trim Screws 7875 [10x1" 4 | 008236038200 [ 10
STAINLESS STEEL %ﬂﬁm XL Pak
INCLUDES FREE BIT IN EACH PACK — T15 STAR DRIVE LUMBER, 41500 |6-20 x 3/8" 100 | 008236047844 10
XL Pak 41502 [6-20x 1/2" 100 | 008236047851 | 10
41962 |8x1-5/8" 50 | 008236731361 | 5 41880 |6-20 x 3/4" 100 | 008236627374 | 5
41963 8x2-1/2" 35 008236731378 5 42205 6-20x 1" 75 038902014900 3
41964 |8x3" 25 |008236731385 | 5 41506 [8-18x 1/2" 100 | 008236047868 | 5
41508 | 8-18 x 3/4" 75 | 008236047875 | 5
Ao 41510 |8-18x1" 75 | 008236047882 | 5
v POWER PRO>- 42206 |8-18x 1-1/4" 50 | 038902014917 | 3
Flat Head Star Drive 41881 |8-18x1-1/2" 50 | 008236627381 | 5
Outdoor Wood Screw @ PRS- 41514 |10-16x1/2" 50 | 008236047899 | 5
STAINLESS STEEL TEFTE" 21 :?2 12-12 X 5/8" 50 | 008236627398 | 5
INCLUDES FREE BIT IN EACH PACK LUMBER, -16 x 3/ 50 008236047905 5
SRR 41518 [10-16x1" 50 | 008236047912 | 5 o
41883 | 10-16x 1-1/2" 50 | 008236627404 | 5 X
41965 |8x 1-1/4" 45 | 008236731576 | 5 <]
41966 |8 x 1-3/4" 40 | 008236731583 | 5 . o ) ﬁ
41967 9x2" 35 008236731590 5 Truss Head Phllllps Self PlerClng Point 0
41968 |10 x 2-1/2" 30 | 008236731606 | 5 Lath Screws — ;
41969 [10x8" 25 | 008236731613 | 5 Needle Point W m
41970 |10 x3-1/2" 20 | 008236731620 | 5 ZINC PLATED E'
XL Pak g
Ar o o 48021 |8x9/16" 75 | 008236940312 | 5
v’ POWER PRO>- 48022 [8x1" 75 | 008236940329 | 5 Ig
Flat Head Star Drive 48023 |8 x 1-1/4" 75 | 008236940336 | 5 !‘.
= 48024 |8 x1-1/2" 50 | 008236940343 | 5 >
G’l‘l:’::g);se:vlsl‘lterlor 48025 [8x2" 50 | 008236940350 | 5 e
ZINC & YELLOW DICHROMATE -
INCLUDES FREE BIT IN EACH PACK Truss Head Phllllps
S T Self Drilling Lath Screws (ﬁ]:am\\mmﬁ
41941 |8x1-1/4" 75 | 008236693003 | 5 ZING PLATED
41942 |8 x 1-3/4" 75 | 008236693010 | 5 XL Pak
41943 8x2" 50 008236693027 5 41507 8x1/2" 100 008236766783 5
41944 9x2-1/2" 50 008236693034 5 41509 8 x 3/4" 100 008236766806 5
41945 9x3" 50 008236693041 5 40749 8x1/2 100 008236925173 5
41946 |10 x 3-1/2" 25 | 008236693058 | 5 40750 |8x1 75 | 008236925180 | 5
40751 |8x1-1/4 75 | 008236925197 | 5
48026 |8x1-5/8 50 | 008236940367 | 5

§~POWER PRO'>~

Flat Head Star Drive
Outdoor Wood Screws

1000 HOUR BRONZE CERAMIC COATED

TREATED
INCLUDES FREE BIT IN EACH PACK LUMBER,
XL Pak
41947 8x1-1/4" 75 008236693065 5
41948 8 x 1-3/4" 75 008236693072 5
41949 8x2" 50 008236693089 5
41950 9x2-1/2" 50 008236693096 5
41951 9x3" 50 008236693102 5
41952 10 x 3-1/2" 25 008236693119 5

Pan Head Square Drive
Self Drilling Screws

W=

ZINC PLATED
Fas-Pak
9349 8x1/2" 008236405088 10
9350 8x3/4" 008236405101 10
9351 8x1" 008236405125 10

9352 10x1/2"

008236405149 | 10

9353 10 x 3/4"

008236405163 10

9354 10x1"

008236405187 | 10

9348 10x1-1/2"

INFNFN) FNY N PN 'S

008236622386 | 10

HILLMAN

23



-
™
w
=

1
@
w
=
=
w
(3]
-
(3}
w
-
o
0@
o

24

Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack
Hex Washer Head Hex Washer Head w/Washer @
Self Drilling Screws W Self Piercing Sheeters
ZINC PLATED 1000 HOUR SILVER GERAMIC COATED i
Fas-Pak (POLEBARN SCREWS) I ;EI%
7893 |8x1/2" 4 | 008236038217 | 10 XL Pak
7896 |8 x 3/4" 4 | 008236038224 | 10 41899 [10x1" 40 | 008236627565 | 5
7899  |8x1" 4 | 008236038231 | 10 41900 |10 x 1-1/2" 35 | 008236627572 | 5
7902 |10x1/2" 4 | 008236038248 | 10 41901 |[10x2" 30 | 008236627589 | 5
7905 |10 x 3/4" 4 | 008236038255 | 10 41902 |10 x 2-1/2" 25 | 008236627596 | 5
7908 |10x1" 4 | 008236038262 | 10 41903 |10x3" 20 | 008236627602 | 5
7911 |10x1-1/2" 2 | 008236038279 | 10
7914 12 x 3/4" 2 008236038286 | 10 Hex Washer Head Slotted -
7917 |12x1” 2 | 008236038293 | 10 Gutter Assembly Screws @ .|§§§ﬁ§ﬁP
XL Pak ZINC PLATED / PAINTED HEAD -
967031 |6 x 3/8" 50 | 008236517736 | 5 =
41540 |8x1/2" 100 | 008236047929 | 5 9494 |7 x 1/2" Black 10 | 008236649284 | 10
42192 |8x5/8" 100 | 088902014771 | 3 9495 |7 x 1/2" White 10 | 008236649291 10
41542 |8x /4" 75 008236047936 | 5 9496 |7 x 1/2" Brown 10 | 008236649307
41544 |8x1" 75 | 008236047943 | 5
41644 |8 x 1-1/4" 50 | 008236396287 | 5
41884 |8 x1-1/2" 50 | 008236627411 | 5 Wafer Head Phillips @ FW
41548 |10 x 1/2" 50 | 008236047950 | 5 Self Drilling Screws S
41550 |10x 3/4" 50 | 008236047967 | 5 1000 HOUR SILVER CERAMIC COATING —
41552 |10 x1" 50 | 008236047974 | 5 T
41885 |10x1-1/4" S0 | 008236627428 | 5 41896 | XL-WAFER SD 10-24 x 1 50 [ 008236627534 | 5
;‘122? 18 i:/ 2" 22 ggzzgggzzggg 2 41897 | XL-WAFER SD 10-24 x 1-1/4 40 | 008236627541 | 5
41642 |12 x 3/4" 50 | 008236396249 | 5 41808 | XL JVAFER SDw/Wings 10-24 x 30 | 008236627558 | 5
41643 |12x1" 50 | 008236396263 | 5
41886 |12 x1-1/2" 50 | 008236627435 | 5 Flat Head w/Wings @
42193 |12x2" 25 | 038902014788 | 3 Self Drilling Screws
42194 |12 x 2-1/2" 25 | 038902014795 | 3 B
12195 Tiaxa 20 Tosso02014801 | 3 1000 HOUR SILVER CERAMIC COATING BER,
41887 | 1/4-14x 3/4" 25 | 008236627442 | 5 XL Pak
41888 | 1/4-14x 1" 25 | 008236627459 | 5 41893 | 12-24 x 2" 25 | 008236627503 | 5
967041 |14 x 11/ o5 008235517828 | 5 41894 |12-24x 2-1/2" 20 | 008236627510 | 5
2196 [1aidxe > | 038002014818 | 3 41895 | 1/4-20 x 2-3/4" 15 | 008236627527 | 5
42197 | 1/4-14 x 2-1/2" 20 | 038902014825 | 3
42198 | 1/4-14x3" 15 | 038902014832 | 3
GUTTERT e
Hex Washer Head w/Washer @ m GutterTite™

Self Drilling Screws

w/Steel Backed Neoprene Washer

* Replaces old, loose, or popped gutter spikes.

* No pre-drilling.

1' TED

500 HOUR DACROTIZED GOAT, LOW PROFILE HEAD B
Carded
47802 |516x7" White 10 | 008236696080 | 3
47803 |5/16x7" Brown 10 | 008236696097 | 3

ZINC PLATED

XL Pak

42204 |10-16x 1 30 038902014894 3
41889 [12-14 x 3/4" 35 008236627466 5
41890 [12-14x1" 30 008236627473 5
41891 12-14 x 1-1/4" 25 008236627480 5
41892 [12-14x1-1/2" 20 008236627497 5
47975 [12-14x2" 20 008236922806 5
48165 |[1/4-14x2" 20 008236984699 5

Hex Washer Head w/Washer

Self Drilling Screws

w/Steel Backed Neoprene Washer

ZINC PLATED / PAINTED HEAD

XL Pak

48014 [14x7/8 White 35 | 008236940244 | 5
48016 |14 x7/8 Red 35 | 008236940268 | 5
48017 [14x7/8 Green 35 | 008236940275 | 5
48018 |14 x7/8 Brown 35 | 008236940282 | 5
48019 | 14x7/8 Tan 35 | 008236940299 | 5
48020 [14x7/8 Beige 35 | 008236940305 | 5

HILLMAN

Note: Each blister card includes ten screws, ten 5" plastic ferrules,

and one #3 square drive bit.




Qty Master Qty Master

Item # Description Each UPC Pack Item # Description Each UPC Pack
PROJECT CENTER - DRYWALL Bugle Head Square Drive
Coarse Thread
Flat Head Phillips @) 3:!::3“ Screws
Particle Board Screws 41782 [6x1" 50 | 008236413052 | 5
EOEak 41783 |6 x 1-1/4" 50 | 008236413076 | 5
41588 16 x 1" 50 | 008236396102 | S5 41784 |6 x 1-5/8" 50 | 008236413090 | 5
41589 |6 x 1-1/4" 50 | 008236396126 | 5 1755 lox2’ 50 Toosseaisiiz | 5
41590 |6 x 1-1/2" 50 | 008236396140 | 5 11786 T8 x21/2" 50 Toosaseaiziar | 5
41591 |8 X1” 50 | 008236396164 | 5 41787 |8x3" 50 | 008236413151 | 5
41592 |8 x1-1/4" 50 | 008236396188 | 5
41593 [8x1-1/2" 50 | 008236396201 | 5 . .
41594 |10 x 1-3/4" 50 | 008236396225 | 5 Wafer Head Phillips Hi-Lo Thread
Cement Board Screws
Bugle Head Phillips SHARP POINT
Drywall Screws XL Pak
SELF DRILLING POINT 41878 |8 x1-1/4" 75 | 008236627350 | 5
41879 |8 x 1-5/8" 50 | 008236627367 | 5
XL Pak
41874 [6x1-1/4" 75 | 008236630862 | 5 .
41875 |6x1-5/8" 50 | 008236627329 | 5 Wafer Head Phillips
Cement Board Screws
Bugle Head Phillips SELF-DRILLING POINT
Fine Thread XL Pak
41876 |8 x 1-1/4" 75 | 008236627336 | 5
Drywall Screws @ 41877 |8 x1-5/8" 50 | 008236627343 | 5
FINE THREAD v
Fas-Pak g
5890 |6x1" 16 | 008236034608 | 10 <
5893 | 6x1-1/4" 12 | 008236034615 | 10 PROJECT CENTER - DRIVERS & BITS g
5896 |6 x 1-5/8" 10 | 008236034622 | 10 =
5899 | 6x2" 8 | 008236034639 | 10 g
5902 |8 x2-1/2" 6 | 008236034646 | 10 % 2
5905 |8 x3" 5 | 008236034653 | 10 Phillips Insert Bits m
XL Pak Fas-Pak Iﬂ
40900 |6x1" 100 | 008236046564 | 5 9483 | #2 Drywall 2 | 008236627893 | 10 o
40901 |6x1-1/8" 100 | 008236046571 | 5 9484 | #2 Drywall (1" Long) 2 [ 008236627909 | 10 X
40902 |6x1-1/4" 100 | 008236046588 | 5 9485 | #3 Drywall (1" Long) 2 [ 008236627916 | 10 <
40904 |6x1-5/8" 75 ] 008236046595 | 5 9486 | #2 Power Bit 2 [ 008236627923 [ 10 -
40906 |6 x 2" 50 | 008236046601 | 5 7]
40908 |6 x 2-1/4" 50 | 008236046618 | 5 S
40910 |8x2-1/2" 50 | 008236046625 | 5 {::%9 ]
40921 |8x3" 50 | 008236046632 | 5 Square Drive Insert Bits pr
i Fas-Pak
Bf‘gle Head Square Drive 9253 | #0Bit (1" Long) 2 | 008236412994 | 10
Fine Thread @ 9254 | #1 Bit (1" Long) 2 | 008236410433 | 10
Drywall Screws 9255 | #2 Bit (1" Long) 2 | 008236410457 | 10
XL Pak 9256 | #3 Bit (1" Long) 2 | 008236410471 | 10
41775 6x1" 50 008236412857 5 9257 #1 Bit (2" Long) 2 008236410495 10
41776 |6 x 1-1/4" 50 | 008236412871 5 9258 #2 Bit (2" Long) 2 008236410518 | 10
41777 |6 x1-5/8" 50 008236412895 5 9259 #3 Bit (2" Long) 2 008236410532 | 10
41778 6x2" 50 008236412918 5 9487 #2 Power Bit 2 008236627930 10
41780 |8 x2-1/2" 50 | 008236412932 | 5
41781 |8x3" 50 | 008236412956 | 5
'->_
- = - DD ——
Bugle Head Phillips Star Drive Insert Bits T
Coarse Thread @ Carded
Drywall Screws 9497 | T15 Star Bit 2" 2 [ 008236694451 | 5
o 9514 | T20 Star Bit 2" 2 | 008236040081 | 5
12 Toxt 16 Toosascossseo | 10 9498 | T25 Star B!t2:: 2 | 008236178418 | 5
o7 e ia 2 Toosaseosisr | 10 9515 | T30 Star Bit 2 2 | 008236703320 | 5
5920 |6 x 1-5/8" 10 | 008236034684 | 10
5023  |6x2" 8 | 008236034691 | 10 e
5926 |8 x2-1/2" 6 | 008236034707 | 10 i
5929 |8x3" 5 | 008236034714 | 10 Dual Torq™ Insert Bits =
XL Pak Carded
40870 |6x1" 100 | 008236046441 | S 9499  [#2Bit2" | 2 Joos23s178401 | 5
40872 |6 x1-1/4" 100 | 008236046458 | 5
40874 |6 x 1-5/8" 75 | 008236046465 | 5
40876 |6 x2" 50 | 008236046472 | 5
40878 |8 x2-1/2" 50 | 008236046489 | 5
40880 |8x3" 50 | 008236046496 | 5

HILLMAN 25



Qty Master Qty Master

Item # Description Each UPC Pack Item # Description Each UPC Pack
Magnetic Bit Holder Blue Conical . E
Fas-Pak Plastic Anchors
9489 [ Magnetic Bit Holder [ 1 Joos23e627954 | 6 Fas-Pak
5033 | 6-8 Screws Not Included 16 | 008236032321 | 10
@ 5036 8-10 Screws Not Included 14 | 008236032338 | 10
. . 5039 | 10-12 Screws Not Included 10 | 008236032345 | 10
Magnetic Hex Head Driver 5042 | 14-16 Screws Not Included 5 | 008236032352 | 10
Fas-Pak 5043 | Assorted Screws Not Included 8 | 008236149623 | 10
9490 | 1/4" 1 | 008236627961 | 6 5061 | 6-8 w/PHP SMS 6 | 008236149616 | 10
9491 |5/16" 1 | 008236627978 | 6 5063 | 8-10 w/PHP SMS 6 | 008236032420 | 10
9492 [3/8" 1 | 008236627985 | 6 5066 | 10-12 w/PHP SMS 4 | 008236032437 | 10
5067 | 10-12 w/Brass Pltd FHP SMS 4 | 008236427714 | 10
5068 | 10-12 w/White FHP SMS 4 | 008236427738 | 10
5069 | 14-16 w/PHP SMS 2 | 008236032444 | 10
- . 5070 | 10-12 w/Brown FHP SMS 4 | 008236427752 | 10
Phillips Drywall Driver 5071 | 10-12 w/Black FH PH SMS 4 | 008236427776 | 10
Fas-Pak XL Pak
9493 | #2 FP-Accessory | 2 [o08236627992 | 6 41390 | 6-8 x 3/4" Screws Not Included 80 | 008236047707 | 5
41392 | 8-10 x 7/8" Screws Not Included 50 | 008236047714 | 5
41394  [10-12 x 1" Screws Not Included 25 | 008236047721 | 5
HOLLOW WALL ANCHORS 41396 | 14-16 x 1-3/8" Screws Not Included | 25 | 008236047738 | 5
41400 | 6-8 w/PHP SMS 75 | 008236047745 | 5
41402 | 8-10 w/PHP SMS 50 | 008236047752 | 5
» 30 41404 [ 10-12 w/PHP SMS 25 | 008236047769 | 5
= \ c 41406 | 14-16 w/PHP SMS 20 | 008236047776 | 5
m . ‘ Kits
) PanHead zh'"'ps m 370848 | 6-8 w/Pan Hd Slot SMS + Drill Bit 1 [ 008236107487 | 1
2 Walldog 370350 | 8-10 w/Pan Hd Slot SMS + Drill Bit 1 008236107494 | 1
w Fas-Pak 370351 | 10-12 w/Pan Hd Slot SMS + Drill Bit | 1 008236107500 | 1
2 9516 1-1/4" Brass 4 008236780437 | 10 370353 | 14-16 w/Pan Hd Slot SMS + Drill Bit 1 008236107517 1
E 9517 | 1-1/4" Chrome 4 | 008236780444 | 10 373500 |6-8 w/Pan Hd Phil SMS + Drill Bit 1 008236109337 | 1
\ 9518 | 1-1/4" Black 4 [ 008236780451 | 10 373503 | 8-10 w/Pan Hd Phil SMS + Drill Bit 1 008236109344 | 1
P 9519 | 1-1/4" White 4 | 008236780468 | 10 373506 | 10-12 w/Pan Hd Phil SMS + Drill Bit 1 008236109351 | 1
',"_‘ XL Pak 373509 | 6-8 w/HWH Slot SMS + Drill Bit 1 008236109368 | 1
2 42004 | 1-1/4" Brass 20 | 008236780185 | 10 373512 | 8-10 w/HWH Slot SMS + Drill Bit 1 008236109375 | 1
3 42005 | 1-1/4" Chrome 20 | 008236780192 | 10 373515 | 10-12 w/HWH Slot SMS + Drill Bit 1 008236109382 | 1
- 42006 | 1-1/4" Black 20 | 008236780208 | 10
0 42007 | 1-1/4" White 20 | 008236780215 | 10 _
w MR Ribbed Plastic Anchors @ (e
g 385387 |1-1/4" Brass 75 | 008236780284 | 3 WITH PHP SMS “
o 385388 |1-1/4" Chrome 75 | 008236780307 | 3 Fas-Pak
385389 |1-1/4" Black 75 008236780321 3 5107 4-6-8/6 x 1-1/4 6 008236427790 6
385390 |[1-1/4" White 75 008236780345 3 5108 8-10-12/10 x 1-1/4 6 008236427820 6
Kits 5109 | 12-14-16/14 x 1-1/2 4 | 008236427868 | 6
42071 | PHP Walldog & Drill Toggle Kit 52 | 008236802610 | 3 XL Pak
42072 Decorator Kit — PHP All colors 82 008236802726 3 41820 4-6-8/6 x 1-1/4 75 008236516395 5
42073 g’%r;tractor Kit — PHP & OHP Chr/ 82 | 008236802733 | 3 41821 |8-10-12/10x1-1/4 50 | 008236516418 | 5
41822 |12-14-16/14x 1-1/2 25 | 008236516432 | 5
Kits
= 373516 | 4-6-8 w/Drill Bit 1 008236405309 | 1
e , 373517 | 8-10-12 w/Drill Bit 1 008236405675 | 1
Oval Head Philips m 373518 | 12-14-16 w/Drill Bit 1 008236405316 | 1
Walldog™
Fas-Pak
9520 | 1-1/4" Brass 4 | 008236780475 [ 10
9521 1-1/4" Chrome 4 | 008236780482 | 10
9522 | 1-1/4" Black 4 | 008236780499 | 10
9523 | 1-1/4" White 4 | 008236780505 | 10
XL Pak
42008 | 1-1/4" Brass 20 | 008236780222 | 10
42009 | 1-1/4" Chrome 20 | 008236780239 | 10
42010 |1-1/4" Black 20 | 008236780246 | 10
42011 | 1-1/4" White 20 | 008236780253 | 10

26 HILLMAN



Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack

Wallboard Anchors Plastic Toggles

Fas-Pak F
5089 | Zinc #8 w/Pan PH SMS 2 | 008236149630 | 6 as-Pak
9413 | Nylon #8 w/Pan PH SMS 2 | 008236428988 | 6 5102 x%aﬁﬂﬂ' Combo SMS + Pin 2 | 008236032536 | 6
9414 | Nylon #6 w/Pan PH SMS 4 | 008236429008 | 6 s10a |38 Medum . > | oosza0002553 | o
9415 Nylon #8 w/Brass Pltd FHP SMS 2 008236433159 | 6 w/Pan Hd Combo SMS + Pin
9416 | Nylon#8 w/White FHP SMS 2 | 008236429022 | 6 5/8" Large ,
9417 | Nylon #8 w/Brown FHP SMS 2 | 008236429046 | 6 %19 _ | w/Pan Hd Combo SMS + Pin 2| 006200092550 | ©
9418 | Nylon #8 w/Black FHP SMS 2 | 008236429060 | 6 XEIRak -
XL Pak atgrz (V& SmAl S+ Pin 10 | 008236047790 | 5
41408 | Zinc #8 w/PHP SMS 10 | 008236047783 | 5 rara |38 Medium o | ooszscosreos |
41409 | Nylon #8 w/PHP SMS 10 | 008236429084 | 5 w/Pan Hd Combo SMS + Pin
41410 | Nylon #6 w/PHP SMS 20 | 008236429107 | 5 5/8" Large
41440 | Nylon #8 w/Brass Pitd FHP SMS 10 | 008236429121 | 5 1415 | wiPan Hd Combo SMS + Pin 10 | 008206429329 ©
41441 | Nylon#8 w/White FHP SMS 10 | 008236429145 | 5 2L LS
41442 | Nylon #8 w/Brown FHP SMS 10 008236429169 5 41986 | 1/8 Small — Screws Not Included 13 008236743463 5
21243 | Nylon #8 w/Black FHP SMS 10 Toosozeazetsa | 5 41987 | 3/8 Medium — Screws Not Included 13 | 008236743470 | 5
41989 Zip Hanger — No Screw Needed! 10 008236743494 5 41988 5/8 Large — Screws Not Included 13 008236743487 5
Kits
375203 | Zinc #8 w/PHP SMS 1 | 008236109405 | 1
375204 | Nylon #8 w/PHP SMS 1 | 008236429428 | 1
Drill Toggle w/Screws
(o Fas-Pak
Wallhooks )9(:1-1 : | Zinc w/6 x 2 PHP SMs | 2 Joos23e429268 | 6 z
ak o
Fas-Balk 41444 | Zinc w/6 x 2 PHP SMS | 10 [o008236429305 [ 5 r
5020 | Utility Wall Hook | 2 [oos23e032246 [ 10 e
H
W 5
Hollow Wall Anchors -
Fas-Pak Strap-Toggle™ :
5000 |1/8XS 2 [ 008236032147 | 10 XL Pak g
5003 |1/8S 2 | 008236032154 | 10 11984 ?ﬁﬂ %' gvn.]tgosﬂ g x 2-1/2" > | oos236743a49 | 3 T
5006 | 1/8L 2 | 008236032161 | 10 ! i o
5009 |3/16S 2 | 008236032178 | 6 41985 | b4’ with 12 x 2-1/ 2 | 008236743456 | 3 4
5012 |3/16L 2 | 008236032185 | 6
5013 | 1/4S 2 | 008236032192 | 6
5014 |1/4L 2 | 008236032208 | 6
XL Pak
41208 [1/8XS 20 | 008236047639 | 5
41300 |1/8S 20 | 008236047646 | 5 Toggle Bolts
41302 |1/8L 20 | 008236047653 | 5 Fas-Pak
41304 |3/16S 15 008236047660 5 5021 1/8 x 2" 2 008236032253 10
41306 3/16 L 10 008236047677 5 5024 1/8 x 3" 2 008236032260 10
41307 1/4 L 5 008236427394 5 5025 1/8 x 4" 2 008236032277 6
5027 |3/16x3" 2 | 008236032284 | 10
5028 | 3/16x 4" 2 | 008236032291 | 6
Drive Wall Anchors Mm 5030 1/4 x 3" 1 008236032307 6
5031  |1/4x4" 1 | 008236032314 | 6
Fas-Pak
5015 | 1/8DS 2 [ 008236032215 | 10 Ll
ETEERETT > Toosseaorai7 |6 41420 [1/8x2" 15 | 008236047813 | 5
=018 1/30s > Tooszac032222 | 10 41422 [1/8x3" 15 | 008236047820 | 5
o1 117506 > 008236030239 | 10 41423 |1/8x4" 12 | 008236428902 | 5
XL PaK 41426 | 3/16x 3" 10 | 008236047837 | 5
41328 |1/8DL 20 | 008236427431 5 41427 |3/16 X 4 8 | 008236428926 | S
41329 | 1/8DXS 20 | 008236427455 | 5 41428 |1/4x3 6 | 008236428940 | S
11330 /508 20 T ooszzearees | & 41429 | 1/4x 4" 5 | 008236428964 | 5
41332 |1/8DLS 20 | 00823647691 | 5

HILLMAN 27



Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack

SOLID WALL ANCHORS
Machine Screw Anchors
5090 10-24" 2 008236032505 10

Nylon Anchors

5093  |1/4-20" 2 | 008236032512 | 10
Fas-Pak
5096 | 5/16-18" 1 008236032529 | 6
9407  [3/16x 1" 4 | 008236428124 | 6
9408 | 1/4x3/4" 4 | 008236428148 | 6
9409  [1/4x1" 4 | 008236428209 | 6
9410  [1/4x1-1/2" 4 | 008236428223 | 7
9411 1/4x 2" 2 | 008236428247 | 7 Tapper®+ %
9412 [1/4x 3" 2 | 008236428261 | 7 - -
XL Pak Installation Kit
41434 |3/16x1" 20 | 008236428780 | 5 POk
1145 | axaa 20 | 008236428803 | &5 375009 [For 3/16" and 1/4" Concrete Screws | 1 [ 008236433173 | 1
41436 |1/4x1" 20 | 008236428827 | 5
41437 [1/4x1-1/2" 15 | 008236428841 | 5 Tapper®
41438 | 1/4x 2" 10 | 008236428865 | 5 Drill Bits . SSSRs>
41439 [1/4x 3" 8 | 008236428889 | 5 Carded
375220 |5/32 x 3-1/2" 1 75352643342 1
a , 375221 |5/32 x 4-1/2" 1 75352643366 1
Hammer Drive Anchors D—\d—‘ 375222 |5/32 x 5-1/2" 1 75352643380 | 1
ey 375223 |3/16 x 3-1/2" 1 75352643403 1
9203 T1/ax1 > T oosza6427899 | 6 375224 |3/16 x 4-1/2" 1 75352643427 1
9200 T1/axia/a > T oos236427936 | 6 375225 |3/16 x 5-1/2" 1 75352643441 1
9405  |[1/4x1-1/2" 2 | 008236427967 | 6
9406 [1/4x2" 2 [ 008236428001 | 6 Tapper®+ m
(XL Pak Flat Head Phillips
o 41430 [1/4x1" 16 | 008236428704 | 5 Concrete Screw Anchors e
[ [axa 12 | 008236428728 | 5 BUILDING CODE APPROVED il
2 41432 [1/4x1-1/2" 12 | 008236428742 | 5 Fas-Pak
: 41433 [1/4x 2" 10 | 008236428766 | 5 8973  |3/16x 1-1/4" 5 | 008236186154 | 10
r} 8974  |3/16 x 1-3/4" 5 | 008236186161 | 10
‘;‘ 8975  |3/16 x 2-1/4" 4 | 008236186178 | 10
a Dﬁ g 8976 | 3/16 x 2-3/4" 4 | 008236186185 | 10
=5 Split Drive Anchors 8977 | 3/16 x 3-1/4" 3 | 008236186192 | 10
o e ERErS = Toosssetsects | 1o
9422 [1/4x2" 2 | 008236429350 | 7
9423 |1/4x2-1/2" 2 | 008236429367 | 7 8980 | 1/4x1-3/4" 5 |008236187168 | 10
o1od  [iaxa > | ooazaeazozat |7 8981 1/4 x 2-1/4" 4 | 008236187175 | 10
8982 | 1/4x2-3/4" 4 | 008236186246 | 10
8983 | 1/4x3-1/4" 3 | 008236186253 | 10
@ % 8984 1/4 x 3-3/4" 3 008236186260 | 10
Lead Wood Screw Anchors XL Pak
WARNING: This product is not sold in the state of California due to proposition 65. 41565 316 x1-1/4" 25 008236186277 5
ST 41566 | 3/16 x 1-3/4" 25 | 008236186284 | 5
5072 (68X 34" 3 T 008236032451 | 10 41567 | 3/16 x 2-1/4: 20 | 008236186291 | 5
s05 Tesx1’ 3 T oos236032a68 |10 41568 | 3/16 x 2-3/- 20 | 008236186307 | 5
s078 Tesx132 s Toosaseos2a75 | 10 41569 | 3/16 x 3-1/ 15 | 008236186314 | 5
5082 1014 51" s T oos236032282 | 10 41570 3/16x3—3/il 15 | 008236186321 | 5
5087 | 10-14x1-1/2" 2 | 008236032499 | 10 Ms71 | 1/4x1-1/ 25 | 008236186338 | S
41572 | 1/4x1-3/4" 18 | 008236186345 | 5
41573 [1/4x2-1/4" 15 | 008236186352 | 5
41574 | 1/4 x 2-3/4" 12 | 008236186369 | 5
Lag Shields 41575 | 1/4 x 3-1/4" 10 | 008236186376 | 5
41576 | 1/4 x 3-3/4" 10 | 008236186383 | 5
Fas-Pak
5045 | 1/4" Short 2 | 008236032369 [ 10
5048 | 1/4" Long 2 | 008236032376 | 10
5051 5/16" Short 2 | 008236032383 | 10
5054  |5/16" Long 2 | 008236032390 | 10
5057 | 3/8" Short 1 008236032406 | 6
5060 |3/8" Long 1 008236032413 | 6

28 HILLMAN



Qty Master
Item # Description Each UPC Pack

Tapper®
Hex Washer Head 1) AN

Concrete Screws

BUILDING CODE APPROVED LURMBER.

Fas-Pak

8961 | 3/16 x 1-1/4" 5 | 008236185997 | 10
8962 | 3/16 x 1-3/4" 5 | 008236186000 | 10
8963 | 3/16 x 2-1/4" 4 | 008236186017 | 10
8964 | 3/16 x 2-3/4" 4 | 008236186024 | 10
8965 | 3/16x 3-1/4" 3 | 008236186031 | 10
8966 | 3/16 x 3-3/4" 3 | 008236186048 | 10
8967 | 1/4x 1-1/4" 5 | 008236186055 | 10
8968 | 1/4 x 1-3/4" 5 | 008236186062 | 10
8969 | 1/4x2-1/4" 4 | 008236186079 | 10
8970 | 1/4 x 2-3/4" 4 | 008236186086 | 10
8971 | 1/4x3-1/4" 3 | 008236186093 | 10
8972 | 1/4x3-3/4" 3 | 008236186109 | 10
XL Pak

41553 |3/16 x 1-1/4" 25 | 008236186390 | 5
41554 | 3/16 x 1-3/4" 25 | 008236186406 | 5
41555 | 3/16 x 2-1/4" 20 | 008236186413 | 5
41556 | 3/16 x 2-3/4" 20 | 008236186420 | 5
41557 | 3/16 x 3-1/4" 15 | 008236186437 | 5
41558 | 3/16 x 3-3/4" 15 | 008236186444 | 5
41559 | 1/4x 1-1/4" 25 | 008236186451 | 5
41560 | 1/4 x 1-3/4" 18 | 008236186468 | 5
41561 | 1/4x 2-1/4" 15 | 008236186475 | 5
41562 | 1/4x 2-3/4" 12 | 008236186482 | 5
41563 | 1/4x 3-1/4" 10 | 008236186499 | 5
41564 | 1/4x 3-3/4" 10 | 008236186505 | 5

7]
o
c
o
£
>
4
F
>
=
7]
T
o
]
(]

HILLMAN 29



A OR KIT

Walldog™

Pan Head Phillips
¢ No predrilling in drywall
¢ Easily penetrates wood & metal studs

Y

SCREW & ANCHOR IN ONE! ™
 IN ONE!

o Pieces | Paks Holds Up To (lbs.)**
E3 per per Drill Minimum 1/2" 4000 psi C-90
Iltem # Q |size Pak Master UPC Size Embedment Drywall | Concrete | Block | Brick
Horizontal Kit
\éVaIIdog an(g DE"F]I—-%Q\?V'eIIdCOT(t))O
ontents per Pack: alldo CS. " "
42071 Chrome), %rill Toggle(10pcs), 3/51353‘. Brill Bit, 52 3 008236802610 3/16 1 50 Ibs. 175 Ibs. 75 lbs. 95 Ibs.
#2 Phillips Bit
\éVaIIdog DegorstgLPW lidog(20
ontents per Pack: alldog(20 pes. " "
42072 each Chrome-White-Black-Brass), 3/16" Drill 82 3 008236802726 3/16 1 50 Ibs. 175 Ibs. 75 lbs. 95 Ibs.
Bit, #2 Phillips Bit
\(/:Valldog COStr?(C}D?J"P & OHP Walldog(20
ontents per Pack: alldo " ..
42073 gﬁsll eazg‘l Chrome-White), 3/16" Dril Bitg,;#2 82 3 008236802733 3/16 1 50 Ibs. 175 Ibs. 75 lbs. 95 Ibs.
illips Bit

Blue Conical Plastic Anchor

28

o Pieces Paks Holds Up To (Ibs.)**
= per per Drill Minimum 1/2" 4000 psi C-90
Item # 0 |[size Pak Master UPC Size Embedment Drywall Concrete Block Brick
Kit

6-8 x 3/4" with Pan Head Slotted SMS

370348 Contents per Pack: 6-8x3/4"(100pcs.), PHS 201 - 008236107487 3/16" 3/4" 5 30 - -

SMS(100pcs.), 3/16" Drill Bit

8-10 x 7/8" with Pan Head Slotted
SMS " u

370350 Contents per Pack: 8-10x7/8"(100pcs.), PHS 201 - 008236107494 3/16 7/8 5 50 - -

SMS(100pcs.), 3/16" Drill Bit

10-12 x 1" with Pan Head Slotted

SMS _ " " _ _

370351 Contents per Pack: 10-12x1"(100pcs.), PHS 201 008236107500 /4 1 10 50

SMS(100pcs.), 1/4" Drill Bit

14-16 x 1-3/8" with Pan Head Slotted
SMS _ " _a/gn _ _

370353 Contents per Pack: 14-16x1-3/8"(50pcs.), 101 008236107517 5/16 1-3/¢ 10 50

PHS SMS(50pcs.), 5/16" Drill Bit

6-8 x 3/4" with Pan Head Phillips SMS

373500 Contents per Pack: 6-8x3/4"(100pcs.), PHP 201 - 008236109337 3/16" 3/4" 5 30 - -

SMS(100pcs.), 3/16" Drill Bit

8-10 x 7/8" with Pan Head Phillips
SMS " u

373503 Contents per Pack: 8-10x7/8"(100pcs.), PHP 201 - 008236109344 3/16 7/8 5 50 - -

SMS(100pcs.), 3/16" Drill Bit

10-12 x 1" with Pan Head Phillips
S

SM ) ; ; i )
373506 Contents per Pack: 10-12x1"(100pcs.), PHP 201 008236109351 1/ 1 10 50

SMS(100pcs.), 1/4" Drill Bit
6-8 x 3/4" with Hex Washer

Slotted SMS _ " " - -
373509 Contents per Pack: 6-8x3/4"(100pcs.), HWH 201 008236109368 3/16 3/4 5 30

SMS(100pcs.), 3/16" Drill Bit
8-10 x 7/8" with Hex Washer

Slotted SMS _ " " - -
373512 Contents per Pack: 8-10x7/8"(100pcs.), HWH 201 008236109375 3/16 4 5 50

SMS(100pcs.), 3/16" Drill Bit

10-12 x 1" with Hex Washer
Slotted SMS

373515 Contents per Pack: 10-12x1"(100pcs.), HWH 201

SMS(100pcs.), 1/4" Drill Bit

n
0@
o
k3
Q
=
<

1
(7]
=
X
=
=
w
=
=
=
o
n
(/]
<

- 008236109382 1/4" 1" 10 50 - -

30 HILLMAN



Ribbed Plastic Anchor

a4

,’I

JEE——

o Pieces | Paks Holds Up To (lbs.)**
= per per Drill Minimum 1/2" 4000 psi C-90
Item # Q |[size Pak Master uPC Size Embedment Drywall | Concrete | Block Brick
Kit
4-6-8 x 7/8" with PHP SMS
373516 Contents per Pack: 4-6-8x7/8"(50pcs.), PHS 101 - 008236405309 3/16" 7/8" 10 30 - -
SMS(50pcs.), 3/16" Drill Bit
8-10-12 x 1-1/4" with PHP SMS
373517 Contents per Pack: 8-10-12x1-1/4"(50pcs.), 101 - 008236405675 1/4" 1-1/4" 15 50 - -
PHS SMS(50pcs.), 1/4" Drill Bit
12-14-16 x 1-1/2" with PHP SMS
373518 Contents per Pack: 12-14-16x1-1/2"(50pcs.), | 101 - 008236405316 5/16" 1-1/2" 10 50 - -
PHS SMS(50pcs.), 5/16" Drill Bit
HILLMAN

>
[
(7]
(=}
ke
-
=
]
=
-
)
-
"]
1
>
=
(1)
X
o
b
(]

31



n
©
w
=
w
=
()
<
[
w
=
g
o
©
©
=2
- o

32

Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack
HURRICANE FASTENERS
Slotted Wood Inserts
BRASS
p XL Pak
w WJEW 707321 | 1/4-20 [ 25 | 008236857047 | 4

L= “~
Hurricane Kits S

451001 | Window/Door Kit (A) 123 | 037504283165 | 3 W, B Gt
451002 | Panel Mate Kit (B) 75 | 008236938470 | 3 I
Truss Head = gy | LE.
Combo Machine Screws H b E
STAINLESS STEEL
XL Pak Drivers & Installation Tools
707300 [1/4x1" 25 | 008236856927 | 4 Fas-Pak
707302 [1/4x1-1/4" 25 | 008236856934 | 4 707323 | Combo Drill Bit (A) 1 008236938432 | 6
707304 [1/4x1-1/2" 25 008236856941 4 707325 | Panel Mate Bit (B) 1 008236938449 3
707306 | 1/4x2" 25 | 008236856958 | 4 707327 |3/8" Deep Socket Driver (C) 1 008236938456 | 3
707329 | 3/16" Hex Driver Bits (D) 2 [ 008236938463 | 6
707322 | Wing Nut Driver (E) 1 008236857054 6
Key Hole Washers 707326 | 1/4 Ms Anchor Set Tool (F) 1 008236857078 | 6
ALUMINUM
XL Pak .
707311 [1/4-20 25 | 008236938371 | 4 Rubber Finishing Caps . ' y
XL Pak
707303 | 1/4 x 3/4" 25 [ 008236938418 | 4
707305 |1/4x1-1/8" 25 | 008236938425 | 4

Combo Sidewalk Bolts

STAINLESS STEEL

XL Pak

707307 [1/4x1/2" 25 008236938395 4
707309 |[1/4 x3/4" 25 008236938388 4
707308 [1/4x1" 25 008236856965 4
707310 [1/4x1-1/4" 25 008236856972 4
707312 [1/4x1-1/2" 25 008236856989 4
707314 [1/4x2" 25 008236856996 4

Hurricane Track Bolts

STAINLESS STEEL

XL Pak

707301 [1/4-20x 1" | 25

qﬁ:un"uuuu-‘-

| 008236938401 | 4

Hanger Bolts T 1111 A6 08
STAINLESS STEEL
XL Pak
707316 |1/4x 2-1/2" 25 008236857009 4
707318 |1/4x 3" 25 008236857016 4

Washer Wing Nuts
XL Pak
707319 [1/4-20 50

008236857023 | 4

S

Lead Machine
Screw Anchors
XL Pak

707320 [1/4-20

| 25 [o08236857030 [ 4

HILLMAN

Combo Sidewalk Bolt

& MS Anchor Combo Pack
STAINLESS STEEL

XL Pak

707328 [1/4x1" | 30 [oos23e857085 | 4

Stainless Steel Combo Sidewalk Bolt
& Slotted Brass Wood Inserts
Combo Pack v

XL Pak

707330 [1/4x1" | 30 [oo0823s857092 [ 4

Stainless Steel Combo Sidewalk Bolt
& Washered Wing Nut
Combo Pack

XL Pak

707332 [1/4x1" [

Fender Washers

STAINLESS STEEL

XL Pak

707334 |3/16 x 1-1/4" 25 008236857115 4
707336 |1/4 x1-1/4" 25 008236857122 4

Tapper Bits

Carded

376133 |[3/16 x 3-1/2" 1 008236846539 | 20
376134 |3/16 x 4-1/2" 1 008236846546 | 20
376135 |[3/16 x 5-1/2" 1 008236846553 | 20




Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack

NAILS, TACKS, & BRADS
ﬁ Double Point Tacks
Carpet Tacks Fas-Pak

Fas-Pak 532485 | Cloth Staple #5 150z | 008236123869 | 6
532692 | #2 x 1/4" 1.50z | 008236684674 6 532488 | Dbl Pt Staple #11 1.5 0z | 008236123876 6
532350 | #3 x 3/8" 1.75 0z | 008236123418 6 532368 | Dbl Pt Staple #9 1.5 0z | 008236123470 6
532353 | #4 x 7/16" 20z | 008236123225 | B 532705 | Dbl Pt Tack 11/16" 150z | 008236701777 | 6
532356 | #6 x 1/2" 20z 008236123432 6 532652 | Zinc Staple #9 x 7/16" 1.25 oz | 008236401295 6
532359 | #8 x 9/16" 20z 008236123449 6 532698 | Fence Staple 3/4" 1.5 0z | 008236684735 6
532362 | #10 x 5/8" 20z 008236123456 6 532699 | Fence Staple 1-1/4" 1.5 0z | 008236684742 6
532365 |#14 x 3/4" 20z 008236123463 6 532706 | Alum Wire Staple 3/8" 1.50z | 008236701784 6
532479 | #12x 11/16" 20z | 008236123845 | 6
532677 | #16 x 13/16" Toz | 008236652178 | 6
532678 | #18 x 7/8" Toz | 008236651959 | 6
532679 |#22x 1" 050z | 008236651966 | 6
532693 | #3 x 3/8" Alum 050z | 008236684681 | 6 Insulated Staples
532482 |#4x7/16" ___ Alum 050z | 008236123852 | 6 Fas-Pak
532694 | #6 x 1/2" Alum 050z | 008236684698 | 6 32570 |5 Sromm 5 Toosassiesoio | 6
532646 | #3 x 3/8" Electro Galv 1.5 0z | 008236401172 6 532576 |#5 White 15 008236166927 6
532647 |#4x7/16" ___ Electro Galv 1.75 0z | 008236401196 | 6 32680 1#10x72 Brown Tor Toos238651973 | 6
532648 | #6x 1/2" Electro Galv 1.750z | 008236401219 | 6 o281 THoxie Wiite Tor To0s230651980 T 6
532649 |#8x9/16" ___ Electro Galv 1.75 0z | 008236401233 | 6
532650 |#10x5/8" __ Electro Galv 1.75 0z | 008236401257 | 6
532651 |#14x3/4" _ Electro Galv 1.750z | 008236401271 | 6
532682 | #4x 7/16" ___ Copper 1oz | 008236651997 | 6
532697 |#6x 1/2" Copper 050z | 008236684728 | 6 Glazier Points =
532696 |#10x5/8" _ Copper 050z | 008236684711 | 6 5
532695 | #14x3/4" ___ Copper 0507 | 008236684704 | 6 Fas-Pak -
532440 |Push Type | 10z [o008236123715 | 6 o
: 3
Wire Brads Wire Nails b =
Fas-Pak »
532613 | 1/2X20 1.75 0z | 008236400533 | 6 Fas-Pak o
e+ [ [ e el :
Sager1 12t x19 1.75 0z | 008236123487 6 532605 | 5/8" x 19 1.75 0z | 008236222920 | 6 <
532614 |5/8" x19 1.75 0z | 008236400557 | 6 . 4
TTREREr oo Tooasseiooesz 6 532608 | 3/4" x19 1.75 oz | 008236222951 | 6
532601 |1/2" x 18 1.75 0z | 008236222883 | 6 582622 | 1/2"x 18 1.75 0z | 008236400717 | 6
coara o6 1 o T oossaeissaoa 6 532095 | 5/6" x 18 20z | 008236123562 | 6
waoar7 1o/ 18 > o Tooasaeizss00 6 53239 | 3/4' x 18 20z | 008236123579 | 6
532617 |7/8" x 18 20z | 008236400618 | 6 592624 | 7/8" x 18 2oz | 008236400755 | 6
532470 | 1" x 18 20z | 008236123814 | 6 592478 | 17 x18 2oz | 008236123821 | ©
532604 |1-1/4" x 18 1.75 0z | 008236222913 | 6 582607 | 84" x 17 2oz | 008236222944 | ©
532602 | 3/4" x 17 20z | 008236222890 | 6 592401 | 7/8" x 17 2oz | 008236123586 | 6
532380 | 7/8" x 17 20z | 008236123517 | 6 582404 L 1'x17 2oz | 008236123593 | 6
2o0553 11317 > o Tooasasizszod 6 532626 | 1-1/4" x 17 1.75 0z | 008236400793 | 6
- 532606 | 3/4" x 16 20z | 008236222937 | 6
532620 | 1-1/4" x 17 20z | 008236400670 | 6 &
532621 | 1-1/2" x17 1.75 0z | 008236400694 | 6 582609 1 1'x16 2oz | 008286222968 | 6
250615 T3 x 16 > or Tooasasaooeri |6 532407 | 1-1/4" x 16 1.75 0z | 008236123609 | 6
TR ETET > o T ooasaeoooc0s 6 532476 | 1-1/2" x 16 1.75 0z | 008236123838 | 6
532386 | 1-1/4" x 16 20z | 008236123531 | 6 582625 L 1'x15 2oz | 008236400779 | 6
T B EETAINET T R 532627 | 1-1/2" x 15 1.75 0z | 008236400816 | 6
TITREEVTNE 78 o Toosaseanoeae T 532640 | 1/2" x 19 Electro Galv 1.50z | 008236401059 | 6
TR ETEr e oo T ooasaeiooars 6 532641 |5/8" x 18 Electro Galv 1.75 0z | 008236401073 | 6
532634 | 5/8" x 18 Electro Galv 1.75 0z | 008236400953 | 6 582642 |3/4" x18 Electro Galv 1.75 0z | 008236401097 | 6
532635 | 3/4" x 18 Electro Galv 1.75 oz | 008236400939 | 6 582643 | 7/8" x 17 Electro Galv 1.75 0z | 008236401110 | 6
532636 | 7/8" x 17 Electro Galv 1.75 0z | 008236400977 | 6 582644 |1"x17 Electro Galv 1.75 0z | 008236401134 | 6
R T Eiocte Gay e oosseaonset T 6 532646 |1-1/4"x16 __Electro Galv 150z | 008236401158 | 6
532638 |1-1/4"x16___ Electro Galv 1.75 0z | 008236401011 | 6 582678 |8/4" x17 SS 1oz |008236651911 | 6
532639 |1-1/2'x 16 Electro Galv 1.75 0z | 008236401035 | 6 532674 |7/8" x 17 SS 1oz 1008236651928 | 6
532700 | 3/4" x 18 ss 1oz | 008236701722 | 6 532675 |17 x17 SS 1oz | 008236651935 | ©
eao660 13/4 17 < o Toososeesiars e 532676 |1-1/4'x17 S8 1oz | 008236651942 | 6
532670 | 7/8" x 17 sS 1oz | 008236651881 | 6
532671 1" x 17 SS 1oz | 008236651898 | 6
532672 |1-1/4"x17__ SS 1oz | 008236651904 | 6

HILLMAN 33



n
=]
<
©
[}
o
0
X
2
=
)
=
g
=

34

Qty Master Qty Master

Item # Description Each UPC Pack Item # Description Each UPC Pack

Boat Nails 'l

Finish Nails W W/ANNULAR THREAD
T BRONZE
532584 | 3D x 1-1/4" 20z | 008236166965 | 6 Fas-Pak
532586 | 4D x 1-1/2" 20z | 008236166972 | 6 9524 |3/4"x 14 200z | 008236800470 | 6
532685 16D 50 | 0os230082605 | 6 9525 |1"x 14 2007 | 008236800487 | 6
532636 | 8D 70 | oos230684612 | 6 9526 | 1-1/4"x 14 2.00Z | 008236040142 | 6
532687 | 10D 15 008230682629 | 6 9527 |1-1/2"x 12 2007 | 008236800494 | 6

Box Nails O
Fas-Pak Furniture Nails
532588 | 3D x 1-1/4" 1.75 0z | 008236166989 | 6 Fas-Pak
532590 | 4Dx1-1/2 1.75 0z | 008236166996 | 6 532455 | Hammered Hd. Oxford 25 | 008236123760 | 6
532683 | 6D 30 | 008236684582 | 6 532458 | Hammered Hd. Nickel Plated 25 | 008236123777 | 6
532684 | 8D 20 | 008236684599 | 6 532461 | Daisy Hd. Antique 25 | 008236123784 | 6

532464 | Smooth Hd. Brass Pitd 25 | 008236123791 | 6

532467 | Black Metal 25 | 008236123807 | 6

= L 532632 | Smooth Hd. Nickel Pitd 25 | 008236401318 | 6

Assorted Nails, Tacks, (fi—= 532689 Wr::z = 25 | 008236684643 | 6
Br.

& Brads 532690 | Bronze 25 | 008236684650 | 6
EasRak 532707 | Small Hd. Nickel Plated 25 | 008236701791 | 6
532410 [ Assorted | 20z [ 008236123616 | 6 532708 | Brown 25 T o00s236701807 | 6

532709 | Hammered Brass Pltd 25 008236701814 6

Metal Trim Nails
Fas-Pak
532594 | Zinc Plated 7/8" 10z. | 008236167016 | 6
532596 | Zinc Plated 1-1/4" 10z. | 008236167023 | 6
532598 | Brass Plated 7/8" 10z. | 008236167030 | 6 Thumb Tacks
532600 | Brass Plated 1-1/4" 10z. | 008236167047 | 6 SR

532443 | Nickel 40 | 008236123722 | 6
0—; 532446 | White 40 | 008236123739 | 6

Specialty Nails 532449 |Red 40 | 008236123746 | 6
Fas-Pak 532452 | Assorted 25 | 008236123753 | 6
532425 | Linoleum 5/8" x 16 150z | 008236123661 | 6 532610 | Green 40 | 008236387025 | 6
532428 |Weatherstrip 3/4" x 17 150z | 008236123678 | 6 532611 | Yellow 40 | 008236387032 | 6
532491 Sh"’,‘,de Bracket Nail Brs Pltd 150z | 008236123883 6 532612 | Brass Plated 40 008236387339 6

3/4" x15 532710 |Blue 40 | 008236701821 6
532631 | Shade Bracket Nail Nickel 150z | 008236400892 | 6
532592 | Assorted Threaded Nails 1.5 0z | 008236167009 6

Escutcheon Pins

BRASS PLATED (Jo— Push Pins
Fa:::ak 172" x 1 1 23612362 Fas-Pak
522412 2 1: 1'5 oz 38:2221 22232 2 532691 | Clear 40 [ 008236684667 | 6
> 5/ X S0z 532711 | Blue 25 | 008236772906 | 6
532628 3/4" X 14 1'5 %2 008236200832 6 532712 | Green 25 | 008236772013 | 6
52221: 2/4" X 12 1'5 oz 38:2221 2222 2 532713 | Red 25 | 008236772920 | 6
> 4 x S0z i 532714 | White 25| 008236772957 | 6
562422 | 1" 16 150z | 008236123654 | 6 532715 [Velow 55 Toog2a67720a4 | 6
532630 |1"x18 1.50z | 008236400878 | 6 532716 | Nickel pltd 25 | 008236772951 | 6

532717 | Aluminum 25 | 008236772968 | 6

Escutcheon Pins

‘)@

SOLID BRASS
Fas-Pak
532701 [1/2" 1.50z | 008236701739 6
532702 |5/8" 1.50z | 008236701746 6
532703 | 3/4" 1.5 0z | 008236701753 6
532704 [1" 1.5 0z | 008236701760 6
HILLMAN

Joint Fasteners

N

LD

Fas-Pak

532431 | 3/8"x5GA 30 008236123685 6
532434 | 1/2" x5 GA 25 008236123692 6
532437 | 5/8" x5 GA 20 008236123708 6




Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack

PICTURE HANGING PRODUCTS

Wood Joiners

Fas-Pak
532578 | #0 8 | 008236166934 | 6 Standard Hangers
532580 | #1 6 008236166941 6 WITH NAILS
532582 | #2 4 008236166958 6 Carded
121005 |5LB Zinc Plated 8 008236181319 | 10
Paneling Nails Wi sussi s nsdisassiasaiiassinianisiismine 121010 |10LB Zinc Plated 8 | 008236181326 | 10
Fas-Pak 121020 (20LB Zinc Plated 8 008236181333 | 10
532653 [1" Black Walnut 1.5 0z | 008236436747 6 121030 |30LB Zinc Plated 6 008236181340 | 10
532654 |1-5/8" Black Walnut 1.5 0z | 008236436761 6 121050 |50LB Zinc Plated 3 008236181357 | 10
532655 [1" Dark Oak 1.5 0z | 008236436785 6 121100 [100LB Zinc Plated 2 008236181364 | 10
532656 |1-5/8" Dark Oak 1.5 0z | 008236436808 6 122311 (10LB White Plated 8 008236695809 | 10
532657 (1" Oak 1.5 0z | 008236436822 6 122307 |20LB White Plated 8 008236695762 10
532658 |1-5/8" Oak 1.5 0z | 008236436846 6 122305 (30LB White Plated 6 008236695748 | 10
532659 |[1" Cherry 1.5 0z | 008236436860 6 122303 (50LB White Plated 3 008236695724 | 10
532660 |1-5/8" Cherry 1.5 0z | 008236436884 6 122309 (100LB White Plated 2 008236695786 10
532661 [1" White 1.5 0z | 008236436907 6 122312 (10LB Brass Plated 8 008236695816 | 10
532662 |1-5/8" White 1.5 0z | 008236436921 6 122308 (20LB Brass Plated 8 008236695779 | 10
532663 (1" Ash 1.5 0z | 008236436945 6 122306 |[30LB Brass Plated 6 008236695755 10
532664 |1-5/8" Ash 1.5 0z | 008236436969 6 122304 (50LB Brass Plated 3 008236695731 10
532665 |1" Black 1.5 0z | 008236436983 6 122310 [(100LB Brass Plated 2 008236695793 | 10
532666 |1-5/8" Black 1.5 0z | 008236437003 6
532667 |1" Brown 1.5 0z | 008236437027 6
532668 |1-5/8" Brown 1.5 0z | 008236437041 6 . = //I \ 3
XL Pak % ) 2
41798 |1" Black Walnut 60z | 008236435641 | 5 . . : - c
41799 [1-5/8" Black Walnut 6oz | 008236435665 | 5 Picture Wire B n
41800 [1" Dark Oak 60z | 008236435689 5 Carded T
41801 1-5/8" Dark Oak 60z | 008236435702 5 121105 | #2 Picture Wire Braided 25 Ft 1 008236181371 10 >
41802 1" Oak 60z | 008236435825 5 121108 | #3 Picture Wire Braided 25 Ft 1 008236181388 10 g
41803 1-5/8" Oak 60z | 008236435726 5 122278 | #4 Picture Wire Braided 25 Ft 1 008236652086 10 E
41804 1" Cherry 60z | 008236435740 5 121123 |5 LB Picture Hanging Set 5 008236181531 10 o0
41805 1-5/8" Cherry 60z | 008236435764 5 121127 |20 LB Picture Hanging Set 5 008236181517 10 b
41806 1" White 60z | 008236435788 5 121128 | Hvy Duty Picture Hanging Set 2 008236181524 10 g
41807 | 1-5/8" White 60z | 008236435801 5 122067 |10 ft Mirror Card 1 008236695830 10 [~
41808 |[1" Ash 60z | 008236435849 5 g
41809 | 1-5/8" Ash 60z | 008236435863 5 a'
41810 1" Black 60z | 008236435887 5 o : o
41811 1-5/8" Black 60z | 008236435900 5 H
41812 [1" Brown 60z | 008236435924 5 - -
41813 1-5/8" Brown 6oz | 008236435948 5 Plcture H_anglng ﬁ JO\
XXL Pak Accessories
42012 [1" Dark Oak 1LB | 008236800326 | 3 Carded
42016 1-5/8" Dark Oak 1LB | 008236800364 3 121121 | 1/2" Hardwall hanger 5 008236181395 10
42013 1" Oak 1LB | 008236800333 3 121122 | 1" Hardwall hanger 3 008236181401 10
42017 1-5/8" Oak 1LB | 008236800371 3 121124 | Nylon #8 Zip-It Anchors w/screws 2 008236181548 10
42014 | 1" White 1LB | 008236800340 3 121125 | Nylon #6 Zip-It Anchors w/screws 4 008236181555 10
42018 1-5/8" White 1LB | 008236800388 3 121126 | Push-In Self levelers-Saw Tooth 6 008236181418 10
42015 1" Brown 1LB | 008236800357 3 121132 | Picture Penders 6 008236181425 10
42019 1-5/8" Brown 1LB | 008236800395 3 121136 | Large Self-Levelers-Saw Tooth 5 008236181432 10
121140 | Small Self-Levelers-Saw Tooth 6 008236181449 | 10
121144 | Mirror Holders w/ Anchors 6 008236181456 10
122313 | Mirror Holders w/o Anchors 4 008236695823 10
121152 | Assorted Push pins 16 008236181470 | 10
122262 | Clear Push Pins Small Pack 16 008236652017 10
121150 | Clear Push Pins Large Pack 50 008236624403 | 10
121155 | Metal Mirror Holder w/Anchors 4 008236181494 10
122264 | Upholstery Twist Pins 16 008236652024 10

HILLMAN 35



Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack
Adhesive Hangers, C (©)
Hoods, & Pads ! Quick Hangers
Carded Carded
122293 | Mounting Tape 6" x 1/2" 6 008236695601 10 122180 [10LB 5 008236495157 10
122294 | Felt Protective Pads 68 008236695618 10 122182 |20LB 5 008236495171 10
122295 | Cork Protective Pads 12 008236695625 10 122184 [40LB 4 008236495195 10
122285 | Transparent Non-Skid Discs 10 008236695557 10 122186 [60LB 3 008236495218 10
122296 | Adhesive Hangers with Screw Eyes 6 008236695632 10 122188 | Assorted Quick Hangers 6 008236495232 10
122298 O\;:li%eesive Plastic Utility Hanger 6 008236695656 5
122299 | Adhesive Plastic Cup Hooks White 6 | 008236695649 | 5
122300 | Adhesive Mini Hooks White 8 | 008236695663 | 5
122301 | Adhesive Large Utility Hooks White 2 008236695670 5
121148 | Adhesive Hangers 5 | 008236181463 | 10 Pro-Hangers
121120 | Double Face Tape 1/2" x 42" Long 1 | 008236181562 | 10 Carded
121118 | Moulding Tape Strips 1/2" x 1' 18 008236624397 10 122190 11018 5 008236495256 10
122192 [25LB 4 | 008236495270 | 10
122194 |40LB 3 | 008236495294 | 10
122196 |75LB 2 | 008236495317 | 10
122198 | Assorted 5 | 008236495331 | 10
v
Wire Dispenser Packs N
P Carded
5 122069 |16 Ga Brass 25ft | 008236695540 | 10 Mirror Hangers
5 122032 |28 Ga Brass 75t | 008236181647 | 10 E—
a 122331 |16 Ga Copper 25t | 008236702361 | 10 .
g 122004 |18 Ga Copper 25ft | 008236181579 | 10 122200 | H e e ey Borks 4 | 008236495355 | 10
o 122332 |20 Ga Copper 50 ft | 008236702378 10 Hvy Duty Mirror/Picture Holders with
S 122333 |22 Ga Copper 75ft | 008236702385 | 10 122201 |31/ Oval Phil WS 4 | 008236495393 | 10
E 122024 |24 Ga Copper 100 ft | 008236181623 10 122280 | Adjustable Mirror Holder 6 008236652109 10
g 122008 | 18 Ga Aluminum 50ft | 008236181586 | 10 122204 | Ricture Hlanging '\f\‘,ti}fgjfEE’/g:g’t‘g 1set | 008236495416 | 10
< 122016 |19 Ga Dark Anneal 50ft | 008236181609 | 10 :
T 122329 |22 Ga Dark Anneal 75 ft | 008236702347 10
E 122330 |24 Ga Dark Anneal 100 ft | 008236702354 | 10
=) 122328 |28 Ga Dark Anneal 50 ft | 008236702330 | 10 —~
§ 122334 |16 Ga Galvanized 251t | 008236702392 | 10 Wallbiter™
o 122036 |18 Ga Galvanized 110 ft | 008236181692 | 6 PICTURE HOOKS
122012 |19 Ga Galvanized 50 ft | 008236181593 | 10
122335 |20 Ga Galvanized 75ft | 008236702408 | 10 Carded
122040 | 20 Ga Galvanized 175t | 008236181708 | 6 122395 | Light Duty Kit 1set | 008236800074 | 5
122020 |22 Ga Galvanized 100 ft | 008236181616 | 10 122396 | Medium Duty Kit 1set | 008236800081 [ S5
122336 | 24 Ga Galvanized 100t | 008236702415 | 10 122397 | Heavy Duty Kit 1set | 008236800098 | 5
122044 | 24 Ga Galvanized 250t | 008236181715 | 6 122391 | Small White 4 | 008236800036 | 10
122028 | 28 Ga Galvanized 100 ft | 008236181630 | 10 122392 | Medium White 4 | 008236800043 | 10
122327 |32 Ga Galvanized 100 ft | 008236702323 | 10 122398 | Large White 3 | 008236800104 | 10
122068 |19 Ga Stainless Steel 30ft | 008236695533 | 10 122393 | Medium Brass 4 | 008236800050 | 10
122325 | 24 Ga Floral 100 ft | 008236702309 | 10 122394 | Large Brass 3 | 008236800067 | 10
122326 |18 Ga Plastic Coated 50t | 008236702316 | 10
122337 |30 LB Nylon Hang Cord 251t | 008236702422 | 10
122338 |75 LB Nylon Hang Cord 25t | 008236702439 | 10
WallDriller™
( PICTURE HOOKS
\‘ Carded
; | 122399 | #6 Brass Picture Hook 4 sets | 008236800111 10
f 122400 | #6 Brass Picture Hook 10 sets | 008236800128 5
Plate Hangers v \ J 122401 | #6 White Nylon Picture Hook 4 sets | 008236800135 | 10
WITH CLASSIC HANGER 122402 | #6 White Nylon Picture Hook 10 sets | 008236800142 | 5
Carded 122403 | #8 Brass Picture Hook 2sets | 008236800159 | 10
122048 |5-1/2"-8" Plate 1 008236181654 | 10 122404 | #8 White Nylon Picture Hook 2 sets | 008236800166 | 10
122052 |8"-11" Plate 1 | 008236181661 | 10 122405 | #8 White Nylon Picture Hook 6 sets | 008236800173 | 5
122056 |11'-18" Plate 1 008236181678 | 10 122258 |10 LB Wall Cat Picture Hanger 8 | 008236624410 | 10
122260 |60 LB Wall Cat Picture Hanger 3 | 008236624427 | 10
36 HILLMAN



Qty Master Qty Master
Item # Description Each UPC Pack Item # Description Each UPC Pack

Classic Hangers \ Elite Safety Hangers
BRASS PLATED W/NAILS ‘\ BRASS PLATED W/SAFETY CLIP
Carded Carded
122266 [10LB 4 008236652000 10 122389 |[30LB 2 008236773071 10
122268 |20LB 3 008236652031 10 122390 |75LB 1 008236773088 10
122270 (30LB 3 008236652048 | 10
122272 |[50LB 2 008236652055 10
122274 |751B 1 008236652062 10
122276 | Blued Needle Point Nails 10 008236652079 10

Brick & Block Hangers
ProQuick™ _ BRASS PLATED W/SAFETY CLIP

Magnetic Hook Hangers (1::;::; | Brick/Block H | 2 [oo8236747621 [ 10
. . ric OC| anger
Magnet Grabs & Guides the Wire J
BRASS PLATED (A
Carded
122368 |50 LB (A) 1set | 008236773057 | 10
122369 |160 LB (B) 1set | 008236773064 | 10 MegaHook™ Hanger Kits
D H Carded
Heavy-Duty Hangers 122411 | Mega Hook Kit | 1set [008236800234 [ 5
) ® © " O —" @ Q Hangers™
Carded ¢ Unique “Q" design allows wire, string, ring, etc., 4
No-Stud™ Drywall Picture Hanger to easily slide into hanger
122370 (A) 200LB yw 9 1set | 008236770186 5 * Can remove object without removing the hook
121051 (l\A())—SéL(J)gTI’_"'BMasonry Picture Hanger 1set | 008236886870 5 Carded
42175 | Q Hanger 2 [ 008236992199 | 5
- ™ i It
121052 (“/‘;)) g2 in 1 Picture Hanger 1set | 008236886887 | 5 42176 | Q Hanger 12 | 008236992205 | 3

121053 | Allwall Picture Hanger (A) 200 LB 1set | 008236886894 5
Adjustable Picture Hangers (B)
122388 | 00 LB

1set | 008236770544 10

122410 | MegaHook™ (C) 100 LB 1 | 008236800227 | 5
121049 | Monkey Hook™ Picture Hanger (D) 4 | 008236892604 | 5

Decorative Push Pin Hangers

3
(1)
-
c
k)
m
X
>
F4
)
4
o
v
3
o
=}
c
(1)
-
("]

121047 | Mlonkey Hook™ Value Pack (D) 10 | 008236950046 | 4 Carded

121045 | orkey Hook™ Variety Pack ®1 | 16715 | 00m236950922 | 4 | [izpp00 [PoshPin2o D bree Pled |4 cossomtontst | 10
121045 | 89l Hook!™ Picture Hanger (0 > | oosoasozotea | s 122210 gz:z::z: :::g:: - i::i :Lizjrass 3 | 008236495478 | 10
121046 gg EHIBa Flook?™ Value Pack () 5 008236950939 4 e IzljzsdPin Rose — Antique Brass - —— -
121044 g/lso[gey Metes™ ity Hooke ® 4 Sets | 008236950915 4 ‘:izz: S::ﬁdPin Rose — Brass Plated z 22:2:23:22:2 12

Hangman™ 4 N .
H 9 Syst ‘ Decorative Screw Rings
anger systems a BRASS PLATED
Carded Carded
122371 |6" Hangman System - 75 LB (A) 1set | 008236782219 6 122214 | Round/Antique 1-1/8" 2 008236495515 10
122372 [ 10" Hangman System — 100 LB (A) 1set | 008236782226 6 122216 | Braided/Polished 1-1/4" 2 008236495539 10
122373 | 18" Hangman System - 200 LB (A) 1set | 008236782233 6 122218 | Floral/Antique 3/4" 3 008236495553 10
122374 | 30" Hangman System -300 LB (A) | 1set | 008236782240 | 6 122220 | Floral/Porished 3/4" s 008236495577 | 10
: 122222 | Round/Gilt 1-1/8" 2 008236495591 10
k‘.& ., 122224 | Braided/Antique 1-1/4" 2 008236495614 10
\l.:‘\ 122226 | Oval/Antique 5/8" 2 008236495638 10
™ 122321 | Oval/Gilt 5/8" 3 008236702262 10
alldog
SELF DRILLING PICTURE HANGERS W/HOOK 122225 | Small Flat Ring Hangers 4 008236507058 10
Carded 122227 | Large Flat Ring Hangers 4 008236507072 10
122377 | Brass (Slim Pack) — 50 LB 4 | 008236773743 | 10 122317 | Small D-Ring 4 | 008236702231 | 10
122367 | Brass (Wide Pack) — 50 LB 10 | 008236773736 | 10 122318 | Large D-Ring 2 | 008236702248 | 10
122362 | Chrome (Wide Pack) 10 008236773729 10

HILLMAN 37



HILLMAN

Qty Qty Master
Item # Description Each UPC Item # Description Each UPC Pack
Hooks
Carded
122228 | Black Swag Hook 2 | 008236495652 Wrapper Packs
122230 |Brass Swag Hook 2 008236495676 Carded
122232 | Antique Brass Swag Hook 2 008236495805 122060 |16 Gauge Galv Steel — 200 ft 200 ft | 008236182255 6
122234 | White Swag Hook 2 008236495843 122061 | Blue Plastic Coated Wire - 50 ft 50 ft | 008236695472 6
122236 | White Vinyl Cup Hook 6 008236495881 122062 |9 Gauge Galv Steel — 50 ft 50 ft | 008236695489 4
122322 | White Cup Hook 1-1/4" 2 008236702279 122063 |20/4 Galv Steel — 100 ft 100 ft | 008236695496 6
122238 | White Safety Hook 7/8" 4 008236495966 122339 |12 Gauge Galv Steel - 100 ft 100 ft | 008236702446 6
122244 | White Safety Hook 1-1/4" 4 008236496024 122065 |14 Gauge Galv Steel — 100 ft 100 ft | 008236695519 6
122240 |Brass Plated Safety Hook 7/8" 3 008236495980 122066 | White Clothesline — 100 ft 100 ft | 008236695526 4
122242 | Brass Plated Safety Hook 1-1/4" 3 | 008236496000 122070 | 20/6 Steel - 100 ft 100ft | 008236182538 | 6
122246 | Wide Molding Hooks 4 008236496048 122080 |20/6 Plastic Coated — 50 ft 50 ft | 008236182545 6
122323 | Ceiling Track Hanger 2 sets | 008236702286 122090 | Green Clothesline — 50 ft 50 ft | 008236182552 6
122324 | White Over the Door Hanger 1 008236702293 122100 | Green Clothesline — 100 ft 100 ft | 008236182569 4
122314 | Brass Pltd Cup Hook 7/8" 8 [ 008236697568
122315 | Brass Pltd Cup Hook 1-1/4" 3 008236697575
122316 | Utility Hook Hanger Steel/Zinc Pltd 8 008236697582
122286 | Swivel Ceiling Hook White 1 008236695564
122287 | Swivel Ceiling Hook Brass Plated 1 008236695571
122288 | Swivel Ceiling Hook Brass 1 008236695847 Garden Twist Wire
Carded
P 122046 | Plastic Coated — 250 ft 250 ft | 008236695854 5
[
o
a
™
o VersaHook Stove Pipe Wire
Y Carded Flagged
o 122406 | White Large 1Set | 008236800180 122110 |19 Gauge Galvanized - 50 ft 50ft | 008236375749 | 10
E Eijg; ‘é"h“e f:a" 21$Setf ggzzzgzgg;% 122120 | 19 Gauge Dark Annealed — 50 ft 50ft | 008236182583 | 10
rass Large e
i 122409 | Brass Small 2 Sets | 008236800210 122064 | S 08 Darc Annealed 218 1 | 008236695502 | 25
F
w
0@
= -
5 Connected Coils
E Flagged
DrillerHook™ Hangers 122130 | Green Clothesline - 50 t 50 ft | 008236182590 [ 12
Carded 122342 |12 Gauge Clothesline — 50 ft 50 ft | 008236702576 12
122412 | White 1 008236800241 122345 | Blue Clothesline - 50 ft 50 ft | 008236702491 12
122413 | Brass 1 008236800258 122343 | 18 Gauge Weaving Wire — 100 ft 100 ft | 008236702477 12
122344 | 20 Gauge Weaving Wire — 100 ft 100 ft | 008236702484 12
122140 |20/4 Steel - 50 ft 50ft | 008236375770 | 20
122150 |20/6 Steel - 50 ft 50 ft | 008236375787 | 20
122160 ||t Gauge Gal ~ 100 100ft | 008236182620 | 12
CeilingDriller™ 122170 | 16 Gauge Gaw - 100t 100t | 008236182637 | 12
Carded 122282 |9 Gauge Galv - 50 ft Connected Coil | 50 ft | 008236652093 12
122414 | Antique Brass Swivel 1Set | 008236800265 5
122415 | White Swivel 1Set | 008236800272 5
122416 |Brass Swivel 1Set | 008236800289 5
122417 | Black Swivel 1Set | 008236800296 5




Al

s

\!

Flat Head Square Drive
Wood Screws

3
' HOMEPAK ASSORTMENTS

Al

bt

Round Head Square Drive
Machine Screws

i

Itemi#

Description

Weight

UPC

Master
Pack

42172

6 x 3/4"
6x1"
6x1-1/2"
8x1"
8x1-1/4"
8x1-1/2"

7 oz.

008236984071

Flat Head Phillips Drive
Wood Screws

@

It

Item#

Description

Weight

UPC

Master
Pack

41814

6 x 3/4"
6x1"
6x1-1/2"
gx1"
8 x 1-1/4"
8 x 1-1/2"

7 oz.

008236437133

Pan Head Square Drive
Sheet Metal Screws

®

(oo

Itemi#

Description

Weight

UPC

Master
Pack

42173

8x 1/2"
8 x 3/4"
gx1"
8x1-1/2"

10
10x1-1/4"

7 oz.

008236984088

Pan Head Phillips Drive
Sheet Metal Screws

®

(o

Item#

Description

Weight

UPC

Master
Pack

41815

8x1/2"

8 x 3/4"
8x1"
8x1-1/2"
10x1"
10x 1-1/4"

7 oz.

008236437157

Hex Washer Head
Sheet Metal Screws

Item#

Description

Weight

UPC

Master
Pack

41816

8x1/2"
8

10x1"
10 x 1-1/4"

7 oz.

008236437171

Master
Item# Description Weight UPC Pack
42174 | 10-24 x 3/4" 7 oz. 008236984095 5
10-24 x 1"
1/4-20 x 1"
1/4-20 x 1-1/2"
10-24 Nuts
1/4-20 Nuts
Round Head Slotted Drive %
Machine Screws Q "
Master
Item# Description Weight urPC Pack
41817 |10-24 x 3/4" 7 oz. 008236437195 5
10-24 x 1"
1/4-20 x 1"
1/4-20 x 1-1/2"
10-24 Nuts
1/4-20 Nuts
Nuts & Washers
Master
Item# Description Weight UPC Pack
41818 |[8-32 Hex Nuts 7 oz. 008236437218 5
10-24 Hex Nuts
1/4-20 Hex Nuts
#8 SAE Flat Washer
#10 SAE Flat Washer
1/4 SAE Flat Washer
Plastic Anchors @ g
W/SCREWS
Master
Item# Description Weight UPC Pack
41819 |(20) 6-8 w/6 x 1" Screw 7 oz. 008236437232 5
(10) 8-10 w/8 x 1" Screw
(6) 10-12 w/10 x 1" Screw
Nails, Tacks, Brads a
& Screws
Master
Item# Description Weight upPC Pack
41823 |8 x 1" Phillips SMS 7 oz. 008236582758 5
6 x 1-1/2" Twinfast Screw
16 x 1-1/2" Brad
16 x 1-1/4" Nail
18 x 3/4" Brad
Nickel Thumb Tacks
- @
. - @
Nails & Brads
Master
Item# Description Weight UPC Pack
41826 |3 Sizes of Asst. Brads 7 oz. 008236582802 5
3 Sizes of Asst. Nails

HILLMAN

>
V1]
[74]
(=)
k]
-
=
m
=
=
]
-
®»

1
X
o
=
3
>
s

=

39



9 g&[g{

Cotter Pins

C—

40

Elite Hangers

Item#

Description

Weight

UPC

Master
Pack

42086

10 Ib. Elite Hangers w/ Nails (4)
20 Ib. Elite Hangers w/ Nails (3)
30 Ib. Elite Hangers w/ Nails (3)
50 Ib. Elite Hangers w/ Nails (1)
100 Ib. Elite Hangers w/ Nails (1)

008236838664

5

Push Pins

Itemi#

Description

Weight

UPC

Master
Pack

41824

White Push Pins

Clear Push Pins

Yellow Push Pins

Blue Push Pins

Green Push Pins

Red Push Pins

20 Ib. Gilt Push-In Hanger

7 oz.

008236582772

5

HILLMAN

Pan Head Phillips

Machine Screws
STAINLESS STEEL

JLED

Master
Item# Description Weight UPC Pack
Picture Hanging 41857 |3 sizes of Asst. Cotter Pins 7o0z. | 008236621853 | 5
Master
Item# Description Weight UPC Pack
41825 | Sawtooth Hangers 7 oz. 008236582796 5 k
Screw Eyes ;
1Ib. Picture Hangers HOMEPAKS - STAINLESS STEEL
10 Ib. Picture Hangers {
30 Ib. Picture Hangers %
Drive in Hangers
Braided Wire
Pan Head Phillips
Sheet Metal Screws @
STAINLESS STEEL
Master
Picture Hangil‘lg Item# Description Weight UPC Pack
W/KNIFE 41955 |6x 3/4:: 7o0z. | 008236701678 5
8x1/2
Master 8 x 3/4"
ltem# Description Weight UPC Pack 8x1"
10 x 3/4"
41953 | Sawtooth Hangers 57 pcs. | 008236694260 5 10x1"
Strap Hanger 10 x 1-1/2"
Screw Eye
12 Ga. Galvanized Wire
Nylon Hardwall Hanger
20 Ib. Picture Hangers
50 Ib. Picture Hangers
Utility Knife
= are
¥ Oval Head Phillips
g @ Q' Sheet Metal Screws @
w STAINLESS STEEL
g Classic Hanger » _ Master
T Picture Hanging Item# Description Weight UPC Pack
1 41954 |8x3/4" 60z. | 008236701661 5
Master 8x1"
ﬂ Item# Description Weight UPC Pack 8x1-1/4"
v 41995 |10 Ib. Classic Hangers 3.80z | 008236772005 | 5 ox1t
- 10x 1-1/4
20 Ib. Classic Hangers 48 Finish Wash
= 30 Ib. Classic Hangers o ;?.'s. h V?Is ﬁr
E 50 Ib. Classic Hangers Inish Vvasher
75 Ib. Classic Hangers
E Classic Hanger Nails
[+ 4
o
(7]
()
<

Item# Description

Weight

UPC

Master
Pack

6-32 x 1/2"

8-32 x1/2"

8-32 x 3/4"10-24 x 3/4"
10-24 x 3/4"

1/4-20 x 3/4"

1/4-20 x 1"

41957

8 oz.

008236701685

5

Oval Head Phillips

Machine Screws
STAINLESS STEEL

A48

i

i

!

Item# Description

Weight

UPC

Master
Pack

10-24 x 3/4"
10-24 x 1"

10-24 x 1-1/4"
10-24 x 1-1/2"
10-24 x 2"

10# Finish Washer
10-24 Hex Nut

41956

8 0z.

008236701708

5




Nuts & Washers
STAINLESS STEEL

Itemi#

Description

Weight

UPC

41958

6-32 Nut

8-32 Nut

10-32 Nut
1/4-20 Nut

#8 SAE Washer
#10 SAE Washer
1/4’ SAE Washer

7 oz.

008236701715

Small

Metal Screws & Anchors

Item #

Description

Weight

UPC Code

Master
Pack

Smalll

Medium

Wood Screws

130201

#10 x 1-1/4" Phillips/Slotted Pan
Head Tapping Screw

#8 - 10 x 7/8" Plastic Anchors
Conical Type

6 x 1" Phillips/Slotted Pan Head
Tapping Screw

8 x 1" Phillips/Slotted Pan Head
Tapping Screw

#6 - 8 x 3/4" Plastic Anchors
Conical Type

#10 - 12 x 1-1/4" Plastic Anchors
Conical Type

.261
Ibs.

008236797022

6

Small

Machine Screws & Nuts

Item #

Description

Weight

UPC Code

Master
Pack

130205

6 x 1/2" Phillips/Slotted Pan
Head Machine Screw

6 x 1" Phillips/Slotted Pan Head
Machine Screw

6 x 1-1/4" Phillips/Slotted Pan
Head Machine Screw

6 - 32 Hex Machine Screw Nut

8 x 1/2" Phillips/Slotted Pan
Head Machine Screw

8 x 3/4" Phillips/Slotted Pan
Head Machine Screw

8 x 1-1/4" Phillips/Slotted Pan
Head Machine Screw

8 - 32 Hex Machine Screw Nut

.551
Ibs.

008236797060

6

Master

Small

Flat & Lock Washers

i

6 x 1/2" Phillips Flat Head Wood
Screw

6 x 3/4" Phillips Flat Head Wood
Screw

8 x 3/4" Phillips Flat Head Wood

Screw

10 x 1-1/4" Phillips Flat Head
Wood Screw

6 x 1-1/4" Slotted Round Head
Wood Screw

8 x 1" Slotted Round Head Wood
Screw

Item # Description Weight UPC Code Pack
130206 |4 x 1/2" Phillips Flat Head Wood 527 008236797077 6
Screw Ibs.

Item #

Description

Weight

UPC Code

Master
Pack

130208

#10 Split Lock Washer
1/4" Split Lock Washer
5/16" Split Lock Washer
3/8" Split Lock Washer
#10 Flat Washer SAE
1/4" Flat Washer SAE
5/16" Flat Washer SAE
3/8" Flat Washer SAE

.670
Ibs.

008236797091

6

HILLMAN

>
[
74
(=}
ke
-
=
m
=
-
)
-
»
1

-
>
(]
-
m
=
m
x
(]

a1



0
©
w
=
w
=
.
('™

1
(]
=
X
=
=
w
=
=
©
o
(]
(]
<

42

Small

Heavy Duty
Picture Hanging

=

Item #

Description

Weight

UPC Code

Master
Pack

130200

Picture Penders

10 Ib. Classic Picture Hanger

30 Ib. Classic Picture Hanger

10 ft. 7 - Strand Picture Hanging
Wire Steel Galvanized

50 Ib. Classic Picture Hanger
Steel Brass Plated

18 Ga. x 1/2" Escutcheon Pins -
Brass Plated

16 Ga. x 1" Escutcheon Pins w/
Knurled Head - Black Painted
(Hardened)

Small Sawtooth Hangers

#2 x 5/8" (1/4" WL) Small Screw

Eye
75 Ib. Classic Picture Hanger

143
Ibs.

008236797015

6

Small

Hook & Wire Goods

B
B

E

=

Item #

Description

Weight

UPC Code

Master
Pack

130202

.091 x 7/8" OAL (213) Small
Screw Eye - Brass Plated

1-3/4" Square Bend Screw Hook
(1/2" Working Length) - Brass
Plated

1" Cup Hook (3/8" Working
Length) - Brass Plated

#2 x 5/8" (1/4" Working Length)
Small Screw Eye Brass Plated

1" Cup Hook (1/2" Working
Length) - Brass Plated

1-1/4" Cup Hook (1/2" Working
Length) - Brass Plated

1-3/4" Shoulder Screw Hook (1/2"
Working Length) - Brass Plated

.285
Ibs.

008236797039

6

Small
Home

Item #

Description

Weight

UPC Code

Master
Pack

130203

6 x 1/2" Phillips/Slotted Pan Head
Tapping Screw

8 x 1" Phillips/Slotted Pan Head
Tapping Screw

6 x 3/4" Phillips Flat Head Wood

Screw

8 x 1-1/4" Phillips Flat Head
Wood Screw

10 x 1/2" Phillips/Slotted Pan
Head Machine Screw

10-24 x 1" Phillips/Slotted Pan
Head Machine

#10 Flat Washer

10-24 Hex Machine Screw Nut

.480
Ibs.

008236797046

6

HILLMAN

Small
Cotter Pins
Master
Item # Description Weight UPC Code Pack
130204 |[1/16x1" .390 008236797053 6
1/16 x 3/4" Ibs.
3/32x 1"
3/32 x 1-1/4"
1/8x1"
1/8 x 1-1/4"
A=
Wire ==
Wire & Brad Nails
Master
Item # Description Weight UPC Code Pack
130207 |16 Ga. x 1" Wire Brad Steel Zinc .380 008236797084 6
Plated Ibs.
16 Ga. x 1-1/4" Wire Brad Steel
Zinc Plated
17 Ga. x 1" Wire Nail Steel Zinc
Plated
16 Ga. x 1-1/4" Wire Nail Steel
Zinc Plated
14 Ga. x 1-1/2" Box Nails 4D
(Penny) Steel Zinc Plated
12.5 Ga. x 2" Box Nails 6D
(Penny) Steel Zinc Plated
‘ —
.-
Pan ==
Panel Nails
Master
Item # Description Weight UPC Code Pack
130209 |16 Ga.x 1" Black 409 008236797107 6
16 Ga. x 1" Brown Ibs.
16 Ga. x 1" White
16 Ga. x 1-5/8" Brown
16 Ga. x 1-5/8" Black
16 Ga. x 1-5/8" White
Small
Screw Eyes
Master
Item # Description Weight UPC Code Pack
130216 | #212 x 15/16" Small Screw Eyes | .203 008236331653 6
#210 x 1-3/16" Small Screw Ibs.

Eyes
.106 x 1-13/16" Medium Screw

yes
#6 x 1-15/16" Large Screw Eyes
.104 x 2-1/16" Medium Screw

Eyes
#4 x 2-3/16" Large Screw Eye




| — . W
N =
Small e ™ Small =
Screw Hooks ) v- Pan Head Self-Drilling Screws =
Master Master
Item # Description Weight UPC Code Pack Item # Description Weight UPC Code Pack
130217 | #14 x 1" Square Bend Hooks .08 Ibs. | 008236331639 6 130222 | #6 x 1/2" Pan Head Phillips .113lb | 038902005090 6
#12 x 1-3/8" Square Bend Self-Drilling Screws
Hooks #6 x 3/4" Pan Head Phillips
#10 x 1-13/16" Square Bend Self-Drilling Screws
Hooks #6 x 1" Pan Head Phillips
#12 x 1-11/16" Screw Hooks Self-Drilling Screws
#10 x 2-1/16" Screw Hooks #8 x 3/4" Pan Head Phillips
#8 x 2-9/16" Screw Hooks Self-Drilling Screws
#8 x 1" Pan Head Phillips
Self-Drilling Screws
#8 x 1-1/2" Pan Head Phillips
Self-Drilling Screws
Small
Picture Hangers Small
Master
Item # Description Weight UPC Code Pack Hex Wa_sl‘_ler Head
130218 | Small D-Ring Hangers w/ Screws | .203 | 037504025734 6 Self-Drilling Screws
Small Flat Brass Ring Hangers Ibs. Master
w/Screws _ Item # Description Weight UPC Code Pack
Large Flat Brass Ring Hangers
w/Screws 130223 | #8 x 1/2" Hex Washer Head .147Ib | 038902005106 6
Picture Penders Self-Drilling Screws
Large D-Ring Hangers w/Screws #8 x 3/4" Hex Washer Head
Self-Drilling Screws
#8 x 1" Hex Washer Head
Self-Drilling Screws
#8 x 1-1/2" Hex Washer Head
- Self-Drilling Screws
#10 x 1" Hex Washer Head
Self-Drilling Screws
#10 x 1-1/2" Hex Washer Head
- Self-Drilling Screws
Small :
Finish Nails =
Master
Item # Description Weight UPC Code Pack
130220 |[4D x 1-1/2" Finish Nails A73 038902005076 6
6D x 2" Finish Nails Ibs.
8D x 2-1/2" Finish Nails
Small
Drywall Screws
—e Master
'ﬁ Item # Description Weight UPC Code Pack
% 130224 |#6 x 1" Flat Head Drywall Screws | .147Ib | 038902005113 6
#6 x 1-1/4" Flat Head Drywall
= Screws
— #6 x 1-5/8" Flat Head Drywall
Small g Screws
= #6 x 2" Flat Head Drywall Screws
Box Nails - #8 x 2-1/2" Flat Head Drywall
Master Screws
Item # Description Weight UPC Code Pack
130221 |[4D x 1-1/2" Box Nails .323 038902005083 6
6D x 2" Box Nails Ibs. -
8D x 2-1/2" Box Nails L=
R,
Small \f:__;- =
Lath Screws _—
Master
Item # Description Weight UPC Code Pack
130225 |#8x 1/2" Truss Head .18lb | 038902005120 6
Self-Piercing Lath Screw
#8 x 1" Truss Head Self-Piercing
Lath Screw
#8 x 1-1/2" Truss Head
Self-Piercing Lath Screw
#8 x 1/2" Hex Washer Head
Self-Piercing Lath Screw
#8 x 1" Hex Washer Head
Self-Piercing Lath Screw
#8 x 1-1/2" Hex Washer Head
Self-Piercing Lath Screw
HILLMAN

>
[
74
(=}
ke
-
=
m
4
-
)
-
("]
1

mn
>
(]
-
m
=
m
x
(]

43



0
0@
w
=
w
=
.
[T

1
(]
=
X
=
=
w
=
=
o>
o
(]
(]
<

44

SMALL KITS - STAINLESS STEEL

s
b=
v )

Small
Oval Head Phillips
Sheet Metal Screws

i
T

Smal Sus
Nuts & Washers m
STAINLESS STEEL
Master
Item # Description Weight UPC Code Pack
130215 |6-32 Hex Nut 420 008236797169 6
8-32 Hex Nut Ibs.
10-32 Hex Nut
1/4-20 Hex Nut
#8 SAE Flat Washer
#10 SAE Flat Washer
1/4" Flat Washer
ge
7
Small §
Home =
STAINLESS STEEL
Master
Item # Description Weight UPC Code Pack
130214 |#10 Flat Washer 535 008236797152 6
10-32 Hex Nut Ibs.

10-32 x 1/2" Phillips Pan Head
Machine Screw

10-32 x 1" Phillips Pan Head
Machine Screw

6 x 1/2" Phillips Pan Head
Tapping Screw

6 x 1" Phillips Pan Head Tapping

Screw
8 x 1" Phillips Pan Head Tapping

Screw
10 x 1" Phillips Pan Head Tapping|
Screw

Medium
Wood Screws & Drill Bits

Master

STAINLESS STEEL
Master
Item # Description Weight UPC Code Pack
130213 |8 x3/4" .300 008236797145 6
8x1" Ibs.
8x1-1/4"
10x1"
10 x 1-1/4"
#8 Countersunk Finish Washer
#10 Countersunk Finish Washer
Small g
Pan Head Phillips =
Tapping Screws ﬂ
STAINLESS STEEL
Master
Item # Description Weight UPC Code Pack
130212 |6 x3/4" 485 008236797138 6
8x1/2" Ibs.
8 x 3/4"
8x1"
10 x 3/4"
10x1"
10x1-1/2" _
Small
Pan Head Phillips m_
Machine Screws m
STAINLESS STEEL
Item # Description Weight UPC Code Pack
130210 |6-32x 1/2" 613 008236797114 6
8-32x1/2" Ibs.
8-32 x 3/4"
10-24 x 1/2"
10-24 x 3/4"
1/4-20 x 3/4"
1/4-20 x 1"
Small E
Oval Head Phillips =
Machine Screws m
STAINLESS STEEL
Master
Item # Description Weight UPC Code Pack
130211 |[10-24 x 3/4" 375 008236797121 6
10-24 x 1" Ibs.
10-24 x 1-1/4"
10-24 x 1-1/2"
10-24 x 2"
#10 Countersunk Finish Washer
10-24 Hex Nut

HILLMAN

#12-14-16 x 1-1/2" Plastic
Anchors Ribbed Type - Green
6 x 1" Phillips Flat Head Wood

Screw

8 x 3/4" Phillips Flat Head Wood
Screw

8 x 1" Phillips Flat Head Wood

Screw

10 x 1-1/4" Phillips Flat Head
Wood Screw

6 x 1" Slotted Round Head Wood

Screw
8 x 1" Slotted Round Head Wood
Screw
3/16" Brad Point Wood Dirill Bit
1/4" Brad Point Wood Drill Bit

Item # Description Weight UPC Code Pack
130250 |[#8-10-12x 1-1/4" Plastic .646 008236797176 6
Anchors Ribbed Type - Blue Ibs.




Medium

Metal Screws & Drill Bits

Medium

Item #

Description

Weight

UPC Code

Master
Pack

130252

#6 - 8 x 3/4" Plastic Anchors
Conical Type

#8 - 10 x 7/8" Plastic Anchors
Conical Type

#10 - 12 x 1" Plastic Anchors
Conical Type

6 x 1/2" Phillips/Slotted Pan Head
Tapping Screw

6 x 1" Phillips/Slotted Pan Head
Tapping Screw

8 x 1" Phillips/Slotted Pan Head
Tapping Screw

#8 x 1-1/4" Phillips/Slotted Pan
Head Tapping Screw

10 x 1-1/4" Phillips/Slotted Pan
Head Tapping Screw

3/16" Carbide Tip Masonry Drill

Bit
1/4" Carbide Tip Masonry Dirill Bit

613
Ibs.

008236797190

6

Household
Master
Item # Description Weight UPC Code Pack
130253 |Push Pins - Assorted Colors .390 008236797206 6
Thumbtacks - Brass Plated Ibs.

1-3/4" (1/2" Working Length)
Shoulder Screw Hook - Brass
Plated

1" (3/8" Working Length) Cup
Hook - Brass Plated

16 Ga. x 1-1/4" Wire Brad Zinc
Plated

16 Ga. x 1-1/4" Wire Nail Zinc
Plated

#6 - 8 x 3/4" Plastic Anchors
Conical Type - Blue

6 x 1" Phillips/Slotted Pan Head
Tapping Screw

Medium

Screws
WITH SCREWDRIVER

Item #

Description

Weight

UPC Code

Master
Pack

130255

2-3/4" Insert Bit Handle - Blue
and Grey

2" Slotted Insert Bit- 1/4" and
3/16"

2" Phillips Insert Bit- #1 and #2

8 x 1" Phillips Flat Head Wood
Screws

8 x 1" Phillips/Slotted Pan Head
Tapping Screw

8 x 1" Phillips/Slotted Pan Head
Machine Screw

#8 Flat Washer

8-32 Hex Nut

#8 - 10 x 7/8" Plastic Anchors
Conical Type - Blue

565
Ibs.

008236797220

4

Large

Wood Screws

Medium

Picture Hanging

Item #

Description

Weight

UPC Code

Master
Pack

130251

18 Ga. x 1/2" Escutcheon Pins -
Brass Plated

16 Ga. x 1" Escutcheon Pins -
Brass Plated

16 Ga. x 1-1/2" Escutcheon Pins -
Brass Plated

10 Ib. Picture Hanger Brass
Plated

30 Ib. Picture Hanger Brass
Plated

100 Ib. Picture Hanger Brass
Plated

20 Ib. Picture Hanger Brass
Plated

50 Ib. Picture Hanger Brass
Plated

Small Sawtooth Hangers Brass
Plated

10 ft. 7 - Strand Picture Hanging
Wire Steel Galvanized

#2 x 5/8" (1/4" Working Length)

Small Screw Eye Brass Plated

.561
Ibs.

008236797183

6

Item #

Description

Weight

UPC Code

130280

6x1"
6 x 3/4"

8 x 1-1/4"
8x1-1/2"

10x 1-1/2"

8x1"

8 x 1-1/4" Brass Plated

6 x 1-5/8" Trim Screw Black
Phosphate

8 x 1" Twinfast Cabinet Screw
Black Phosphate

8 x 1-1/2" Twinfast Cabinet
Screw Black Phosphate

1.87
Ibs.

008236797299

HILLMAN

>
[
74
(=}
ke
-
=
m
=
-
)
-
»
1
-
>
(]
-
m
=
m
x
(]

45



0
0@
w
=
w
=
.
[T

1
(]
=
X
=
=
w
=
=
o>
o
(]
(]
<

46

Large

Machine Screws

Large

Wall Hanging

Master Master
Item # Description Weight UPC Code Pack Item # Description Weight UPC Code Pack
130281 [6-32x1/2" 2.21 008236797305 6 130275 |#6 - 8 x 3/4" Plastic Anchors 1.031 | 008236797244 7
6-32x 1" Ibs. Conical Type - Blue Ibs.
6-32 x 3/4" #8-10-12 x 1-1/4" Plastic
8-32x1" Anchors Ribbed Type - Blue
10-24 x 1/2" #4 -6 -8x7/8" Plastic Anchors
10-24 x 1" Ribbed Type - Yellow
6-32 Hex Nut #12-14-16 x 1-1/2" Plastic
8-32 Hex Nut Anchors Ribbed Type - Green
10-24 Hex Nut 6 x 1" Phillips/Slotted Pan Head
#6 Flat Washer Tapping Screw
#8 Flat Washer 8 x 3/4" Phillips Flat Head
#10 Flat washer Tapping Screw
#6 Split Lock Washer #8 x 1" Round Head Slotted
#8 Split Lock Washer Wood Screw
#10 Split Lock Washer 6 x 1" Phillips Flat Head Tapping
1/8" High Speed Cobalt Drill Bit Screw
5/32" High Speed Cobalt Drill Bit 10 x 1-1/4" Phillips Flat Head
3/16" High Speed Cobalt Drill Bit Tapping Screw
7/32" High Speed Cobalt Drill Bit #2x1" (1/4" Working Length)
1/4" High Speed Cobalt Drill Bit Small Screw Eye Brass Plated
Push Pins - Assorted Colors
Insert Bit Handle - Blue and Grey
2" Slotted Insert Bit- 1/4" and
3/16"
2" Phillips Insert Bit- #1 and #2
#2 x 5/8" (1/4" Working Length)
Small Screw Eye Brass Plated
Large
Picture Hanging
Master
Item # Description Weight UPC Code Pack
130278 |10 ft. 7 - Strand Picture Hanging | .945 | 008236797275 6
VYire(S}eel Galvanized ' Ibs. Large
1-3/4" (1/2" Working Length) Cup
Hook - Brass Plated Household
10 Ib. Picture Hanger - Brass Master
Plated i .
10 Ib, Picture Hanger - Brass Item # Description Weight UPC Code Pack
Plated 130276 |10 Ib. Picture Hanger Brass 2.18 | 008236797251 6
Push Pins - Assorted Colors Plated Ibs.
Thumbtack - Brass Plated 30 Ib. Picture Hanger Brass
16 Ga. x 1" Escutcheon Pins - Plated
Brass Plated 50 Ib. Picture Hanger Brass
18 Ga. x 1/2" Escutcheon Pins - Plated
Brass Plated #6 Flat Washer
10 Ib. Picture Hanger - Brass #8 Flat Washer
Plated 10 ft. 7 - Strand Picture Hanging
30 Ib. Picture Hanger - Brass Wire Steel Galvanized
ate: 1"- 3/8" WL Cup Hook Brass
50 Ib. Picture Hanger - Brass Plated
Plated 6-32 Hex Nut
100 Ib. Picture Hanger - Brass 8-32 Hex Nut
Plated 1-1/4"-1/2" WL Cup Hook Brass
16 Ga x 1-1/2" Escutcheon Pins - Plated
Brass Plated 6 - 32 x 1" Phillips/Slotted Pan
Small Sawtooth Hangers - Brass Head Machine Screw
Plated 8 - 32 x 3/4" Phillips/Slotted Pan
Picture Penders Steel - Zinc Head Machine Screw
Plated 6 x 1" Phillips/Slotted Pan Head
1-3/4" (1/2" Working Length) Tapping Screw
Shoulder Screw Hook - Brass 8 x 1" Phillips/Slotted Pan Head
Plated Tapping Screw
#2 x 5/8" (1/4" Working Length) #6 - 8 x 3/4" Plastic Anchors
Small Screw Eye - Brass Plated Conical Type
#8 - 10 x 7/8" Plastic Anchors
Conical Type
16 Ga. x 1-1/4" Wire Brad Zinc
Plated
13 Ga. x 2" Finish Nails 6D
(Penny) Zinc Plated
16 Ga. x 1-1/4" Wire Nail Zinc
Plated
12.5 Ga. x 2" Box Nails 6D
(Penny) Zinc Plated
HILLMAN




HILLMAN 47



48 HILLMAN



Flexible
Merchandising

WALLDOG™




Southeast Distribution Center
Jacksonville, Florida

Southwest Distribution Center Corporate Office &

Dallas, Texas Midwest/Northeast Distribution Center

Western Distribution Center Cincinnati, Ohio 1-800-800-4900

Bakersfield, California 1-800-800-4906

Distribution & Manufacturing
Tempe, Arizona 1-800-876-7766
Goodlettsville, Tennessee

The Hillman Group Canada, LTD
Toronto, Canada 1-866-631-5508

Mexico Distribution Center
Monterrey, Mexico

All Points Division
Pompano Beach, Florida 1-800-226-5555

THE

HILLMAN'

GROUP

10590 Hamilton Ave.
Cincinnati, OH 45231
Phone: 1 (800) 800-4900
Fax: (513) 851-4997
www.hillmangroup.com

06/15 Form #990001




